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gooooubbbbbobobbobbbbobbobbooboooooooboooooo,d
gobooooooooooooooooooouoooodgoddoougo . uog g
gt ooooooooo,oa
gooboobbbobobotbbodddddddddooooooooUoo. oo
gobbbogogbobooouoobooobboooobbuoobbooobobboa
oo, ddduuuuUuUuug g
guoodooooobobbbbbooooooouooobboobo.
0000000000000 0DO000D0O00DOOo0OOoONSPKOOOODOOOOO
00000000 80000, 0000000000000000O0O0. ODOOOOO
godbo,b0dbddooooobbbooobbdooooooboboboobooogoag,
gt oo. oo ua
g,dogogoobboboouobouobb oo ooooboobooboo, o
000000000000.0000000,000000000000 [3,4,5],000
O000000oo0o|[e 10,0000000000 [11],00000000000 [12,13]0
agd.
goodooooobobouooo. oo, oo oouoooooon
gootdoubbobbobbboodoggboboboooboooodouoaubobooboooda
oo, oo ooooog
goobobbbbddooou. gubb,gouoouobbobboooooooouono,a
godddooooobbbbbooooooooooooo.
00000000,00000000000000000STSOO00O0OO1joo0O0O
oo, 0o ooooooog
guooooboobbbogdo.obobobbbboooooooo,obbbbuooooa
oo, oo ooo
godtdotubooouobbobobbbooobooobobdoooooooo. bgouooua
O000000,00000000000000 CafeOBJ[17/0 000000000000
0000000 Coq[I8]000D0ODOOOODOOOOO.
O00000000D000DO000DO0D0DO0O0DDOOoDODOo0obOOoOooOoOooDOoO oTs
(Observational Transition System) D00 0. OTSOOO0O0O0OOOOOOOOOOOO
goddo. b, djoggouoboobbbbooooooobbbbouooo
guooooo,goooobbobooooad.



OoboooooSsrTsbooooooboobooooboboboooobob. og, STS
OOo0oooOooooooTsgoooooboo.og,oooo sTSoboooobogooo
CafeOBJO CoqUUOODOODOODOODOOOOODOODOOO,STSOOODOODO CafeOBJ
00000 CoqOODOODOODO. DODO,0000D0000DODODOOD0 CafeOBJ
O0Coq0OO00O0DOO0OO. O000,00000000000000000000'00
goboboogogoood.

Ooooooobogoog SsSTShoboooboboboboboboboobobobobo
00, CafeOBJO CoqDUODOODOODOOODOODOODODODOODODOODDOODODODO
gb.o0bobodogoobbbouoooobbboooobbbbooooo,bbaoan
OO000000O0bOboOOoDbooog, CafeOBJO CogDOODOODODODOOODOODODODO
gbobobooodob.obb,oo0bbbbuoooobbboooobbbboooon
gbbboogobbbooobbbooan.

OO0000Db0o0O0o00o0ob0obDOob0. bOo,000b00b00b00O CateOBJ O Coq
oboooogob20,300000.000,40000000000000000DO0
OOoo0oOooOooo,s0b0b00000 STSOhooboboboobouobo.ogb,e0gn
00000000000000000000 (0000)0,70000000000O, 80
gobobuogggoooda.sgbbobooggb,obbbuoogon.

00, 0000000000000000000000000000A0.
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020 000000 CateOBJ

000000 CafeOBJ[14]|0, 0000000000000 O0O0O0OOOOOOOOO
goboboogobobooboooon.

gbobouogobbbuoooobbobbuooobbbooooob. bbb,
gbobboogobbbdgNTd,0buggobboerovtpggoon.

module! NAT { modulex GROUP {
[Nat] [G]
op 0 : -> Nat op 0 : => G
op s _ : Nat -> Nat op _+_ : GG ->G op —_ : G >G
} vars X Y : G
eq 0 + X =X .
ceq Y+ X =0if Y = (-X)
}

guooooooooobon,
module(mod) 000000

oooooboogo,0bo0oy»xodgbooboooobo.oooobobooboboooo
goboggboobogbobu.guobbobbuoobbooobooobbuoobboon
gboboboooobobbouo. g, bbbuooobbboooobbbbooon
gooboo.

gbudbbodgbbuogobuooobbuoobbuoo.gbboboboobbood
goobobooobo,bbbboodgooobobobbobodoooooob. bbb, d
gbbugbbouodggbbuoogbbog,bboobbbuooboboogbobbao
OO0, 0000000000b00b0.0b00b00b0b0Omeduleg’’gog,onog
OOo0oO0bD*»0000. NaeTOODOOO0OO0DOOooO,erovPO00O0OOOOoOOoO.

Oooo'ro0’1robooboob.0obobep’d0ng. epdo,0oonogd
Oo0,’’00oddoooooo. oob’->o0ooooooobo. bog,0o0oon
NATOOOODODOOOoooooboONatOOOO,NatODOQd o, 000 Nat OO OOMO
gbouogbobodibNatbodbogb sboogbogbobogbbooboobbon
gboboboogooboboooooboog.



OO0D00D00Oq0000,0000000000’ceqOOOO.eqOIDOOO
OooOoOo’=0000,000'°0000. 'ceqqO0onboooboo=0000,
Oob0if’00o0o0oooooo,oo0’.)oogb. obo0,0b0b00o Grovp OO
gbobbogougugbxgbbxpbbuooobboboooo,oboybogon
xgoobooooo,xgyboouododgobbbbobtboououoouooooobobobo
goboo.

gbo,gobbbbbbbodudgoooo. opbb,bbbbobbououoooan
gobobuooggbbLsTuggoooogg.

module* LIST {
pr(NAT) =[List]*

op err : —> 7Nat

op nil : —> List bop cons : Nat List -> List
bop car : List -> 7Nat bop cdr : List -> List

var N : Nat List L : List

eq car(nil) = err . eq car(cons(N, L)) =N .

eq cdr(nil) = nil . eq cdr(cons(N, L)) =L .

goooobooooboooobbooobobooboobboooboboooon
0.00000000000000000000’protecting(pr) 00000. 0000
OLIsTU0000, 00000 NATOO0O0O,000Nat D000 O0O0O00O0O0O0O0O00
ag.
O0000000000000000000.00000000000000 (visible sort)
O000000000000000000 (hiddensort)DO0O. 00000000 DOOOO
goddooobobobooo.gbobbbbooooooooobobb,bouooo
000000 (action operation) 0000000000 OO (observation operation) O O
godd. ddoggoobbouooobbobbobooooooob,bbbuooo
guoooobob. ggobobbbuooooooobboooooobobboo,goada
guooooobbob. bbbooooooooobog,ggooobobbboooooon
I A A Y Y 0
O000O00*’'0’ ]« 00000000, O0DDO0o00ooooogDwep’ oo,
gooooooooooo,’’0bb000oboboo0. obob’-»>gooooooon
. gddgooLstddddddd st oo, bbb odoogad
U000 consU,000000000O0O00O000OOO0UO0O0D cardddgnonooog
godddd cdrdggggd. oo, oo goa.
CafeOBJOODOOODO CafeOBJODOO [15]000. CafeOBJOODOOOOOOOODO
00000000000000000000,000000000000((@ODOO)oO0
gooo. booobbuoooo, oo buooooobobob, o
godoooooobbbbbooooooouoooobn.



030 0000000 Coq

0000000 Coq[18]0 000000 (higher order logic) 010000000000
O.CoqUOODODOODOOUODOODODODODODO,bDO0bOODUODObOODODOD
gbbbuoogbbbuoooobbbooan.

gbob,ddtbbbibnat 000 ooobooooooog.

Inductive nat : Set := 0 : nat | S : nat -> nat. (1)

Ogo0o0ooooDooOoOobOoooooooooooo.
Inductive O OO : Set := QJUO4dQoQoQoQg : gOo...00o0cggooo @ 0O.

(H)OOoooooooooooooooo.

e O natl .
endnat 00000, (Sn)Jnatddnd.

e UlnatOOOoggnoog.

gbobbddd,natdggooboooobobogooboboogn.
guoboboobobobooo.ubo,0ubnbobobobdbibdl evenl

Inductive even : nat -> Prop :=
even_0 : (even 0)
| even_n : (n:nat)(even n) -> (even (S (S n))). (2)

obooood. bobobobooboob,
Inductive U D : OOOO -> Prop :=

O000. 00000000 oobooooD’->0b0b0b0000ooo. ocbobboooon
ooooooooobo’'obo0 - obogb’oboobbo. booboobo’roboobo
Oo,’’oobodobob. oboboooooo,0ooboboooooooobooooobogo
gobobuooogbbobaod.

(2)0000000000O0O0OO0O0oOoog.



e (even 0) JOOOO.OOOOOODO even_OOODO.

e (even n) O OOOOO, (even (S (S n)))OOOoaond.
JO0dO0dod even_n OO

gbobobodgdg,bb0evenbU0000bbobooogobbbooooobbo. og,d
gbobobboooodiboibobbibevenn 00000, 00000000 O0OO0O0OO0
O0(000)0ooooooooooo.

gboboggobogdgb,gggoboobobuoobbogobboooooboon
gbobboodgob.buooaon

Definition OO [OO] (: O) :=0O.

Oo0O00OO00.000,000n0000000000O000O oddO,
Definition odd[n:nat] : Prop := “(even n).
OO0000,000000000000 trued, 000000 falseOOOODO jzerod O

Definition jzero[n:nat] := Cases n of 0 => true | (S _) => false end.

0ooooo.

0000000, 000000000000000000000000000000
0000000000000.00,0000000000 (0000)0,000000
oooooooooool

0000000000000000000000000000000000000. O
oooo,

Theorem(Lemma) OO (ODO)O : OO0OO.

Oddddoo.oobo,000n00000O00O0O0OOOOOODODODODOOO,
Theorem e_or_o : (n:nat) {(even n)}+{(odd n)}.

gobooog.

CoqOODOODOO CoqOUOOODODODO. DODOOUOODOUODUODODODOO
gboboboooobobbo. buoooobbboooobbbooooobobobog,d
gobobooooobobbooooobobooo. ggobobbooooobobooboa,
OOo0oooobdoboobobobOoboboboDbg,Coqboboboo,obgo
gboboggboggbobuogbbogbobb.oobbooobbuogbbuooobooon
gobooog.

000000 .000,(EX n:nat | (even n)) 00000000000 ODOOOODO.



040 QOQooodd

4.1 0O0O0O0OO0OOO

0000000000000000000000000000 (Observational Transition
System) 0000 [3,4,5]. 0000000000000 000000OO0OOOOOOO
gboboggoboogg,gggobbuooobbuoobobbooobobuooooboobgao
gbobobooooboo.

ooboooobooooboooboobooobooooooooooYoooooooo. o
oooooobobobob.0oboobo So,oboooo0o,boboboo Loo
oboooobogbooboboroobooogobobon.

OOoboooSsSOoooboobooboboo,0booboobobobooooboooboo
oooooobdobobobooobooogbo. oo sSsooooooobooob,b0oobogo
gobobogoooo.

00,000000SO00000p!l00000000OO,SOO0O0DOOOOOOOO
gboodpbodbbooobtu. gugbbooobbooobooobbuoobboon
Oob0.SOO00pbO0Ob00O0O0OOODOODODObDOOOODO.

e 1[I
O0000000w0000pv)00000O0ODOOOO.

e 000D
p(v) 0000000000 +0000,00000007el000, p(r(v))00
00000000.000,000000000000000000.000000
0qO0000,p(r(v)) 0000000 ¢(v)=>p(r(v)000000.

4.2 CafeOBJUOOOOOOOODOOOO

O000YO HOOOOOOOOOOO,*[ H1*000000000000000. O
0000 Vilk =1, 0mj1,---,4n) 000 VOOOOO0DO Dp(k =11, ,im,j1s- - jn)
000 pOD0OO0O0DOO0DOO00OOOOOOOOO.

l0ooo0o00o000O0000o0oooa.



000000 SO000 o, €00 CafeOBJ0OO0OO0D0D0O000. 00 0,4, O
000000000000 000000.

bop o : HV, ...V,

>V

0000 (0000000000)00000000000000,00000000
gobob. 0ddgobbbidUinit00,000000000.

op init : -> H

000 Ve O CafeOBI OO0 Xy(k =iy,...0m,j1,--,70) 000. 00 o
oood f(,...,i,) 00000000000000,

----- Im

eq o(init, X;,,..., X;,,) = fli1,--,im)

goboood.
Oo0oooosooo0n n,.;, el'0CafeOBJOOOOOOOOOO. OOOO
T, d0doooooodooodgoooan.

bopa: HV;...V;, > H

00 WOOOOHO CafeOBJOOOO0D0. 00 WOOOOOOOOOO0OO0O0OO0O
000000 aW,X;,...,X;,)000.

IIEEEE

e—aW,X;,...,X;,,Xs,,...,X,,)00000000000000000000000

00,00000000000000000 CafeOBJOOOD, ¢—a(W,X;,,...,X;,)0
boooobbbOe, 00000 CateOBJOODDODO.

00000000000000000007,,.;, €f000000,00 0,4, €0
guobdbodoooogbodaodod.
ceq O(G(W,le,...,Xjn),Xil,...,Xim) = 6—CL(VV,XJ'I,...,Xjn),Xil,...,Xim)

if ¢c—a(W, X;

Jiy =

Xj,)
Jdo0dooooooooooooboobobooboog bbb oooo.

ceq a(W, Xj,,..., X;.)

X;,) = W if not ¢ —a(W,X;

J Jiose

gbobooggooboooobbbouoogobood

ceq o(a(W, X;

Jiyr

X;,

)7Xi17"'7Xim) = O(I/V,X “‘7Xim)

119

gooboogo.



4.3 CoqUUUDUDOOOOOOOO

O000YOOOOOODOOO0O0OO0O0 HOOOOOOOOOO0OO00000000. 00
0000000 HOOOOOOOinit0000000. 00000 Di(k=11,...,im, j1, - - jn)
000 pPOO0DO00DO0O00O00OO00O0ODO0ODO00000O00O00DOn.

0D00000S000007,,., €el’00000HO00000000000000.
000,0000 HOOOOOO 7, ;, 0000000000000000,0000

H->D; -> ... >D; ->H

goboood.
oooooosbooboe,,.,, ceobboboooooooooooooooobooOogn
goobooo.ogg, oo

H->D;, -> ... =>D;, ->D -> Prop

D00000000000000000000e;,..,, €0000000000000.

0000 /0000000000000000000000000000000000
0000000,0000.000 X,000 D,00000000, f(,...,i, 000
000000000000,

o_init : (le :Dil- .. .,Xim . Dim)(o init Xi1 .. -Xim f(?:l, .. ,’Lm))

gbobbobougooobbbbuooooobbbbooooobbboboooooon,
O000. 000 WOOO HOOOOOO0O0Od, aW,X; LX) 0oowoooo

jiy -

0000000000000000000.00,e—aW,X,,,...,X;,Xi,...,X;,) 0

0o0o0o00o00o000000o0o0o0o0o0o0o00n, c—aW,X,,,...,X;,)00
00000000, , 000.
e JUUUOUOUOLOODODODO
oaT : W:H;N:D;X, :D;,.....,X;, :D; ;X :Dj....., X, :Dj)
(o WN) /\ c—aW,X,,,...,X;,) —>
(O a(I/V,le,...,Xjn) e—a(I/V,le,...,Xjn,Xil,...,Xim))
*e—a(W,le,...,Xjn, Zl,,le)DNDDDDDDDD
e JUUOUOOLODLODODODO
oaF : W:H;N:D;X; :D;,.....,X; D)
(o WN) /\ "c—aW,Xj,,...,X;,) > (0o aW,Xj,...,Xj,)N)
e JUUUOUOOUOLOODODODO
oa: W:H;N:D;X;, :Dj,.....,X; :D; ; Xj :Dj..... X, :Dj)

(o WN) > (o a(W,Xj,,...,X;,) N)



4.4 0OO00O0OOOOOOO

OO0D0ODO0ODO0O0O0000 bank account 0OO0O0O0OO0O0OODO. CafeOBJOODOO
O CoqUOOOODOODO.

0 (CafeOBJ)

Nat DO OO0O0O0o0oo0o0oooo,<=,<,+,-0000000000000000000
INTUOODOODOOODOOO. Account OO ODOO0OOODOODODOOOO. init0 OO0
OO0, balance UU DO DOOOOUODOOOOOO, deposit U U withdraw [ U0 U
oooobooobboobobooobooboobob.AbOooboNgbboooboobog
O0balance(A) OO0 AODODODOODO, deposit(A,M) D00 ADODONDOODODOODO
O000Owithdraw(A,N) DO 0O AOODONOOODODOOOODOOOOODO.ODODOO
gbboduodbbuoodbibU0depositU U withdraw U OO OUOOOO4UQOnQ
oohooooboooboooboon

mod* ACCOUNT A{

pr(INT) *[Account]*

op init : -> Account

bop balance : Account -> Nat

bops deposit withdraw : Account Nat -> Account

var N : Nat var A : Account

eq balance(init) = 0 .

eq balance(deposit(A,N)) = balance(A) + N .

ceq balance(withdraw(A,N)) = balance(A) - N if N <= balance(A)

ceq balance(withdraw(A,N)) = balance(A) if balance(A) < N .
}

0 (Coq)

000000000 1e,1t,plus,minus 2000 0000000000000 O0O00O0
O.0000Account0 00O OOO0O00O. AccountJ 0000000 OODOOO0O. init
J0000000. a00000n000000D00O00O000O (deposit an)00O0 a0l
On00000000O0OWithdraw a n) D00 a000n000000000O0OO0O3
000.000000000000000000000 balanced 0. (balance a n)
D00 000000000 n00O000OO0O0OOooOn.

0000 cafedBIO OO0 OOO<=,<,+,-000

10



Inductive Account : Set :=
init : Account
| deposit : Account -> nat -> Account

| withdraw : Account -> nat -> Account.

Inductive balance : Account -> nat -> Prop :=
bal_init : (balance init 0)
| bal_depo : (a:Account;n,m:nat)
(balance a n) -> (balance (deposit a m) (plus n m))
| bal_withT : (a:Account;n,m:nat)
(balance a n) /\ (le m n) -> (balance (withdraw a m) (minus n m))
| bal_withF : (a:Account;n,m:nat)
(balance a n) /\ (1t n m) -> (balance (withdraw a m) n).

11



050 STSOOOOO

5.1 Diffie-HellmanO OO0 OO OO

00000000000000000000 Diffie-Hellman0 0000000200
0.DH.O000000000 197600 Diffied Hellman 0 OO OODO00O0O000O0O0O,
ooOoooO00oOoO0ooooooo.

0000000000000 00000000000,00000000000000
000000000.00XO0O00YOOOOOOOO Ky O00O,000000000
000 {-}x,000.0000000000000000X,YOOOOOOOOOO
oooo.

DH.OODODOOODOODOOOOOOODOOODOOOOODOODOD, 000000000
000000000.00000,000 DifieHellman000002p 00000000
00000000 EXy,EXy0OOOOOODOOOOOOOO. 00X0OO0O0OO00O
020000,00X0000EX40 ¢ modg000.00000000000000
0,00 ¢"mod¢000p000000000000000000O0O0O0O0O0O.O0
0,0000000000000000000000000000. 00,00Y000
0y0000,000 Kyy O ¢® modq000. 00000000 XOOOYOOODO
EXyO200,00Y000XOO0O00O EXyOyO0OOOODOOOOOOOOOOO
0000. 0000000000000 p,EX4,EXp00 2,y00000000000
00,z,y000000000X,YOOOOOOOOOOO g% modgq000O000.

000000000000000,00000000000000000000000
000 man-in-themiddle 000000, 000000000000000000000
00.00000000000000.

Messagel. A — B: p, EX,
Message2. B — A: EXp{FEXp}lr.s

Diffie-Hellman O OO O OO OO

00 DH.ODOODOODOOODDO.
000000 Q00000000 g00.00D.H.OODOOODOO.

12



ooboobobooboo,ooccooooooon.

e STEP1 A—C:p EX,4
O0CO,00BO0O0O0O0OO0ODOO0ODO AD MessagelOODOODODO.

e STEP2 C — B: p, EX¢

O0COO0OBO,MessagelJOO ADOODODO.ODOBO,00COO0DOOO
goooggo.

e STEP3 B —C: EXp{EXp}kpe
00CO,00AD00000000000 BO Message20O0OOO0.

e STEP4 C — A: EX¢ {FX¢} k.o

OD0COD0O0OAO,Message20 00 BOOOODO. OO AD,00CODOOOO
goooggo.

Oo0O0o0O0o0obOo0o0obOOo00oDOo0 ADOOoOoD BODOODOOODOCOOO
gobobogooobogd.
oo0,00000000000000NPODODPODODOODODOODODOO
O00000000000O0OO000O0O0O0O0O0O0O (1994 Shor]. OOOOOOODODOOO
gobobda,gobbduooobbbooooboo.

5.2 STSOOUOOO

STS(station-to-station) 0 0 0 000, 19920 O W. Diffie, P. van Oorschot, M. Wiener
gdodoododuoooooooooouoouooooooooooooooo
10, DH.O0000000000O0O0O0O0O0O0O0O0O0O0O00O0000000. 0000
O, 0000000 ooooogooooooobooooooooooooon
gdouooououooad.

0000000,000000000000000000DO00D0 (ODO0)ooOoooao,
000 ((@00)0000000000000000000000000000O0O0O0OO0OO
O0ooooooooooooobo. oo Xooooo sxooo,o0o0o0oo000ad
000000 MsgO {Msg},,, DO00. 00000000 DO0O0DOOOOOOO0OOOO
0oooooooooo,jogodooooobooboooooooooooo, ooo
gdooouoouououod.

oo, bdooodoooodoooooooooooooooooogd
gododoooo.oudooodouoooouoooooonooooouoooo
0o0. oooo, 00000 oooooog, ooooooooooan
O00dddooD. 00 Xoooooooooooooooood Certyood.
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oooogoboobo,goooboboboorogoobobuobooobobobg
OOooobOob,000b00TrTobobooooboooOoboboooo,STsoooobogo
gbobbuoogobbob3uoogbboaod.

Messagel. A — B: p, EX,4
Message2. B — A: EXg,Certp, {{EXA, EXp}s,}kap
Message3. A — B : Certa, {{EXa, EXB}s, tKun

STSOO000000000DOO000O0O0000DO000D0Oo0ooDoOO,onooooon
DH.OOOOODUOUOOODODOOO. OO0 XOoUoddpyooo,00 XOOooooa
0000 Certx O

Certx = {X,px,p}sr

gob.ooggoooog,obbobugogbbbouooboboooa.
ogSTsOobooooooooooooo.

e STEP1  Messagel A— B: p, EX,

O0BOODODOOOOODOOOODAOODOOOOODOODOOODOOOOO
ooooobo,DH.OO0ODOOpO00OO0DOO0OO0O,0D0000 EX,00000.
OO0 DH.ODOODUO pLOOO0D0OO0 BOOODOO.

e STEP2  Message2 B — A: EXp,Certg, {{EXa, EXB}sp K ap

Messagel 000000 BOOOOOOOD,000000DH.O0000 pO0O0
0000000 EX00000. 00,000000000000000A0O
00 EX,0000000 K,;0000,2000000000000000000
0 {EX4,EXp},,000000.00000 {{EX4, EXpls, )}k, 0000000
EXz;000000000 Certz, 000 AD0O0DDOO.

e STEP3  Message3 A — B : Certa, {{EX4, EXB}s,}Kun

Message2 0000 D00 ADOODODOOODO Certg0 000 TOOODODOODO
O00oo0dbob0obOo,0b00ob0000BOO0DH.OODOOpOOOOOOOO
Messagel DO OO OO DH.OOODODODODOODOODODODODOOOO. O0O,00000
O00BUOOOO EXpOOOODOODO KxapOOOO,000 ({EXA, EXB}s,tkap
O00000. OD000000 {EXA,EX),, 0000, 00BOOOOOOOO
OO00000 Messagel DO OO0 OOO EX40 Message2 00O OOOO EXpg
O000000DOO0000O. OO0, 200000000000DOO0000DO0
{EXA,EXp},, 0000 K,pOODOOO,00000 {({EXA, EXp}s, }r,, 000
0000 Cert, 000 BODOOODO.

O0O000000bDO0O0bobOd Messaged,Messaged O O 0O. Message2 000000
0,00 ACO0BOODOOODOOODOOODOOBODOODOOODOOOOODOO
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goo.

Messaged. A — B : {secret}k,,

OO0, Message3 00000000 BO STEP300O0 AOD,000000000,00
Ooooo,0o00obobo0oboo0ooobooboobobD,0b0 Ago0Doooobo0oooooD A
gbobobuoooobobooooboog.

Messaged. B — A: {secret},,

googobuogbbodg,ggbbodgbbobooboobboobboobobon.

5.3 STSUOOOOOOOO

STSOO0000O0DO0000bOobOoboboooooog.

e Perfect Forward Security
OO00000O0DH.OODOODODOODOOODOO0O0ODOOO0DOO,0D00000000.
O000DbO00O0000000O,00b0bO0000D0O0D0On.

e Direct Authentication
goodooboooooooo, 0o ooooooooo. oooo, d
o0 obouobouobonn.

godbgbgbobobobobuobuooogboboboboooboboboog.
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el STSOOOOOOOOMO

6.1 U00OO0O0OO0O0OO0O0O0O0O

goboggbbuogobboobbuoooboba,bbboobobobooobbao
gbobobboooogbbob,booooobbbbouoooo,obbbouoaon
goobooooobo. bbb obooooobobbooooobo,ooan
OO0o0o00ob00ob0obOobOobOobDoboUoob. boobo STSCoooobobOoo
gbobbuoooobbbood.

e I UOOODLDLODOUOODLDDODO
SIS0 00000000000, 0000000000000000000O00O0
gbod.gbbogbogb,gbbuodbooboobuoobboobuoooog
gboogobo.obogbbogbo,bbobbuogbobboobuaobobo
goobboogogoo,bbooogooobobooboooooonoboo. og,
gogobbbobobbobboboodg,bbbobootouougooooooooon. o
gobooogobooooooboood.

e U UOUOODLODLDDOUOOO
gobbbbobbuouooooobbbbboooooog,ooobbobooboo
goboug,obboggoobobuooogoboog.

e I UIOOODLDDOOOO
gbbotoogobobbbbooooobboboda. bbbuoooobbbood
gbobobogoobbuooooboboogooboad.

e DH.ODOOODOOODO
gbbogoobbooobbuoodgbbboooobbuooobboooboboo
O,00000000000000000D0O0. ODOSTSODODOOOO Perfect
Forward Security UO OO O0O0O, 00000000000 O0OOO. OO0DOOOO
goboooooaon.

lop,0000000.

16



gobooo
gobbboobobbougooooobobobbobooooooo,gobboooo
goboo.

goboogo
goboogoobuogoobbooo. bbb, gobbuoooboobboag,bd
gbobboooogaon.

Ooooboobobog

O0O00O0,000b0o00bo0obOdn Message2,Message3U DO DO OOO0O
O00000.000000000000000000000O00000000O0O (1]
O,00000b0b0b00ob0oooboobooon.

e OO OOODLODOO
gbbogoobbogobbuoodgbobbooobbuoobobboooboboo
gob.obodggoboboogdb,oggoboobboooboboooonbon.

gobooooggn
sSTSObogboodbobooobooooooobogo,0cooboooobooooogoo. o
googdgbuogoobog,bogbbooboog,buoobogbbogbod
gbobooogoboboo. gobbboduooooobog.

gbobodg
gobbobooboboooogoooboobbo,bbuoduooooboboobood
gogobboboooo,oobboobobob. gobbbbobobobbboooogd
gboboboooooaon.

— Messagl-30 000

+» JO0U0gogoooboogobooog.
+» 0000000000 00000o00oooooo?®.
*» Jouggboboboogooobobooooboog.

— Message4,5 0 000
«+ 0000000000000 O00O0OO0.

0000000000000 00D0O000000O0000O000O000O0O00O0, 000000
U oboooobooobo.
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OboOoog,0oobooobbodbbbdobbiO0 Messaged oD OO on
goboboboboooddo,ggooooobboobbo. bodgg,oguoooon
gbobboogooobbbodog,gobbbbuoooobbbbuooon.go
gobobuoogogbob,gobbbuoogobbobuoooobbbooooon.

6.2 UO0O0OO0OOOOOOOOOOONO

STSOO00DO000D0O00DLO0O0O0DOOODOD CafeOBJO CoqgU DO OOODOOODO.
O00000,CafeOBJO0O0ODO (0000000 OO)000O00O0OO0OOOOO. OO
OO0o0OobOoboO0o,00A0DODbDObDOO.

6.2.1 OO

[0 (CafeOBJ) OO OO O PRINCIPALUDOODOOODOO.

mod* PRINCIPAL {

[Principal]
op intruder : -> Principal
op _=_ : Principal Principal -> Bool {comm}

var P : Principal
eq (P = P) = true .

Principal U UUOUOODODOOOOODO. intruder Ul Principal O UOUOO DO, OO
Ooooboooobobo.boboboobobo0obobobo0oobOo,0dibd Principal
Ooooboobooboooooooboobooboboooboooooooo. OO, CateOBJ
Oo0oo0odoOdp,pt,p200000 Principal UODOOODOODOOODODOO.

Bool U DD OODOOODOODO. ODLO_=_0,000000000000000
oooobod. comd 000 _=_000000000,0000000000000O00
ob0. 000 _=0000bboobboobboobboo,bboobbooobog
oooooobooooon.

0 (Coq) DUODUO Principal DO ODOODODOOO.

Inductive Principal : Set :=
intruder : Principal

| P : nat -> Principal.

18



OO0 @®o0(E® (s 0))Dintruder 00 000O00O0O0OODO. POOOOODOODO
gobobooobod, 0l intruder O OO0O0OOO. OO0 natdgg
gbobbuooooboboooobobog.

0000000000000 b00D0,0b0b0b00bg CoqbooobonoOO
g,buoggboboggbn.

6.2.2 Diffie-Hellman OO O OO

00 (Cafe0BJ) O OO OO PARAMETER D.H.OOOODOOODOODO.

mod* PARAMETER {
[Parameter]

op _=_ : Parameter Parameter -> Parameter

-— oo o

Parameter U D.H.OUODOUODODOOOO0OO0OO0O.00000O0000O0O0ODOOO
O0o0oo0booobbooO,DH.OO0OD0O0OD0DOO0O Parameter 1 OO OO OOOO
OO000.00,CafeOBJOODOODOODOO pad0 OO0 Parameter 1 0O OO DO OMO
goood.

0(Coq) DH.OODDOOUOOD Param 00000 OOODO.
Inductive Param : Set := PA : nat -> Param .

DH.OOOOOOAOD (PA (s 0))UOOOODOOOOOO.PAODDH.OOOO
gbobobuooogbbbd. ddUnat0oggooooog.

6.2.3 OO

00 (Cafe0BJ) O OO OO RANDOMUO O D OODOODO.

mod! RANDOM {
pr(PRINCIPAL)
[Random]
op rand : Principal -> Random
op pr : Random -> Principal

op _=_ : Random Random -> Bool {comm}

19



- oo g

000 rand(p) O rand(intruder) 0D 000000000, D00 rand00 0000
OOoooboo0.000prd0db00bOODOObDOO0OOOD. prboboooogob,
ooooboooobooboooobobo0ob0obOobobobOo.oboogo,oboobooo
OOooobOobobooobooooogoo.

0 (Coq) DUUODURandom O OO OOOOO.
Inductive Random : Set := RAND : Principal -> Random.

OO0 (RAND (P 0)) O (RAND intruder) DO UODODOOOOODOO. RANDODOODOOO
gbbobuod,bibdPrincipal UODOODOOOOODO.

6.2.4 00O

[0 (CafeOBJ) OO OO0 EXPONENTL OO O ODOODOO.

mod! EXPONENT {
pr (PARAMETER + RANDOM)
[Exponent]
op expo : Parameter Random -> Exponent
op para : Exponent -> Parameter
op rand : Exponent -> Random

op _=_ : Exponent Exponent -> Bool {comm}

-— oo o

0000 expo(pa,rand(p)) O expo(pa,rand(intruder)) DO OO DOOOOOO0O.
O00 expoOODOO0ODOO0O0DOOODODOO. OO0 para,rand00000, 00000
Oo0O0o0o0O0bOO00DOOoO bH.ODODDODODOOODOOOODDOODDO. para,rand000
O00000. 00000000000 o0oooooo.

0 (Coq) DUUODUON Exponent OO DOOOOOMO.

Inductive Exponent : Set := EXPO : Param -> Random -> Exponent.
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0000 (EXpO0 (PA 0) (RAND (P 0))) O (EXPO (PA 0) (RAND intruder)) OO OO
OO000000D0.0000DDO CafeOBJOODODODOOODOO.O0OODOO,00000O
0000000 whoz_expo U U UODOOOOON.

Definition whoz_expo [EX:Exponent] :=
Cases EX of (EXPO _ (RAND p)) => p end.

6.25 0OOOOOO
O (CafeOBJ) DD ODOO SKEYO DO ODOOOOOOODOO.

mod! SKEY {
pr (COMPONENT)
[Skey]
op skey : Component Random -> Skey
op exp : Skey -> Exponent
op rdm : Skey -> Random
op _=_ : Skey Skey -> Bool {comm}
op rsk : Skey -> Bool
var SK : Skey
eq rsk(SK) = (pr(rand(exp(SK))) = intruder)

- goooodgg o
}

0000000 skey(expo(pa,rand(pl)),rand(p2)) DO ODO0O0OOO0DOOOO. OO
UskeyUUOOUooooooooooood. dddexp,rdnJ 0000, 000000
goddoobobbobobbbobddddooooooooug. para,randd 0000
good. booboooooooooodooonoon,jognoooonooogon
O0. 00 rsk0000000O0O0O0O0O00O00OOO0O,0000000000000O0000
gooooooooooooog.

O(Coq) DODOODOODOOO SkeyOODOOOOOOO.
Inductive Skey : Set := SKEY : Exponent -> Random -> Skey.

0000000 (SKEY (EXPO (PA 0) (RAND (P 0))) (RAND (P (s D)) DODOOO
O000000.000000 CafeOBJOOOOOOODOO. O0OOO0O,0000000
O000000000key_forOO00OOOOOOOOO.

Definition key_for [SK:Skey] :=
Cases SK of (SKEY ex _) => (whoz_expo ex) end.
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6.2.6 UOOOOO

[0 (Cafe0BJ) O OO OO CERTIFICATEL U UODOODOODOODO.

mod! CERTIFICATE {
pr(PRINCIPAL + PARAMETER)
[Certificatel
op cert : Principal Parameter -> Certificate
op pr : Certificate -> Principal
op pa : Certificate -> Parameter

op _=_ : Certificate Certificate -> Bool {comm}

- oo g
}

O000000 cert(p,pa) U cert(intruder,pa) DO UODDOOOOOOOO. OOO
cert 000000D000DODOOOODO. OD0OD0pr,pad00000,000000000
OoO0oOoOoOoO0oboOO0o0oobooO0OoOo0oU0bH.ODODODOOODOO.

0 (Coq) DODOODOODODO CertificateJ DO OODOOODO.

Inductive Certificate : Set :=
CERT : Principal -> Param -> Certificate.

O0O0O0D000 (CERT (P 0) (PA 0)) O (CERT intruder (PA 0)) DD DO DOODOO
O00. 000000 CafeOBJODDOOOODODO.

6.2.7 0UUQOO

O (Cafe0BJ) D UODOOOSIGNODODODOOOOOO.

mod! SIGN {
pr (PRINCIPAL + EXPONENT)
[Sign]
op sign : Principal Exponent -> Sign
op pr : Sign -> Principal
op ex : Sign -> Exponent
op _=_ : Sign Sign -> Bool {comm}

- oo g
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g

000 sign(p,expo(pa,rand(p))) U sign(intruder,expo(pa,rand(intruder)))

gbobooogbobogd. bbb signd00oogoooobooobb. 0dd prd
gbobbuoodgb,exdddbbboogobbbog.

O (Coq) DODOODOOD SignOODOODODOOO.

Inductive Sign : Set := SIGN : Principal -> Exponent -> Sign.

00000 (siey (P 0) (EXPO (PA 0) (RAND (P 0)))) UOOUOOOOOOOODO.
OO00000 CateOBJOOODOODOODODO.

6.2.8 [0O0OLO

O (Cafe0BJ) O OO OO CIPHER O Message2 000 Message3 00O DO OOODOOODO.

mod! CIPHER {

3

pr(SIGN + SKEY)

[Cipher]

op enc : Skey Sign -> Cipher

op skey : Cipher -> Skey

op sign : Cipher -> Sign

op _=_ : Cipher Cipher -> Bool {comm}
var SK : Skey

var SI : Sign

eq skey(enc(SK,SI)) = SK .

- gobooogg o

0000 enc(skey(expo(pa,rand(pl)),rand(p2)),sign(p2,expo(pa,rand(p2)))) O
guooobobbbodd. dbbeacU0pgoooonobd. OO0 skeyd U
gobbuooggobn,sign000ggooooogooon.

O (Coq) Message2 D00 Message3U DO UODOODOODO Cipher 0O OOOOOO.

Inductive Cipher : Set := ENC : Skey -> Sign -> Cipher.

gooo

(ENC (SKEY (EXPO (PA 0) (RAND (P 0))) (RAND (P (s 0))))
(SIGN (P (s 0)) (EXPO (PA 0) (RAND (P (s 0))))))

23



OO0oO0b0oooobob.0oboobogo cafeOBJOOOODOOODO.ODOODO, DO
gbobobuooogbbobuougubbobibodd skeyDO0gooooooog.

Definition skey [C:Cipher] := Cases C of (ENC x _) => x end.

6.2.9 00000

(Cafe0BJ) OO OO O CIPHERM[ Messaged OO Messageb U D D OO O0OOOOOOO.

mod! CIPHERM {
pr (SKEY)
[CipherM]
op enc : Principal Skey -> CipherM
op for : CipherM -> Principal
op key : CipherM -> Skey
op _=_ : CipherM CipherM -> Bool {comm}
var P : Principal
var SK : Skey
eq for(enc(P,SK))
eq key(enc(P,SK))

I
jav)

SK .
- goooodgg o
}

000000 enc(pl,skey(expo(pa,rand(pl)),rand(p2)) OO0 O0O0O0O0O0O0O0O0OO.
O00enc000000D00OO00OOOOOODO. OO0 for,keyOOUODOD,00000
OoO0oOoOo0o0ooOoOoboDooOoboboooooOoooOooDo.

[0 (Coq) Messaged D00 Messageb U DO UODOODOOO CipherMO OO DOODOODOO.
Inductive CipherM : Set := ENCM : Principal -> Skey —> CipherM.
goobdad

(CipherM (P 0) (SKEY (EXPO (PA 0) (RAND (P 0))) (RAND (P (s 0)))))

OO0D00D0O0O0DO0bOobO.0b00bogo cafeOBJOOODODODOODO.ODOOO, DO
gbogbobobodgbuooobud forugbodbuooobuogboobobbon
OO0 skey20 0000000000,

Definition for [CM:CipherM] := Cases CM of (ENCM x _) => x end.
Definition skey2 [CM:CipherM] := Cases CM of (ENCM _ y) => y end.
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6.2.10 DOOOO

O (CafeO0BJ) DUODOOOMsgUUODOUOODDOOOODOOODOOOODOODOODOO.

mod! MSG {
pr(CERTIFICATE + CIPHER + CIPHERM)
Msg]
op ml : Principal Principal Principal Parameter Exponent -> Msg
op m2 : Principal Principal Exponent Certificate Cipher -> Msg
op m3 : Principal Principal Certificate Cipher -> Msg
op m4 : Principal CipherM -> Msg
op mb : Principal CipherM -> Msg
ops ml1? m2?7 m37 m4? mb? : Msg -> Bool
ops creator sender receiver : Msg -> Principal
op pa : Msg -> Parameter
op ex : Msg —-> Exponent
op ce : Msg -> Certificate
op ci : Msg -> Cipher
op cm : Msg -> CipherM
op _=_ : Msg Msg -> Bool {comm}

- oo g

MsgOODOODOODOODOODODODO mi(pl,pl,p2,pa,expo(pa,rand(pl))) OO0
Jodooood. 000 mi,m2,m3,md,m6 00000, 000000 Messagel [0
Messageb 0000 O0O0OOD0ODOOO0O0O. DO0O00O0O0OD0O0ODOOODDODOO0O0O0OOOO
goooooooooooog. ooogodoooooooooooooooooo, o
goooooooooooooooooooooon.

000 m1?7,m27,m37,m4?,mb?0 0 0000000000000 NO Messagel O [0 Mes-
SFe Pt S I T
0
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O(Coq) DODOODOODOOOOOODOUODODMsgDOODOODODOO.

Inductive Msg : Set :=
M1 : Principal -> Principal -> Principal ->
Param -> Component -> Msg
| M2 : Principal -> Principal -> Component ->
Certificate -> Cipher -> Msg
| M3 : Principal -> Principal -> Certificate -> Cipher -> Msg
| M4 : Principal -> CipherM -> Msg
| M5 : Principal -> CipherM -> Msg.

oooooo M1 (p o) (P0) (P (s 0)) (PA0O) (EXPO (PA D) (RAND (P 0)))) U
OO000DOO00000O0.000000 cafeOBJOODOODODOO.

6.3 UOOOOOOOoOOoOoon

sSTSOdboboooooooooooobooboo,boobooobooobooboooboooon
0000000000000 000O00oo0300oon.

O (CafeOBJ) OO OUODO NEIWORKO U D ODOODOODOO. DOOOO0OOOOO,000
gbobboooogbobbobodoog,gobb,bbuoooobbbbouooon
gboboodogd.obododgbbouooobbuoooobobooo.gbbbooon
gbobbooboooooobobuboboobuoobodgbodgobog. bob,bo
gogoboobbobbobbbobbboboooioogooooooooooooon
gbooogd.booobuoooboodbdb BAGU COLLECTIONU O D UOOOODOOOO,
J0o00o0o0o0oboooboobobo. 0o0-»>00bbo0boboobboooboon
goboo.

gboobudsAacUO,00000O0O0O0O0O0ODODODO Bag, b oooogn
voidOOOOOOOODOOOO?, ",000b0o00bo0oooooobo0OgnONin
gooooobbobbbbboobobob. 0oo,00000 coLLECTIOND O, 0000
OO00O0boooobogodceld, 0000000 OOObDOnOOnDOnDOnDOnNin
OO000DO0O00000.BAGUDOO COLEECTIOND O DODOODOOD ADDODODO
go.

‘00000000000000D,00000000000000000000000O0D0O0DOO0000
U oboboooobooog.
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pr (BAG(MSG) *{sort Bag -> Network})

pr (COLLECTION (EXPONENT) *{sort Col -> ColExpol})
pr (COLLECTION(SIGN)*{sort Col -> ColSign})

pr (COLLECTION (CIPHER) *{sort Col -> ColCipher})
pr (COLLECTION (CIPHERM) *{sort Col -> ColCipherM})

gboboboogobooboooooboog.

op cex : Network -> ColExpo
op csi : Network -> ColSign
op cci : Network -> ColCipher
op ccm : Network —-> ColCipherM

gbgboboogbobubooobooooboboboobobobooobo,uobbo
gbbboogobbelddbbbuogobbbboooobbbuoognn.
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-—cex: 000D0DODODODODODOODOOOOOOOOOOO
eq EX \in cex(void) = false .
ceq EX \in cex(M,NW) = true

if m17(M) and not(creator(M) = intruder) and ex(M) = EX .
ceq EX \in cex(M,NW) = true
if m2?7(M) and not(creator(M) = intruder) and ex(M) = EX .

ceq EX \in cex(M,NW) = EX \in cex(NW)
if not(m1?(M) and not(creator(M) = intruder) and ex(M) = EX) and
not (m27(M) and not(creator (M) intruder) and ex(M) EX)

--c¢si: 0000ODODODODOOOOOOOOOOOOOOOOO

eq SI \in csi(void) = false .

ceq SI \in csi(M,NW) = true

if m2?(M) and rsk(skey(ci(M))) and not(creator (M)
sign(ci(M)) = SI .

ceq SI \in csi(M,NW) = true

if m37(M) and rsk(skey(ci(M))) and not(creator(M) = intruder) and
sign(ci(M)) = SI .

ceq SI \in csi(M,NW) = SI \in csi(NW)

if not (m2?7 (M) and rsk(skey(ci(M))) and

intruder) and

not(creator(M) = intruder) and sign(ci(M)) = SI) and
not (m37(M) and rsk(skey(ci(M))) and
not (creator (M) = intruder) and sign(ci(M)) = SI)

-- cci: 00O00O0OOOOOOODOODOOOOOOOOOOO
eq CI \in cci(void) = false .

ceq CI \in cci(M,NW) = true

if m27(M) and not(rsk(skey(ci(M)))) and

not (creator(M) = intruder) and ci(M) = CI .
ceq CI \in cci(M,NW) = true
if m3?7(M) and not(rsk(skey(ci(M)))) and

not (creator(M) = intruder) and ci(M) = CI .

ceq CI \in cci(M,NW) = CI \in cci(NW)

if not (m27 (M) and not(rsk(skey(ci(M)))) and
not (creator(M) = intruder) and ci(M) = CI) and
not (m37(M) and not (rsk(skey(ci(M)))) and
not (creator(M) = intruder) and ci(M) = CI)

-—cem: 0000D0DODODOODOOOOOOO, OOOOOOOOOOOOOOO
eq CM \in ccm(void) = false .
ceq CM \in ccm(M,NW) = true

if m4?(M) and rsk(key(cm(M))) and cm(M) = CM .
ceq CM \in ccm(M,NW) = true
if m57(M) and rsk(key(cm(M))) and cm(M) = CM .

ceq CM \in ccm(M,NW) = CM \in ccm(NW)

if not (m4?(M) and rsk(key(cm(M))) and cm(M) = CM) and
not (m57(M) and rsk(key(cm(M))) and cm(M) = CM)
N
6.1 00000 NETWORK O 0 00 O
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O (Coq) DODOODODODODODODODOOODOL. ODODOOD,0DbODOD
goobboooogooob,od,ggobbbbooooooboboobobuoooon
gb.bobouogdgbbbuodoogobbuooobbooooooboog.

Definition Network := (list Msg).
(list Exponent) .
(list Sign).
Definition ColCipher := (list Cipher).

Definition ColCipherM := (list CipherM).

Definition ColExpo :

Definition ColSign :

Coq00D0D00000000000000000000000O0O0OO. Coq0OOOD
0000000000000000000000000.

(cex ex n) 0, 0000000000 n00000ex00000000000000
00000 (O 6.2)

(csi si n)0,0000000000n000000si0000000000000
000000 (O 6.2)

(cci ¢cn)0,0000000000n00000c000000000000000
0000 (O 6.3).

(cem em n) 0, 0000000000 20000000 en00000,000000
00000000000000 (O 6.3).
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Inductive cex : Exponent -> Network -> Prop :=

cexl :

cex2 :

| cex3 :

| cex4 :

| cexb :

cex6 :

| cex7 :

(ex:Exponent;n:Network;m:nat;pl,p2:Principal;pa:Param)

(cex ce (cons (M1 (P m) pl p2 pa ex) n))
(ex1,ex2:Exponent;n:Network;pl,p2,p3:Principal;pa:Param)

(cex exl n) -> “exl=ex2
-> (cex exl (cons (M1 pl p2 p3 pa ex2) n))
(ex:Exponent;n:Network;m:nat;p:Principal;ce:Certificate;c:Cipher)
(cex ex (cons (M2 (P m) p ex ce c) n))
(ex1,ex2:Exponent;n:Network;pl,p2:Principal;ce:Certificate;c:Cipher)
(cex exl n) -> “exl=ex2
-> (cex exl (cons (M2 pl p2 ex2 ce c) n))
(ex:Exponent;n:Network;pl,p2:Principal;ce:Certificate;c:Cipher)
(cex ex n)
-> (cex ex (cons (M3 pl p2 ce c) n))
(ex:Exponent;n:Network;p:Principal;cm:CipherM)

(cex ex n)
-> (cex ex (cons (M4 p cm) n))
(ex:Exponent;n:Network;p:Principal;cm:CipherM)

(cex ex n)
-> (cex ex (cons (M5 p cm) n)).

Inductive csi : Sign -> Network -> Prop :=

csil :

csi2 :

csi3 :

| csid :

csib :

csi6 :

| csi7 :

(si:Sign;n:Network;m:nat;pl,p2,p3:Principal;pa:Param;ex:Exponent)
(csi si n)

-> (csi si (cons (M1 pl p2 p2 pa ex) n))
(si:Sign;n:Network;m:nat;p:Principal;ex:Exponent;ce:Certificate)
(sk:Skey)

(rsk sk)

-> (csi si (cons (M2 (P m) p ex ce (ENC sk si)) n))
(sil,si2:Sign;n:Network;m:nat;pl,p2:Principal;ex:Exponent)
(ce:Certificate;sk:Skey)

(csi sil n) -> “sil=si2

-> (csi sil (cons (M2 pl p2 ex ce (ENC sk si2)) n))
(si:Sign;n:Network;m:nat;p:Principal;ce:Certificate;sk:Skey)
(rsk sk)

-> (csi si (cons (M3 (P m) p ce (ENC sk si)) n))
(sil,si2:Sign;n:Network;m:nat;pl,p2:Principal;ce:Certificate)
(sk:Skey)

(csi sil n) -> “sil=si2

-> (csi sil (cons (M3 pl p2 ce (ENC sk si2)) n))
(si:Sign;n:Network;p:Principal;cm:CipherM)

(csi si n)

-> (csi si (cons (M4 p cm) n))
(si:Sign;n:Network;p:Principal;cm:CipherM)

(csi si n)

-> (csi si (cons (M5 p cm) n)).

0 6.2 gooobooboboboboobuooboonb (1/2)
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Inductive cci : Cipher -> Network —-> Prop :=
ccil : (c:Cipher;n:Network;m:nat;pl,p2,p3:Principal;pa:Param;ex:Exponent)
(cci ¢ n)
-> (cci ¢ (cons (M1 pl p2 p2 pa co) n))
cci2 : (c:Cipher;n:Network;m:nat;p:Principal;ex:Exponent;ce:Certificate)
“(rsk (skey c))
-> (cci ¢ (cons (M2 (P m) p ex ce ¢c) n))
| cci3 : (cl,c2:Cipher;n:Network;m:nat;pl,p2:Principal;ex:Exponent)
(ce:Certificate)
(cci ¢l n) -> “cl=c2
-> (cci cl (cons (M2 pl p2 ex ce c2) n))
| cci4 : (c:Cipher;n:Network;m:nat;p:Principal;ce:Certificate)
“(rsk (skey c))
-> (cci ¢ (cons (M3 (P m) p ce c) n))
ccib : (cl,c2:Cipher;n:Network;m:nat;pl,p2:Principal;ce:Certificate)
(cci ¢l n) -> “cl=c2
-> (cci ¢l (cons (M3 pl p2 ce c2) n))
| cci6 : (c:Cipher;n:Network;p:Principal;cm:CipherM)
(cci ¢ n)
-> (cci ¢ (cons (M4 p cm) n))
cci7 : (c:Cipher;n:Network;p:Principal;cm:CipherM)
(cci ¢ n)
-> (cci ¢ (cons (M5 p cm) n)).

Inductive ccm : CipherM -> Network -> Prop :=
ccml : (cm:CipherM;n:Network;m:nat;pl,p2,p3:Principal;pa:Param;ex:Exponent)
(ccm cm n)
-> (ccm cm (cons (M1 pl p2 p2 pa ex) n))
| ccm2 : (cm:CipherM;n:Network;m:nat;pl,p2:Principal;ex:Exponent)
(ce:Certificate;c:Cipher)
(ccm cm n)
-> (ccm cm (cons (M2 pl p2 ex ce c) n))
| ccm3 : (cm:CipherM;n:Network;m:nat;pl,p2:Principal;ce:Certificate;c:Cipher)
(ccm cm n)
-> (ccm cm (cons (M3 pl p2 ce c) n))
ccm4 : (cm:CipherM;n:Network;p:Principal)
(rsk (skey2 cm))
-> (ccm cm (cons (M4 p cm) n))
| ccmb : (cml,cm2:CipherM;n:Network;p:Principal)
(cem cml n) -> “cml=cm?2
-> (ccm cml (cons (M4 p cm2) n))
ccmb : (cm:CipherM;n:Network;p:Principal)
(rsk (skey2 cm))
-> (ccm cm (cons (M5 p cm) n))
| cem7 : (cml,cm2:CipherM;n:Network;p:Principal)
(cem cml n) -> “cml=cm2
-> (ccm cml (cons (M5 p cm2) n)).

U 6.3 gooopooooboboooooooooon (2/72)
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6.4 STSUOOOOOOOOO

6.4.1 CafeOBJOOOOD
gboboboastsgdobougoobbboogboboboooob,uoan.

mod* STS {

pr (NETWORK)

*[System] *

-- any initial state

op init : -> System

-- observation operations
bop nw : System -> Network
-- for any initial state
eq nw(init) = void .

-- CafeOBJ variables

vars P P1 P2 : Principal

vars M M1 M2 M3 : Msg

vars PA PA1 PA2 : Parameter

vars CO CO1 C02 : Component

var CE : Certificate var SI : Sign
var CI : Cipher var S : System

-- sending message

bop mesl : System Principal Principal Parameter -> System

bop mes2 : System Principal Principal Msg -> System

bop mes3 : System Principal Principal Msg Msg -> System

bop mes4 : System Principal Principal Msg Msg -> System

bop mes5 : System Principal Principal Msg Msg -> System

-- faking message

-- for messagel

bop fkmll : System Principal Principal Parameter Parameter -> System

bop fkml2 : System Principal Principal Parameter Component —-> System

-- for message2

bop fkm211 : System Principal Parameter Certificate Component Sign -> System
bop fkm212 : System Principal Component Certificate Component Sign -> System
bop fkm221 : System Principal Parameter Certificate Cipher -> System

bop fkm222 : System Principal Component Certificate Cipher -> System

—-- for message3

bop fkm31 : System Principal Certificate Component Sign -> System

bop fkm32 : System Principal Certificate Cipher -> System

--0ooooobo oo
}

OO0000sSystemO 0000 YOOOOODO. OO init00000O0OODOOOOODO
gbobobogoobobbooooboboogooboao.

0000 wOO0O0ODODOO0O0OD0OO0O0ODOO0O0ODOO0ODOODOOOOOOOO(ODOOOOO
O000)00000.00004init0000 owO0O0O0O0 veidODOOOO.
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0000 mesl,mes2,mes3,mes4,mesb U O O0OOOMOMOMO Messagel 0 Messaged
J00000oo0oo0obooob. 0000 fkm11,fkm12 000 0 0O Messagel O 0O O
00000000000, 0000 fkm211,fkm212,fkm221,fkm222 [0 0 0 0O 0 Message2
J000000o00o0obo0. o000 fkm31,fkm32 00 0 00 Message3 0 00O 0O O
dooboddooob.doobooooob,ded-660 0000000 SsSTSOOOOOO
Odddoooooooooboooooooa.

O00O0Omes1 00000000 DOO00O0OOOOO,O0O00000000,0000000
O00000O0000000000. 0000000000000 00000000004
000000000000000000000. (O 6.4)

O000Onmes20000000O0O00DO0O0OODO0DOO,0D00000000O0,0000000
O0oooooooooooooo.0boooooboo0o0ob0b00d0d0o000o0ooOooa
O0000000000000. (O 64)

O000Omes30 0000000000 0OOOOO,O000000000,000000
O00ooooooooooooo.0oboboooooooooooooOooO0oO0o0bo0Oooao
00000000000000,0000000,000000000000. (O 6.4)

O00OOmes4,mes 000 0000O00OOOODOOOO,O000000000,000
00000000000 O0OO0O0O0O0000000. 000000000000 000004
Jddddoooooooooooooooo,0ooboooo,o0oo0ooooOoOoao
O0.(0640000 6.5)

0000 fxm11 000000000. 0000000D00O0 MessagelOOOOOOO
O0000. (O 6.5)

0000 fkmi20 00000, 0000000000000 0000000O0O0O00OO
O000000,0000000000 MessagelODODDODODOOGQOOooooOoOQ.

(0 6.5)

0000 frkm211,fkm212 000000, 00000000000 O0OOOOOOOO O
000000000000 00000,0000000000 Message20OOOOGOO4
00000, (O 6.5)

D000 fm221 000000, 0000000000000DO000000O0O0O0OO
O00000000,0000000000 Message2O0OOOOOODODOOOO. (O 6.6)

0000 fm222 000000, 0000000000000O0000000O0O0O0OO
O0000000000000,0000000000 Message2OODODODODOOOOO
O00. (0 6.6)

0000 fxm31 000000, 000000000000000O00O0O0O0OOOOO
J0o0ooooooooon,b0bbobbbbob0d Message3O DD ODODOOOoooQog.
(O 6.6)

0000 fm320 00000, 0000000000000 00O0000O0O0O0O0OO
O0000000,0000000000 Message3aOOOOOOOODOOOO. (O 6.6)

33



-— for mesl
eq nw(mes1(S,P1,P2,PA)) = m1(P1,P1,P2,PA,,expo(PA,rand(P1))) , nw(S)

—-— for mes2
op c-mes2 : System Principal Principal Msg —-> Bool
eq c-mes2(S,P2,P1,M) =
M \in nw(S) and m1?7(M1) and receiver(M) = P2 and sender(M) = P1 .
ceq nw(mes2(S,P2,P1,M)) =
m2 (P2,P1,expo(pa(M),rand (P2)),cert (P2,pa(M)),
enc (skey (ex(M) ,rand(P2)),sign(P2,expo(pa(M),rand(P2))))) , nw(S)
if c-mes2(S,P2,P1,M)
ceq mes2(S,P2,P1,M) = S if not c-mes2(S,P2,P1,M)

—-— for mes3
op c-mes3 : System Principal Principal Msg Msg -> Bool
eq c-mes3(S,P1,P2,M1,M2) = M1 \in nw(S) and m1?(M1) and
creator(M1) = P1 and receiver(M1) = P2 and
M2 \in nw(S) and m27(M2) and
pr(ce(M2)) = P2 and
pa(ce(M2)) = pa(M1) and
ex(M1) = exp(skey(ci(M2))) and
pr(sign(ci(M2))) = P2 and
ex(sign(ci(M2))) = ex(M2)
ceq nw(mes3(S,P1,P2,M1,M2)) =
m3(P1,P2,cert(P1,pa(M1)),
enc (skey (ex(M2) ,rand(ex(M1))),sign(P1,ex(M1)))) , nw(S)
if c-mes3(S,P1,P2,M1,M2)
ceq mes3(S,P1,P2,M1,M2) = S if not c-mes3(S,P1,P2,M1,M2)

—-— for mes4

op c-mes4 : System Principal Principal Msg Msg -> Bool

eq c-mes4(S,P1,P2,M1,M2) =

not(P1 = intruder) and c-mes3(S,P1,P2,M1,M2)

ceq nw(mes4(S,P1,P2,M1,M2)) = m4(P1l,enc(P2,skey(ex(M2),rand(ex(M1))))) ,
nw(S) if c-mes4(S,P1,P2,M1,M2)

ceq mes4(S,P1,P2,M1,M2) = S if not c-mes4(S,P1,P2,M1,M2)

-

064 STSUOUOODOODOO Message-4UUODUOOOUODO1
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-— for mesb

op c-mesb : System Principal Principal Msg Msg -> Bool
eq c-mes5(S,P2,P1,M2,M3) = not(P2 = intruder) and
M2 \in nw(S) and m27(M2) and

creator(M2) = P2 and receiver(M2) = P1 and

M3 \in nw(S) and m37(M3) and

pr(ce(M3)) = P1 and

pa(ce(M3)) = pa(ce(M2)) and

co(M2) = com(skey(ci(M3))) and

pr(sign(ci(M3))) = P1 and

co(sign(ci(M3))) = exp(skey(ci(M2)))

ceq nw(mes5(S,P2,P1,M2,M3)) =
m5 (P2,enc(P1,skey(ci(M2)))) , nw(S) if c-mesb5(S,P2,P1,M2,M3)
ceq mesb5(S,P2,P1,M2,M3) = S if not c-mes5(S,P2,P1,M2,M3)

—-— for fkmil
eq nw(fkm11(S,P1,P2,PA1,PA2)) =
ml (intruder,P1,P2,PAl,expo(PA2,rand(intruder))) , nw(S)

-- for fkmil2

op c-fkml2 : System Exponent -> Bool

eq c-fkm12(S,EX) = EX \in cex(nw(S))

ceq nw(fkm12(S,P1,P2,PA,EX)) = ml(intruder,P1,P2,PA,EX) , nw(S)
if c-fkm12(S,EX)

ceq fkm12(S,P1,P2,PA,EX) = S if not c-fkm12(S,EX)

-— for fkm211
op c-fkm211 : System Component Sign -> Bool
eq c—fkm211(S,EX,SI) = EX \in cco(nw(S)) and SI \in csi(aw(S))
ceq nw(fkm211(S,P,PA,CE,EX,SI)) =
m2 (intruder,P, comp (PA,rand (intruder)),CE,

enc (skey (EX,rand (intruder)),SI)) , nw(S) if c-fkm211(S,EX,SI)
ceq fkm211(S,P,PA,CE,EX,SI) = S if not c-fkm211(S,EX,SI)

—-— for fkm212
op c—-fkm212 : System Component Component Sign -> Bool
eq c-fkm212(S,EX1,EX2,SI) =
EX1 \in cex(nw(S)) and EX2 \in cex(nw(S)) and SI \in csi(aw(S))
ceq nw(fkm212(S,P,EX1,CE,EX2,SI)) =
m2 (intruder,P,EX1,CE,
enc (skey (EX2,rand(intruder)),SI)) , nw(S) if c-fkm212(S,EX1,EX2,SI)
ceq fkm212(S,P,EX1,CE,EX2,SI) = S if not c-fkm212(S,EX1,EX2,SI)

-

065 0U0O0OMessagebUUU, DUUOOODODODOOOOOOOOOOOOO
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-— for fkm221

op c—-fkm221 : System Cipher -> Bool

eq c-fkm221(S,CI) = CI \in cci(nw(S))

ceq nw(fkm221(S,P,PA,CE,CI)) =

m2 (intruder,P, comp(PA,rand (intruder)),CE,CI) , nw(S) if c-fkm221(S,CI)
ceq fkm221(S,P,PA,CE,CI) = S if not c-fkm221(S,CI)

—-— for fkm222

op c-fkm222 : System Exponent Cipher -> Bool

eq c—fkm222(S,EX,CI) = EX \in cex(nw(S)) and CI \in cci(aw(S))
ceq nw(fkm222(S,P,EX,CE,CI)) =

m2(intruder,P,EX,CE,CI) , nw(S) if c-fkm222(S,EX,CI)

ceq fkm222(S,P,EX,CE,CI) = S if not c-fkm222(S,EX,CI)

—-— for fkm31
op c-fkm31 : System Exponent Sign -> Bool
eq c—fkm31(S,EX,SI) = EX \in cex(nw(S)) and SI \in csi(aw(S))
ceq nw(fkm31(S,P,CE,EX,SI)) =
m3 (intruder,P,CE,

enc (skey (EX,rand (intruder)),SI)) , nw(S) if c-fkm31(S,EX,SI)
ceq fkm31(S,P,CE,EX,SI) = S if not c-fkm31(S,EX,SI)

—-— for fkm32

op c-fkm32 : System Cipher -> Bool

eq c-fkm32(S,CI) = CI \in cci(nw(S))

ceq nw(fkm32(S,P,CE,CI)) = m3(intruder,P,CE,CI) , nw(S) if c-fkm32(S,CI)
ceq fkm32(S,P,CE,CI) = S if not c-fkm32(S,CI)

066 0O0OO0OOOOOODOOODOODOOM@O)
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6.4.2 CoqUUUOO

OO0000000000 s systemODODOO0YODOODOODO. OD0 initd00ODO0O
gbbboooobbbooobbboogbobbbuooobbboaon.

Inductive System : Set :=

init :
mesl :
mes2
mes3 :
mesé4 :

mesb

fkmi1l

fkm211 :

fkm212 :

fkm221 :
fkm222 :

fkm31

System
System -> Principal -> Principal ->

: System -> Principal -> Principal ->

System -> Principal -> Principal ->
Exponent -> System
System -> nat -> Principal -> Param
Exponent -> System

: System -> nat -> Principal -> Param

Exponent -> System

Param -> System
Param -> Exponent -> System
Param -> Exponent ->

-> Exponent ->

-> Exponent ->

: System -> Principal -> Principal -> Param -> Param -> System
fkm12 :

System -> Principal -> Principal -> Param -> Exponent —-> System

Sign -> System

Sign -> System

System -> Principal -> Certificate

System -> Principal -> Param —-> Certificate -> Exponent ->
System -> Principal -> Exponent -> Certificate -> Exponent ->

System -> Principal -> Param -> Certificate -> Cipher -> System

System -> Principal -> Exponent -> Certificate -> Cipher -> System
: System -> Principal -> Certificate
fkm32 :

-> Exponent -> Sign -> System
-> Cipher -> System.

U000mes1 00 fkm320 000000000 awOOOODODOO0OOO0OOODOOO
000,00000000000000000000(06.7),00000 (aw s n)OO0O
0000 (06.8-6.10). 000000000, 000000000000000 CafeOBJ
gbobobooooboo.
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Definition cmes2
[n:Network;pl,p2:Principal;pa:Param;ex:Exponent] : Prop :=
(EX Q:Principal | (In (M1 Q pl p2 pa ex) n)).

Definition cmes3
[n:Network;pl,p2:Principal;pa:Param;exl,ex2:Exponent] : Prop :=

(In (M1 pl pl p2 pa exl) n) /\

(EX Q:Principal | (EX R:Randum |

(In (M2 Q pl ex2 (CERT p2 pa) (ENC (SKEY exl R) (SIGN p2 ex2))) n))).

Definition cmes4
[n:Network;m:nat;p:Principal;pa:Param;exl,ex2:Exponent] : Prop :=

(In (M1 (P m) (P m) p pa exl) n) /\

(EX Q:Principal | (EX R:Randum |

(In (M2 Q@ (P m) ex2 (CERT p pa) (ENC (SKEY exl R) (SIGN p ex2))) n))).

Definition cmesb
[n:Network;m:nat;p:Principal;pa:Param;exl,ex2:Exponent] : Prop :=
(In (M2 (P m) p exl (CERT (P m) pa)

(ENC (SKEY ex2 (RAND (P m))) (SIGN (P m) ex1))) n) /\
(EX Q:Principal | (EX R:Randum |
(In (M3 Q@ (P m) (CERT p pa) (ENC (SKEY exl R) (SIGN p ex2))) n))).

Definition cfkml2 [n:Network;ex:Exponent] : Prop := (cex ex n).

Definition cfkm211 [n:Network;ex:Exponent;si:Sign] : Prop :=
(cex ex n) /\ (csi si n).

Definition cfkm212
[n:Network;exl,ex2:Exponent;si:Sign] : Prop :=
(cex exl n) /\ (cex ex2 n) /\ (csi si n).

Definition cfkm221 [n:Network;c:Cipher] : Prop := (cci c n).

Definition cfkm222 [n:Network;ex:Exponent;c:Cipher] : Prop :=
(cex ex n) /\ (cci c n).

Definition cfkm31 [n:Network;ex:Exponent;si:Sign] : Prop :=
(cex ex n) /\ (csi si n).

Definition cfkm32 [n:Network;c:Cipher] : Prop := (cci c n).

067 CoqUUUUDDODOOOODODDOOODDODO

38




Inductive nw : System -> Network —-> Prop :=
nw_init : (nw init (nil Msg))
| nw_mesl : (s:System;n:Network;pl,p2:Principal;pa:Param)
(nw s n)
-> (nw (mesl s pl p2 pa)
(cons (M1 p1l pl p2 pa (COMP pa (RAND p1))) n))
nw_mes2a : (s:System;n:Network;pl,p2:Principal;pa:Param;ex:Exponent)
(nw s n) -> (cmes2 n pl p2 pa ex) ->
(nw (mes2 s pl p2 pa ex)
(cons (M2 p2 pl (COMP pa (RAND p2)) (CERT p2 pa)
(ENC (SKEY ex (RAND p2))
(SIGN p2 (COMP pa (RAND p2))))) n))
nw_mes2b : (s:System;n:Network;pl,p2:Principal;pa:Param;ex:Exponent)
(nw s n) -> “(cmes2 n pl p2 pa ex) —>
(nw (mes2 s pl p2 pa ex) n)
nw_mes3a : (s:System;n:Network;pl,p2:Principal)
(pa:Param;ex1,ex2:Exponent)
(nw s n) -> (cmes3 n pl p2 pa exl ex2) ->
(nw (mes3 s pl p2 pa exl ex2)
(cons (M3 p1l p2 (CERT pl pa)
(ENC (SKEY ex2 (RAND p1)) (SIGN pl ex1))) n))
nw_mes3b : (s:System;n:Network;pl,p2:Principal)
(pa:Param;ex1,ex2:Exponent)
(ow s n) -> “(cmes3 n pl p2 pa exl ex2) ->
(nw (mes3 s pl p2 pa exl ex2) n)
nw_mes4a : (s:System;n:Network;m:nat;p:Principal)
(pa:Param;exl,ex2:Exponent)
(nw s n) -> (cmes4 n m p pa exl ex2) ->
(nw (mes4 s m p pa exl ex2)
(cons (M4 (P m) (ENCM p (SKEY ex2 (RAND (P m))))) n))
nw_mes4b : (s:System;n:Network;m:nat;p:Principal)
(pa:Param;exl,ex2:Exponent)
(nw s n) -> “(cmes4 n m p pa exl ex2) ->
(nw (mes4 s m p pa exl ex2) n)
nw_mesba : (s:System;n:Network;m:nat;p:Principal)
(pa:Param;exl,ex2:Exponent)
(nw s n) -> (cmesb n m p pa exl ex2) ->
(nw (mesb5 s m p pa exl ex2)
(cons (M5 (P m) (ENCM p (SKEY ex2 (RAND (P m))))) n))
nw_mesbb : (s:System;n:Network;m:nat;p:Principal)
(pa:Param;exl,ex2:Exponent)
(nw s n) -> “(cmesb n m p pa exl ex2) ->
(nw (mes5 s m p pa exl ex2) n)

068 0000OO0nwOODO (1/3)
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nw_fkmill :

->

nw_fkmi2a :

nw_fkmi2b :

nw_fkm211a :

nw_fkm211b :

nw_fkm212a :

nw_fkm212b :

nw_fkm221a :

nw_fkm221b :

(s:System;n:Network;pl,p2:Principal;pal,pa2:Param)
(nw s n)
(nw (fkmll s pl p2 pal pa2)
(cons (M1 intruder pl p2 pal (COMP pa2 (RAND intruder))) n))
(s:System;n:Network;pl,p2:Principal;pa:Param;ex:Exponent)
(ow s n) -> (cfkml2 n ex) ->
(nw (fkml12 s pl p2 pa ex)
(cons (M1 intruder pl p2 pa ex) n))
(s:System;n:Network;pl,p2:Principal;pa:Param;ex:Exponent)
(aw s n) -> “(cfkml2 n ex) ->
(nw (fkml12 s pl p2 pa ex) n)
(s:System;n:Network;p:Principal;pa:Param;ce:Certificate)
(ex:Exponent;si:Sign)
(ow s n) -> (cfkm211 n ex si) ->
(nw (fkm211 s p pa ce ex si)
(cons (M2 intruder p (COMP pa (RAND intruder)) ce
(ENC (SKEY co (RAND intruder)) si)) n))

(s:System;n:Network;p:Principal;pa:Param;ce:Certificate)
(ex:Exponent;si:Sign)
(nw s n) -> “(cfkm21l n ex si) ->
(nw (fkm211 s p pa ce ex si) n)
(s:System;n:Network;p:Principal;ce:Certificate)
(ex1,ex2:Exponent;si:Sign)
(nw s n) -> (cfkm212 n exl ex2 si) ->
(nw (fkm212 s p exl ce ex2 si)
(cons (M2 intruder p exl ce

(ENC (SKEY ex2 (RAND intruder)) si)) n))
(s:System;n:Network;p:Principal;ce:Certificate)
(ex1,ex2:Exponent;si:Sign)
(nw s n) -> “(cfkm212 n exl ex2 si) ->
(nw (fkm212 s p exl ce ex2 si) n)
(s:System;n:Network;p:Principal;pa:Param;ce:Certificate)
(c:Cipher)
(ow s n) -> (cfkm221 n c) ->
(nw (fkm221 s p pa ce c)
(cons (M2 intruder p (COMP pa (RAND intruder)) ce c) n))
(s:System;n:Network;p:Principal;pa:Param;ce:Certificate)
(c:Cipher)
(ow s n) -> “(cfkm221 n c) ->
(nw (fkm221 s p pa ce c) n)

069 0000OO0awOODO (2/3)
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nw_fkm222a : (s:System;n:Network;p:Principal;ex:Exponent)
(ce:Certificate;c:Cipher)
(nw s n) -> (cfkm222 n ex c) —>
(nw (fkm222 s p ex ce c) (cons (M2 intruder p ex ce c) n))
nw_fkm222b : (s:System;n:Network;p:Principal;ex:Exponent)
(ce:Certificate;c:Cipher)
(nw s n) -> "(cfkm222 n ex c) -> (nw (fkm222 s p ex ce c) n)
nw_fkm3la : (s:System;n:Network;p:Principal;ce:Certificate)
(ex:Exponent;si:Sign)
(nw s n) -> (cfkm31 n ex si) ->
(nw (fkm31 s p ce ex si)
(cons (M3 intruder p ce
(ENC (SKEY ex (RAND intruder)) si)) n))
nw_fkm31b : (s:System;n:Network;p:Principal;ce:Certificate)
(ex:Exponent;si:Sign)
(ow s n) -> “(cfkm31 n ex si) ->
(nw (fkm31 s p ce ex si) n)
nw_fkm32a : (s:System;n:Network;p:Principal;ce:Certificate)
(c:Cipher)
(aw s n) -> (cfkm32 n c) —->
(nw (fkm32 s p ce c¢) (cons (M3 intruder p ce c) n))
nw_fkm32b : (s:System;n:Network;p:Principal;ce:Certificate)
(c:Cipher)
(ow s n) -> “(cfkm32 n ¢) -> (nw (fkm32 s p ce c) n).

0610 0O0000OnwODOO (3/3)
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70 STSOUOOOOOOO

7.1 OOooog
0000000000000000000.
000100000000000000000000000000000.

gbb20000d00bbooooobouoooobboooooboood,
gobbuooggoboooogoooood.

O0100000b000,0b0b000b bbb booobobboo0oobobOoon
. ggob20b0bododo,bbboooubbbbboooubbboooon
ooooooo.

O0O0O00OOoog CateOBJOOODDOO CoqOODOO,0D000DOO0DOODOO
O00D00000. 00200000 Messaged,Messageb 000000000000, O
U000 MessagebU OO Ooogg.

0 (Cafe0BJ) UODOOOOODOOODOODOOOOO.

bbb 1 00000000 s:SystemUUJ 0000 em:CipherM U000 O

O cm \in ccm(nw(s)) implies (for(cm) = intruder)

gud200000000 s:SystemUJU000U00 m:Msg OO
0 MS \in nw(S) and m47(MS) and
[0 not(creator(MS) = intruder) and
O not(for(cm(MS)) = intruder) implies
O for(cm(MS)) = pr(rand(com(key(cm(MS)))))

O(Coq) DODOODOODOODOODODDOD.

000 1 (s:System) (n:Network;cm:CipherM)

0 (aw s n) /\ (ccm cm n) —> (for cm) = intruder.

OO0 2 (s:System) (n:Network;m,1:nat;sk:Skey)
O (aw s n) /\ (In (M4 (P m) (ENCM (P 1) sk)) n)
O-> (P 1) = (key_for sk).
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7.2 OO

gooobobobobbbbbbbobbbbb, oo oooooooon.
gbobbuoooobbbuoooobn.

0001 Message2 OO UOOOOOOoooooboooooQ.

000 2 Message3 U OO O OOOOonoooooobooooooQ.
gbbboooobbobooooboboodgboo.

o033 0000ddbibiddUmessagellO0ODOOOOODOOO,
gbobboogogobood.

gbb4 00000000 OOO0O0OO0DLDOOO0O0OLDDbOOOOOn.

gbobs bbouguobbuooogbobbuoooobbbuoooobobbood.

CafeOBJOODOODO CoqUODODOODOOOOODOODO B, 0O0DOODODODODOO.

3 Uuooon

O (CafeDBJ)

gbooodgbbuogbbugoobodb invgdbobg. gbogb izvvuogbbooo
12000000000 inv100, inv200, inv300 U OO OO. DOOO0DDOOOOODOO
gobooog.

op inv100 : System CipherM -> Bool

op inv200 : System Msg -> Bool

op inv300 : System Msg -> Bool

eq inv100(S,CM) = CM \in ccm(nw(S)) implies (for(CM) = intruder)
eq inv200(S,MS) = MS \in nw(S) and m4?7(MS) and

not (creator(MS) = intruder) and

not (for (cm(MS)) intruder) implies
for(cm(MS)) = pr(rand(com(key(cm(MS)))))

MS \in nw(S) and m57(MS) and

not (creator(MS) = intruder) and

eq inv300(S,MS)

not (for(cm(MS)) = intruder) implies
for(cm(MS)) = pr(rand(com(key(cm(MS)))))
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OO0 sO0O00O systemUd CafeOBJOODOOO,Ms,cMOOODOOOOO Msg,CipherM
O CafeOBJOODOODO.

0000000 ISTEPO0 000000000000 00QC istepl00,istep200, istep300
O000,0000000000000D0D0000.

ops s 8’ : —> System

op istepl00 : CipherM -> Bool

op istep200 : Msg -> Bool

op istep300 : Msg —-> Bool

eq istep100(CM) inv100(s,CM) implies inv100(s’,CM)
eq istep200(MS) = inv200(s,MS) implies inv200(s’,MS)
eq istep300(MS) inv300(s,MS) implies inv300(s’,MS)

gbbsOb00O00dd,s’0sbbuoggobbboogobobuooooboog.

gboboodo 1,dbbinvioo00dgonooogoobogob,ggoooboag
gboboboobobbobobo. oo, bodbdugbudgboobaoobodgbo. d
gobobuooogbbobood.

open INV
red inv100(init,cm)

close

CafeOBJOODOO open U0 0DO0O0O0OOOODOODOODODOOODOODO,ODO0D0ODOO
OO00D0000000000, CafeOBJUDOUODO closeJO0O0ODOODOOOOODOODO
OO00. CafeOBJOODOUO redd, 00000000 0ODOODOODODODOO,000O
gboooogo.
gbobouooggobobuooooooobbuoooub.bbodoog,bbouoaf
000000000000000000000O0000, 000000000000 (O
000000). 0000000 (bo0)Dooooooooooooooog.

open ISTEP
(Coobooboooboo)
(ooooooooo)
(COoO0obOoOobooboboooboo)

eq s’ =a(s,...) . ——Q0Q0O0OO
red istep100(cm)
close

gb,dddbabbboggobbogbbbuogobbbooboboboooobboon
gb. obo,ggoobbbbboooooobbbbooogo. bbbooooon
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U,00s2000s0000000DO0DO0O0O0 a0000000O00O0000000000
O0ooooboooboOo. bbO, O isteptoo(em) DOOODO. DOODOOODOO
000000 +true)0000,000000000000000O0CDOO.O00O0DOOO
g,0bbboddggoobooouogooobobbouoooa,obbbobuoooon
gbobboogbobobood.
Oob0ob0obooboobooboobobobocoooooooo.

0 (Coq)
0dooooodoono,ddodd 1,200000 inv100, inv200, inv300 O 00O 0O O.

Theorem inv100 : (s:System) (n:Network;cm:CipherM)
(nw s n) /\ (ccm cm n)

-> (for cm) = intruder.

Theorem inv200 : (s:System) (n:Network;m,l:nat;sk:Skey)
(nw s n) /\ (In (M4 (P m) (ENCM (P 1) sk)) n)
-> (P 1) = (key_for sk).

Theorem inv300 : (s:System) (n:Network;m,l:nat;sk:Skey)
(nw s n) /\ (In (M5 (P m) (ENCM (P 1) sk)) n)
-> (P 1) = (key_for sk).

CafeOBJOODODOODOD invio0oOOOOOOODOODOODOODOO. CoqDODOO
gbobobboooogbboboooogg,bbbbouoooobbobo,uo0on
goboboogoobobooogob. bbo,ggooboboooooobobboooon
goobbo,bbsbbbbbboboooooooob. sbbboouoooooon
gbo,b0dgdobbogogoboboogon.

Intro.

Induction s.

gboogboogbbuobbuoobbbodbboo. bboobbuooboboon
gboobboogooo.

n : Network
cm : CipherM
HO : (nw init n)

H1 : (ccm cm n)

(for cm)=intruder
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gbobobuooggobood.

Inversion HO.

HUOonwOOOOOODOOD . H2:(nil Msg)=n OO *)
Rewrite <- H2 in H1.

(* H1 O (ccm cm (nil Msg)) OO OO *)

Inversion_clear H1

(* HHO cemO 00000000 . OO0 FalseOO, OOOO %)

gboboggob,dbobbogobbuoooboboobobbooobobuooboobobao
O00.0000(000)000000000000000000OOO0O0.

s : System

Hrecs : (n:Network; cm:CipherM) (nw s n)/\(ccm cm n) ->(for cm)=intruder
(DoooOooobooono)

(ooooooog)

n : Network

cm : CipherM

HO : (aw (a s ...) n)

H1 : (ccm cm n)

(for cm)=intruder

Ob0dabbgbobodbbooobogboobbogboobboobooboban

O0. (s ...)0,00s000000000000 0000000000 0OO00OO
gobobuoggo.bbbuoogobobooooooo.

Inverion HO.
HOOnwOOOOOOOOO. O0O0O0 H2, nOO0O0O0O0O H3OO =*)
Rewrite <- H3 in H1.

Inversion_clear H1.
0

(oooao)
0

Apply (Hrecs ...).
 OD000oooboooooooonods)

gbobboggbbooogbboogboodgbboogoobboooobobooooboon,d
gboogboogbbuogb.buoobobuoobobooobboobbuooboboon
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gb,bugggbbobuoooobbbbuooobb.bbboooobbbboooan
gobobogoooo.
ooobooboobooboobobbob robooobooboo.
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8y Ui

oooooooooosSTSooboooooooobooooog, CateOBJO OO Coq
goboboogoobobooogobob.booog,bbooooobobboooon
gbbbuoogobbbooobobbobooooboon.

8.1 U0OUOOOOOOOONO

gobodgdgobbuoooobbuooogooboga.

8.1.1 0OODOO

CafeOBJOUOO CoqOUOOODODOOOOODODOOOOODDOOOOODODOOOO
gbobobuoogobb,ggobbobuooouobbbooobbobooon.

CateOBJOOOO,0000000O0O00O00O0DODOODODOOOODO.ODO
gb,dgobbdggobbogobbooobboobobbuooobbuooboboboo
. ogd,gbbobbuoogoobbbbuooooobbbuooooobbboggo
000000ooooooOo00.ooo0o00o000O0 (Doboo),booooooo
0000000 (D0000).0000,0000000000000D000000000
gobobuooggboboboaod.

Coq00DO0DODOOOOOODDOODODOOOODOO,0000DO000O (DOOOO
00). 000000000000000000000000000o0ooooO. CoqO
gbogbobodbooobuodgboogb,oboobbogbbobboobbon.
O000,0000000 (0C0O00)0000O0000ooooO0ooooooooooooo
gboboboooobbbuoogb. bbbogdgdgsetbboooobo,ooon
gobobud.gbb,dgobobbbdggsetoboggobboooooon.

8.1.2 HOOOOOO

OO00 CafeOBJODODOODOODOODODOOOODODOO,0bO0D0O0O00O0ODODOO
gbouogoboobodbogbboobobuooboobboobuoobboooban
g,ggoobbobbbotbouoooooooobbbob. bbboodggg,oooooo
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OO00000ooog. oo CoqO,00000D00DO0O0DOODODOODOODOOO
gbobboggoboogbbbogbobbooobbboob,ggobbooooobao
gboood. bbb, gbboudgbbuodgbbooobouogbboob.bogobo,d
gobobooggoood.

8.1.3 STSOUUOOODOOO

OOoboOoboorsooogo STsoooooobooboobooobooooooon, oo
gobobogooobogd.

e JUUOOONO
CafeOBJOODOOOOODOODOODODODOOOODO,ODO0DODObOOODOO
OO0000b00obOoog. 0bd CogOOO,00D00D00D0000O0. DODO
gbobooboooobobooog, bbb buoooobobbuoooonon.

e OO OIOODO
CafeOBJOOOOODOODOOOOODODLDOOOODODOOO.ODODODOO
OO0000b0ob0bO0o0ob0oobobooboooo. oo, CoqboobooonoO
gbobouoogobboooobbboooobbbuoooob,uoon.

e JUUOOONO
CafeOBJODODOO, 000000000000 (00O0O0DOO0OOOOODODOOOO
O00000)000000000000000,and000000O0OO0OOO0ODO.
OO00000000. 00 CoqOOO,00b0Db0ODODODODODODO
gbobouooobbooooobboooobboo.

e OUUOODLDDLDOUOOODLDDOOOOD
CafeOBJODOOODOOODOODOOODOODOO,D00D0.00,CoqO0O0nDOO
OO00oOooooooo. CafeOBJOOODOOOOOOOOOOOOOO, Coq O
goboobooogooog.

gboboogdgbbugdgbbuooob,ggbbooobbooobbooobboon
000 CafeOBJODOODOODODODODOO. CoqOODOODODODODODOD
gboboboogg,bbuogoubbbbuooobbboo.ooobbbbooon
gobodg,bbugobbuoggbboodbbuogoboogoobogooboogo
gb.o0boboogoobbbouoooobbboooobbb,oo0bbbbooon
gobobooooobobooooobobooogoobooooobob.oboa,d
OO0000o0obO0o0boo00oooobooboo0obobOoob.boobboobooosTSo
OO00oO0boboooogobD,b0ob0obb0obog CateOBJODO 21k0 00O, CoqO O 16k
goooggo.
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8.2 [UOODOOON

gbobggbobuogdgbbuogobouooobbuooobo,obbuoooboboad
000000000 (0D000)00000000. D0D0DOoDOooDooooooooon
uo.

8.21 OUOOUOOOUOOOOOODO

CafeOBJODOOODO,0000000000D00O0CO0O0DOO0OODOODOOODOO
0000000000000 0o0o0o0, CoqDOOOOO'00O,0000000000
gooobobobbbbbbbbbbboboobooouououoduuooooooooooon
goboogbboogobooogbb. bogbbuoobobooogbbooobboon
gb,bugggobbobuoooobbbbuooobboboooobbboooon. o
goo,boggbugbbogobogbbogbooobbuogbobobooboobobon,
gboogboogbbuoobbuoobbboobboobboobboob.boon
gogooobbobobobbobbbboooooooduouuooooooooon
gbobo,d0bbogbbboobbboobbboobbboobobboobbboo
goobod. dgoobbbouoooobobooooobo,boguobobboooon
gbboggbobog,bbogbbboobbboobbboobobboobbboo
goo.

8.2.2 [UODOOOOOOOOOOO

CafeOBJOOUO0ODOOODOODOUODOODOODOODLO,0DbO0O0ODOODOO
gbboodgbbooobbobogbbuogobbuooobba,bbbodgbobbao
gobo.bobodggobbbuoogobobooooobo,boguoobboooon
gbobobodgdo. goob,booobobbbuooobbboooobbbbooon
goobod. gggo,bogggobobbugooboboooooobobboooon
gboobo.odg,gbbbboooobobbbuooobbboooobbbboooon
OO0, CafeOBJOO0O0OO0OOOODOOODOOO0ODOOODOOODOOODOOODOOD
gboboogbobb.gogbbooobbuoodobbooobbooobbooobobo
g,bogggobboogogobboooan.

CoqUOOUODOOODOODOODOODOODOUDO,OD0DbOODODOUODODbOO
gobobooogoobbooooobob.bodag,bbbbooooobobboooon
gooboogoobbooooobob. oo, bbbooooobobboooon
gb,ggbbbogbbboobbboobbboobbboobbboobbboo
gboboggoboogbbboogobog,bboobobbooobobuoooobobgao

00 coqODODOODODOODOODO.
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gboob. boogoobbbouoooobbboooobb,boooobobbboooon
gobobooooobobbooooobobooogob.obobo,guobobobboooon
gbobbuoooobboboooobobog.

8.2.3 STSUOODOOOOOO

STSObOo0bDOo0obo0o0oboo0boo0oooogooboOo,boobooboooooooD.

goboobooggn

gbobogdgobuogdbbuogobouooobo,gobbooobboooboboad
gboobo.ouggoobbboooda,bbbuooobbboooobbbboooan
OO000. D0D00D0000 CafeOBJOODOO CoqOOODODDOODODO, CoqOOODO
gbobboodgobobobooobn.

CafeOBJODOUOODOOODOODOO,000000=xer000D0O00ODODOODODOOO
g.boodbbuogbobuooobbodgb,obbooobooobb.oob,oon
goobbbobobobobdooooooobobbobobbooooouooo. gooo,
gbuogbobobobodboobboobuobbobboobobuoobbobobon
OO0D0000. CafeOBJODOODOOODOODOOOODOOD,000D00000DOOO
gboobodg. g, bbbboooobbbbuoooobbboooobbbboooon
goboggboogbobuogbbogbb.ogobooobbuoobbuooobooon
gboogob,dbboogboobogbboobobbuoobbodobbooboon.

CoqOODOO0O,DO0000DODODOOODODOOUDODODODDOUODODOOOD,
gooobbobbbbobbbbbbbobooboouoououuuuoooooooooon
OOoo0. CoqUOODOO,00D00D00DO0DOO0ODUODODDbOODODODOD,0DbOD
gboogbooobbuoobbuoobbbodobboobboo.bboooboon
000000000000 (00000)000 (bobo)boo. oooooooooo
U0 UndoUUOUOOOOO, 0000000000 OOOO0OODODODOOOODODODOO.

gbobobooogon

gbboogbbugdgbbugobouooobbuoobboo,bbooobbodad
Ooooobooboboobboobooboboob. booboo 30000 Messagel
OD00000000,000 Message2-5 000000000000 0O0O0O0OOO0O0OO
00oo000oo00ooo000oooo0. DooOo 1(2)ooU0oob0, 0o00oooO0o
Message2(Message3) 00000000000 0O0O0O0OO0O0O0OOOODOOODODO. OOO
00000 CafeOBJODO OO CoqOOODOOODOODO, CateOBJOODOODOODODOODO
gboobboogooo.
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CafeOBJODOOUODO,0000000O0O0ODOOODOOODLOOODOOODOOODOO
gobobooogoobbbooooobobo. g, gbboboogooobobboooon
gbbboooobboboooboboogbobo.

O0,Coq0 0000000000 0ODOODOD. CoqOOOoboonoonooDbonO
gogobboboobo,bbbbobbbuduoooooobbbobb. bbb 2000,000
O0000 Message3 DO OO DOOOOODOOOOODO, D0 SystemOO0O0OOO0
gbboboooogbobbobuooooobobbo,ogbbboodooao.o0100
0,000 Message2 DD D OOOOUOOOOO,Avort U0 O00O0OOOOOOOOOOO
Message3 0 U OO ODO0OO0OOOOO0ODOOOOOOODOOOOO0O.O00O,0030
D000 Messagel UD OO UODODOOODOO, Abort 0 O0O0ODOOOODOOOODOO
gboo.o0bo,gobbbbooobobbbuooobbbboooobbbbooan
0000000000000. 00000 HypothesisOOOOOOODOODOODODOO (ODDDO
000)00000000000000000. 000000000 ooooooooo
gbobbuoogobb,o0bbbboooobobobuooobn.

gobobogooboboogan

gbobuoggbbuogdgbboodobbooobboobbo,bbboobobbao
goboboogoobobo. bogggbobo,ggoobobooooobobboooon
gbobobuooogbobboood.

CafeOBJOOUOUODOO,000000O00O0ODOOO0ODO0O0O0ODOODOUODOODOO
gobboobobb. goudobbibib e 00000ooooO. 0D000404go
gobobboogoogoobo,bobbodoooobobobobooooooobooo,oooon
00 (00)00000000000000000. OoooooOoO (o)oooooo
00O trvel 00000 ooobooboooobogb,gbbogbogbog.
gbboogbbuogbbbouoogbbuooobbuooob,oobobboobbbao
gbobbuogogbobobuoooobobooan.

OO0 CoqODOOODO,0D0D00D00D0OOOO.ODO00ODOODOODODOODOO
gb,ggdbbuggoboogbogobouoobbbooboboboooobboon
gbboggbboogbbuoog,uogdbbuooobboogobboobobbon
goooggbooboogob.ogobbogbbooboboooooobbuoobboon
gbobo,dggobbobuoooobbbod. gooobbboooobbbboooon
g,bugdgoooogd.

52



o oo

9.1 BolignanoOOOOODODODODOODODOODODOOOODOO

O0o00Od CoqODODOODOOODODOODOODOODOODDODDOODO, DO
OO0 CafeOBJOOOOODOOOOOOODO,000000O0TSODOOOOODOOO
O0000000000000000000000000000. Bolignano[6, 710000
OO000OO0O00b00O00obOoo0ooobooobooobbooboo,Coquobooonoo
gbobboodgbo.bbuooogbbbouooobboooobboood.

9.1.1 UOUobuboooobbbuooobbod

BolignanoO OO OO, 00000000 O0OOO0OOOOOOODOOOOOOOODOOO
gobooggbbobuoogbbobuooobbbuooobbbuoooob,oobooboba
gbobbuoooobbbaod.

gobgdgbboggbboobobooobooobooobboobobuoo.oboof
gboboogbbugbbooobuoobbuoodgbboobbuoooboobobon. o
g,0bogggbobogguobbbdooooboboogooboobo.bugon
gooobobobbbbbbbbbbbboboboouoououuuooooooooooon
gbobgbbuoggoobobooo,ggubbuogobbboonoboboooobboon
gbobob,g0ob.obbboooobobbbuoooobbboooobbbboooan
gobobuoooobobbuoodgo,booguobbbooobobobooon.

gbuogdgboboodg,buoogbbbooobbbaobbuoogbbuooobboo
goobooooob.bbbuoogogbobog,gobbobbooooobobboooan
gboogbogbbuoobobbodbboobboobbboobbo.obboon
gbobogoobuoodgb,ggboobooobbboobbbooobbooobboon
gbooggbbugb.buogbobboobuoobbooobooobbuoobboon
gobobuoooooob,ggoo.

9.1.2 0UUOOLOOOOOOLOObOOO0

gboudbogbbodgbuodgbogbboobudoboobboboobodobon
gobobodod. ggobbbouooooboboooooobob,ggubobobboooaon
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gbobbuooogbobboood.

9.1.3 STSOOOOOOOOOOOO

BolignanoO OO OOOO STSOODOO0OOODOOOOODOOODOO.OO0OOoOoOOO
oooobobobooobooboobobobo Goobooboooo.

goo

gbbouoogogobbbobduog,gobob b, Kk, oggEDgooon
O00. 00000000 ((000)0000000oooOooo00.ooooooooceo
gbbboogobbbooobboboogobobbuooob.bbuoooobb.

Set.
Set.

Parameter D:
K:
Parameter E: Set.
B:
C

Parameter

Inductive Set := K2B: K -> B | D2B: D -> B | E2B: E -> B.
Inductive : Set :=

Encrypt: C -> K -> C | Pair: C -> C -> C | B2C: B -> C.
Parameter KeyX: D -> K. x Oono =)

Parameter KeyAB: E -> D -> K. (x DODOOOO %)

googuobbouibbobooouooibibibdOdd GlobalState U U U DO ODOM,
000000000 ssO00000 AB)ODOD APEXbW(BPEXaW) 0000 O00OOOOO
OO0. 000000, Diffie-HellmanOOODOD0O, 00000000, 0000000000
gboboboooobobbbooooob.bb,gooobbboooobbbboooon
0b0booddbibibUddUd known_in OO UOO. known_in DO O OOOODO.

Syntactic Definition SS := (list C).

Inductive AState: Set :=
APEXbW : D -> E -> D -> AState.
Inductive BState: Set :=
BPEXaW : D -> E -> D -> BState.
Inductive GlobalState: Set :=
ABI: AState -> BState —-> SS -> GlobalState.

OO00oooooboboboooboboboobobdbrelt-ed00ng. ODOO0O Mes-
sage20 00 0U0O0rel3, U00O0OOUOOrel4a000OODOOOODO.
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Parameters Aid, Bid: D. (x OO A,BOOOOO =)
Definition Triple := [cl, c2, c3: C] (Pair c1l (Pair c2 c3)).

Definition rel3 := [stl, st2: GlobalStatel
Cases stl st2 of (ABI stal stbl s1) (ABI sta2 stb2 s2) =>
Cases stbl of (BPEXaW pl exal _) =>
s2=(cons (Triple (B2C (E2B (Expo pl Bid))) (B2C (K2B Pb))
(Encrypt
(Encrypt (Pair (B2C (E2B exal))
(B2C (E2B (Expo pl Bid)))) Sb)
(KeyAB exal Bid))) s1) /\
stal = sta2 /\ stbl = stb2 end end.

Messagel OO OO ODO0OO0OO0OOpitO0O0O AODODexal JOODOO, 00000
000000000, Pb,sb0 000000 BOOODO,000((OO)000O0O0OODO.
OO0 BOOOOODOOOOOOOO.

Definition reld4 := [stl, st2: GlobalStatel
Cases stl st2 of (ABI stal stbl s1) (ABI sta2 stb2 s2) =>
Cases stal sta2 of (APEXbW pl _ _)
(APEXbW p2 exb2 w2) =>
(known_in (Triple (B2C (E2B exb2)) (B2C (K2B Pb))
(Encrypt
(Encrypt (Pair (B2C (E2B (Expo p2 Aid)))
(B2C (E2B exb2))) Sb)
(KeyAB (Expo p2 Aid) w2))) s1) /\
stbl = stb2 /\ sl = s2 /\ pl = p2 end end.

O0Ad0OOCOO0ODOOOO0OOOOO0ODOOOO0OOOOOO0OObOOOODOOODDOOO.
OO0000D00O0000,00AD00D0O0ODO MessagelDOODOODOODOOp1ODO
Oo00BOOOODOOOODOODOODOOODOOD.OO,0DADOODOODOOO
gbobobooddbexp200000n0oogoooog.

HEN

OOobO0o0obO,000b0.0b00b0 AD0o0ooO0obooooboooobo BOO
gbbbuoooobbboogobb.buooogooooag.
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Definition rel := [stl, st2: GlobalState]
(rell stl st2) \/ (rel2 stl st2) \/ (rel3 stl st2) \/ (reld stl st2) \/
(relb stl st2) \/ (rel6 stl st2).

Definition CipherM1 := [st: GlobalState]
Cases st of (ABI (APEXbW p exb _) _ _) => exb = (Expo p Bid) end.

OO00,0000000000000000000D0 (rel st1 st2) DOO0OOOOODO
gbobobuogogbbbinvioo0DOogn.

Theorem inv100: (stl:GlobalState) (st2:GlobalState)
(CipherM1 st1) -> (rel stl st2) -> (CipherMl st2).

9.14 0OO0OOOOOOOOO

OO0DO0Db0O0 CoqOUODOUODOODOO BolignanoOOODOOOO4oDoooono,
gboobooooboo.

OOobO0boboboooboooobobobooooogn. BolignanoO OO OO O
gbbboggbooobobooogbbuogobbo,goboogoobobogooboobogao
gbobod. ggbbodgooobobuoogbbboooobboooobbo. g
gbobboggoboogbbbooobbuogobbuooobbuooobb,oobbgo
gbbbuoodgobbbooobbbooan.

gobooboogguoob,bbobbobbboooouobugooboboobobbbon
goobbbbobouodad. booogoogoobbobbbbbouooooooon.
BolignanoOO O OO, 00000000000 0OOODO0OOOOOOOLOOOOOOOO
gbobod.gbbbbodgodgbbobuooobbbuoooobboooob.booon
0000000000000 (D00000o0)00doooooooooooooooo
gboodgt,ggbugbboobuogbbooboobbogbbobboobboan.

gobogdgobuogdgbbuogob,ggbbooobbooobbuoooboboan
OO0O0O00b00ooog. BolignanoOODOOOOOOOOOOOOOOOODOOODOODO,
gobogobogobuogobboogbboobbooboboboobboo.oboon
gbuogboobouoobbogbuoobbobbooboobboobuoobbobobon
g,ggooobooobot. bodugg,guoooobboobobbooooooon
goo.

Bolignano OO O ODODO0OOOODOODOODOODOO CoqUUOOOOOOODOODOD.
gobob,0bbobbbotbuoooooooobbbobbo. oo,00u00oo0404ao
00000000000000000000. 000000 invioo0O0OODOO, (700
Otway-ReesU 0 DO 00O OO00O0O0O0OODOOOODOOOODODOOOO.ODOOO Coq
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OOoboooog,CoqOb0ODOOOODbOOOObOobobOobDOobObOOobDOobobOgD
g.gbbobodogoobbboooobobooooobobbooog,bbbooon
gbobbuooogobbuooogbboobod.

9.2 CoqUUUUOOOUOODOOOMO

OO000d CoqODOOODOODOODODODOOODOOO,00b00DbObOO0
O0000000'000000. 0000000000, 0000000000000
ooooobo0oboobooOobOoobOoboobooboooobboOoDbobobOoDboo
000000000000, 00000000000000 (booooo)oooooo
Oo0O0,0000000.

0000 CoqgOODOOSTSOODOOODODODODOODOODODODODOODODO
oo,0ooobooooooooooooooobooboogbboDoobo. boboo, o
OO00000000000b00o0o0o0ob00o0oob00obob00obuobOobOoD Coqbom
oooooo.ooo,0o0gbobo0ooogoo0ooobooobobooobooobooboo
ooo0ooOooOoOoOoOoOoOOOOO0O0OO0OO, (0000000 ooooooooo
00000)00000000 (O0O00000000000)000000ooDoooon
0000000000000 000000 fun_nwOOOOO.

O00,00 (mes2 (mesl init pl p2 pa) pl p2 pa co) JODOODODODO

(cons (M2 p2 p1 (COMP pa (RAND p2)) (CERT p2 pa)
(ENC (SKEY co (RAND p2))
(SIGN p2 (COMP pa (RAND p2)))))
(M1 p1 pl p2 pa (COMP pa (RAND p1))) nil)

000000 (00D0000)000. 0000 Objective CamlOOO0O0O0OODOODOO
OO0 HOOOODOOOO.booooogo,STsobooboobooboobooogo
gobobuoodgoboboooon.

gb,gb0bbogbobbuogbboogbboodobbooobbooobboan
gbobobggboboogbbooobooboo,obbooobboogbbooobobgo
gbooogboogboodbb. fun_awd 00000 og,0000booooboon
goboo.

'Haskell[21], Objective Caml[22) 0 00 0000000000000 O00O0OOOOOOOO.
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e fun_cmes?2

- 0000000000 n, 00 p,p21,D.H.OO0ODOO pa, JO0T co
— 0000 Message2 D OO OO OO

— 0oad
ndplO0Op2000 pad00O coOOOO Messagel 0000 Left.
0000 Right.

e fun_cmes3

- 0000000000 n, 00 pl,p2, DH OOOOO pa, 00O col,co2
— 0000 Message3 OO QOO

- 0ogd
nJplO0Op2000 pad0O0O colODOOO Messagel, 000D O0OOODDOO0O
p200 plO0ODO co20000 Message2 0 000 Left. 0 0O0ODO Right.

e fun_cmes4

— O0O0O0O0 fun_cmes3 000
— 0000 Messaged I OO OO OO
— O0O0O0 fun_cmes3 000

e fun_cmesb

- 0000000000 n, 00 pl,p2, DH OOOOO pa, 000 col,co2
— 0000 Messages DO OO OO0

- 0ogd
nplO0Op2000 palOO colOODODO Messagel, 0000000 p20
OplO0O0Oco20000 Message2, O ODDDODOOO0OOOOO pl OO p2
000 Message3 J OO0 Left. 00ODOO Right.

OooooogoSTsoogboooboooboooboooooooobooooooo
gbobobooodob.obbobu,obbbbuooobbboooobbbbooan
gbobobogoobbdogbooobbuooobbo,bbbuooobbooobboon
0000000000000 000000000+trans000 (OOOOOO)O,00
D000 n0O0000O0O0OO00O0DH.OOODODODOOODOObOODbOODOODO
gbbobooooboo.

000 (M1 p1 pl p2 pa (COMP pa (RAND p1))) OO
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gbobo,gbbbooogbbbuooobboooobbobuooan.

e U UOUOODLODLDDOUOOO

l.trans OO0, 0000000000000O0O.
2. 0000dbngbbooooobobog.
. 0udbobuubobodbobuodbdbd fun_emesxU OO0 OO0Q.

e JUUOUOOLOLOODODODO

l.trans OO U0, 0000000000000¢0O.
2. 00000bngbbboooobbbog.
. 0bougooboboboooooboog.

gboboggoboogbbboogobooobbog,bbogobbuooooboobao
gbbboodgobobbooob,boogbobobooooboog.
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100 Uodootgn

10.1 OO0

OO00O00b0o00O0obo0obooogSTSiDoboobooooboooogooDoo oTs
OO00o0ooooO,CafeOBJOODOUODO CoqOOODOO,00000. OO CateOBJO
OO000d CoqODODOOOD,0Db00D00OO0ODODODOODOODODODODOODOOD
go,ggooboboobobobuoddd. ggoooobbobobbbboooo,o0ooon
gbobbuooogbobbuoooobboobod.

goboboooooobobougooobobooogoogoo,boodg,odd
gbobob,booodgobobbboodgooobbbbouo,ooobbbbuoooan
god. gggoobobobbbotouggoooooooboboobobbooooon,
gboogbboogbbdooobobuooobbuo. oobooobbooobbodon
goobooggd. bgoo,gbbobboooobbobbooooogbboboaga
000000000000,000000000'00000000.

gboboogdgbobuogdgbbuogobouooob,ggbbooobboooboboad
gbobo,d0bbggbbboobbboobbboobbboobobboobbboo
gboboggoboodg,bggobbuoobboobobbooobobuooooboobgao
gbobbuoogobbbooobobbbuooobobbouooobbboodan.

gb,ggdbogggbooabobboogbbobugobbooobobbooobbao
gbobobodg.gooobboo,gobbbbuooobbboooobbbboooan
gb,dgobbdggobbogobbooobbuoobobbuooobbuoooobobao
0000 (000)0000000000000000000. 00000ooooO0o,Od
gbobobuogogbobobuoooobobooon.

OTSO00000D0D0D0OD0OD0ODODO CafeOBJOOOOOOODO (OTS/Cafe-
OBJ)OOOOOOOOOOOO,0000000000000000CODOO0OODOO0O0
gbobogbbbugbbbouoogbbuooobbuooobbuoogobboo,bbdo
gogobbobobobobbobdgoooooobbobobobooog. bogoooooo,
Ooooooooboobooboobooboboooboboobob.ooorsooobogo
gbobboggoboogbbbogobbooobbbooob,ggobobooooboobogao
gobooooogno.

l0p,000000000000000
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CafeOBJOOOUODOOODOOO,00000000D000DOO0DO0OODOOODOOO
goodgbobodg. gbuogoboooobboobbooobooobbuoobboon
000000000000000,0000000((00000000OOO)0000O0
gb.obgdb,ggbobdgbbuogobooogboog. obogoobo,obood
gboboboooobbbouoooobbbooogbboboa. oo, obbbooon
gboogobobobodbogbbbuooobooboobboobuoobbooban
gbboboooobobbooodo. gob,buooobbboooobbbboooan
goboboooogo,bogguobbbuooo.obbobbooooobobboooon
gbboodgb,ggbobbuoggbbuoodbbuooobbuoobobboobbboo
goboood.

goog,boobobbobbbbbbbuoouaoooooon. bbboobbbbboo,
gbboboooobbbouoooobbbooogbbobbooooobob.bbo,on
gooodgbobooogbobooobbuoogbbuoogb. boggo,oogooboobooon.
gbboodgbbuogobbuooobbuooobbooobboog,oooooboboo
gobobooooob.bbboodg,obbuooobobobboooooobobboooan
gbboggobboodobbooobbooobbog,bbouogobbuooobbon
goo.

CoqUDOOUODOOODOOD,ODO00D0OO0O0ODOODOODOODODOODODbOO
0.0000,000000000000000 (Coq@OODOOD)00OODDOODOO
gbood,bbuogbobboobbboobobooobbooobbooobb.oon,
OO0O00O0DbOooTSO00b0o0oooboobooooooogoD Coguooobooono
(OTS/Coq)00,00000000000D0O00O0DODOOODOOODOOOODOOO. OO
gb,dgobbdggobbogobbooobboobobbuooobbuooboboboo
g,bggbobbogbbboobbboobbboobbboobbboobbboo
O00.000000000,00000000000000000000 OTS/CafeOBJ
gbobbuooogbbbog,bbbuooobbboooobbbooan.

CoqUOO0ODOOODOODOODODODDOUODOUODODDO,DO0DbDUODODOO
gbobobooodob.obboboua,obbbbuooobbbooodgbbbbooan
gobod,bbggobbooobbooobbuoobobbuooobbuoooobbao
gbogbbobuogboboboboobud.bobo,boooobuodoboobobo
OO000oob0obobooO0.bog,CoqOObO0boDobOobooobooboonoonogoo
g,bogbobbuogbbbuogdbuoodgbbuooobboogobboobobban
gobobooooobbbooogobobooo. ggob,boooobobboooon
gbobbuooogobbuoooobbobod.

god,bgbuodgbouodoogbog,gbogbbobuogboogbuogbogog
gbboggbobooobboogbboo,bboobbboobbboobbbao
gbobboggoboogbbbogobbooobbbooobobo,oboboooobobgo
gboboboogobob.bbbuoooobbboooobbboooooboboobog,d
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0000000000 b0obob0obobobUobobobOoboobOoDgn Coqb
goboboodgobob,ggbbobuooguobobobooobn.
OO0b00o0ooooopooboooo. cafeOBJOOODODODOOODO, 000000
gouogobodgbodbboobduoboobbooboobbooboooooban
gbooggboogbbuobbuoo. obuoobbooobboobbuooboboon
OO0D0000000bO0ob0b00.0b0 CoqUobOobobooboOo,0bboboobOoOon
gbboggbobooobboogbboo,bboobbboobobboobbbao
gboboggboogbbuogbbogboobbodbboobboobbuoooobon.
gbobbuoogobbbooobbbboooobbboooobboooobon.

10.2 0OO0O0OO

gbobogogobbuooobbuooogbobbaod.

e 100000ODDO0O0O0OOO
0000000000000000000000000000000000000
000,0000 CafeOBJOOOOO0O00 Coq0000000000000000
000000000. 00000000000, Maude[19] O Isabelle/HOL[16, 20]
000000 CafeOBJO Cog00000000000000000000OO0O
0000000000,00000000000000000000000000
0000000000000000000000,00000000000000
ooooooooooo.

e JODUUOOOLODLDDOOOO
OO0O000o0obOoDOo STSOob0ooboboboboooboobooboooo
gbbooodgo,bggogbobuoogbbbbooobbboooobobog,
SSL, SSHODOODOOOOOOOobooOooOooooboooouoobooooo
gboboboooooaon.
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L] [

gboboggboggbobuogbbogbobboobboobbuoobboono.boon
gboobo,gobbbuoooobbbbuooobboboooobbboooon.
goobooodobo. ob,boodgobobbugoobobobooooobobboooon

gbobboodgoboboboooon.
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0 OA STSOOOOOOOO
(CafeOBJ)

-- STS protocol

-- Msgl A --> B : PA, CO_A
-- Msg2 B --> A : CO_B, CE_B, {{CO_B}IK_B}SK_AB
-- Msg3 A -=> B : CE_A, {{CO_A}IK_A}SK_AB

-- Msg4 A --> B : {private data}SK_AB
-- Msgb B --> A : {private data}SK_AB

-- CE_A = {(A,PK_A),PA}IK_S
-- CE_B = {(B,PK_B),PA}IK_S

-- 00000
-- 000000000 00000DOO00O0D

mod* PRINCIPAL principal-sort Principal {

[Principall
op intruder : -> Principal
op _=_ : Principal Principal -> Bool {comm}

var P : Principal
eq (P = P) = true .
}

-- 000o0oooo

mod* PARAMETER principal-sort Parameter {
[Parameter]

op _=_ : Parameter Parameter -> Bool {comm}
var PA : Parameter

eq (PA = PA) = true

}

-- 00 (@oOooo0o)ooo

--rand(p) 000 p O0O00O0O00DO pOOOOO
mod! RANDOM principal-sort Random {
pr(PRINCIPAL)

[Random]

op rand : Principal -> Random

op pr : Random -> Principal

op _=_ : Random Random -> Bool {comm}

vars RA1 RA2 : Random
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var P : Principal

eq pr(rand(P)) =P .

eq (RA1 = RA2) = (pr(RA1) = pr(RA2))
}

--J000000000000ooooOoo

-- comp(pa,ra) 000000 pa 000 ra OO

-- 00000000 (0000 ra 0OO0O0O0)OO0OO

mod! COMPONENT principal-sort Component {

pr(PARAMETER + RANDOM)

[Component]

op comp : Parameter Random -> Component

op para : Component -> Parameter

op rand : Component -> Random

op _=_ : Component Component -> Bool {comm}

vars CO1 CO02 : Component

var PA : Parameter

var RA : Random

eq para(comp(PA,RA)) = PA .

eq rand(comp(PA,RA)) = RA .

eq (CO1 = CO02) = (para(CD1) = para(CD2) and
rand(C01) = rand(C02))

-- Joooooooo
-- skey(com,ra) OO0O0O0O com OO0 ra 0O0OO0OOOOOOOOOOO
-- 0000 com 000000000 ra OOODOO (OOOO)Y)DOOOOOO

mod! SKEY principal-sort Skey {

pr (COMPONENT)

[Skey]

op skey : Component Random -> Skey

op com : Skey -> Component

op rdm : Skey -> Random

op _=_ : Skey Skey -> Bool {comm}

vars SK SK1 SK2 : Skey

var CO : Component

var RA : Random

eq com(skey(CO,RA)) = CO .

eq rdm(skey(CO,RA)) = RA .

eq (SK1 = SK2) = (com(SK1)
rdm(SK1)

com(SK2) and
rdm(SK2))

--rsk(sk) : 00000 sk(OOOO0ODOOO0)OOOOODOOOOODOOO
op rsk : Skey -> Bool .
eq rsk(SK) = (pr(rand(com(SK))) = intruder)

-- Message2,3 OD0O0OOOOO
-- cert(p,pa0 000 p D0ODODOO0OD (UODD)OODDOODOO pa
-- 0000 sO000oooooooooog

mod! CERTIFICATE principal-sort Certificate {
pr(PRINCIPAL + PARAMETER)

[Certificate]

op cert : Principal Parameter -> Certificate

op pr : Certificate -> Principal

op pa : Certificate -> Parameter

op _=_ : Certificate Certificate -> Bool {comm}
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vars CE1 CE2 : Certificate

var P : Principal

var PA : Parameter

eq pr(cert(P,PA)) =P .

eq pa(cert(P,PA)) = PA .

eq (CE1 = CE2) = (pr(CE1)
pa(CE1)

pr(CE1) and
pa(CE2))

-- Message2,3 000000
-- sign(p,co) 00000 co 000 pO00O00O0O0O0DOODOO

mod! SIGN principal-sort Sign {

pr(PRINCIPAL + COMPONENT)

[Sign]

op sign : Principal Component -> Sign

op pr : Sign -> Principal

op co : Sign -> Component

op _=_ : Sign Sign -> Bool {comm}

vars SI1 SI2 : Sign

var P : Principal

var CO : Component

eq pr(sign(P,C0)) =P .

eq co(sign(P,C0)) = CO .

eq (SI1 = SI2) = (pr(SI1)
co(SI1)

pr(SI2) and
co(SI2))

-- Message2,3 OD0O0OOOOO
-- enc(sk,si) 000 si 0000000 sk OO0OODOODOODOOO

mod! CIPHER principal-sort Cipher {

pr(SIGN + SKEY)

[Cipher]

op enc : Skey Sign -> Cipher

op skey : Cipher -> Skey

op sign : Cipher -> Sign

op _=_ : Cipher Cipher -> Bool {comm}

vars CI1 CI2 : Cipher

var SK : Skey

var SI : Sign

eq skey(enc(SK,SI)) = SK .

eq sign(enc(SK,SI)) SI .

eq (CI1 = CI2) = (skey(CI1) = skey(CI2) and
sign(CI1) = sign(CI2))

-- Message4,5 D0O0OOOOO
-- enc(p,sk) 000 p 00000000000 sk D0O0OOOOOOOODOO

mod! CIPHERM principal-sort CipherM {
pr (SKEY)

[CipherM]

op enc : Principal Skey -> CipherM

op for : CipherM -> Principal

op key : CipherM -> Skey

op _=_ : CipherM CipherM -> Bool {comm}
vars CI1 CI2 : CipherM

var P : Principal

var SK : Skey
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eq for(enc(P,SK)) P .

eq key(enc(P,SK)) = SK .

eq (CI1 = CI2) = (for(CI1)
key(CI1)

for(CI2) and
key(CI2))

-- 0000000000000

mod! MSG principal-sort Msg {
pr(CERTIFICATE + CIPHER + CIPHERM)

[Msg]

- creator sender receiver send-message

op ml : Principal Principal Principal Parameter Component -> Msg
-- creator receiver send-message

op m2 : Principal Principal Component Certificate Cipher -> Msg
op m3 : Principal Principal Certificate Cipher -> Msg

-- creator cryptMsg

op m4 : Principal CipherM -> lMsg

op m5 : Principal CipherM -> lMsg

ops m1? m2? m3? m4? mb? : Msg -> Bool

ops creator sender receiver : Msg -> Principal
op pa : Msg -> Parameter

op co : Msg -> Component

op ce : Msg -> Certificate

op ci : Msg -> Cipher

op cm : Msg -> CipherM

op _=_ : Msg Msg -> Bool {comm}

vars M M1 M2 : Msg

vars CP SP RP : Principal
var PA : Parameter

var CO : Component

var CE : Certificate

var CI : Cipher

var CM : CipherM

-- 0000000000000 o0ooooooooooooon
eq m1?(m1(CP,SP,RP,PA,C0)) = true

eq m1?(m2(CP,RP,C0,CE,CI)) = false .

eq m1?(m3(CP,RP,CE,CI)) = false .

eq m17(m4(CP,CM)) = false .

eq m1?(m5(CP,CM)) = false .

eq m2?(m1(CP,SP,RP,PA,C0)) = false .
eq m27?(m2(CP,RP,C0,CE,CI)) = true
eq m2?(m3(CP,RP,CE,CI)) = false .

eq m27(m4(CP,CM)) = false .

eq m2?(m5(CP,CM)) = false .

eq m37(m1(CP,SP,RP,PA,C0)) = false .
eq m3?(m2(CP,RP,C0,CE,CI)) = false .
eq m3?7(m3(CP,RP,CE,CI)) = true

eq m3?(m4(CP,CM)) = false .

eq m37(m5(CP,CM)) = false .

eq m47(m1(CP,SP,RP,PA,C0)) = false .
eq m47?(m2(CP,RP,C0,CE,CI)) = false .
eq m4?(m3(CP,RP,CE,CI)) = false .
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eq m47?(m4(CP,CM))
eq m47?(m5(CP,CM))

true .
false .

eq m5?(m1(CP,SP,RP,PA,C0)) = false .
eq m57(m2(CP,RP,C0,CE,CI)) = false .
eq m5?(m3(CP,RP,CE,CI)) = false .

eq m57(m4(CP,CM)) = false .

eq m5?(m5(CP,CM)) true .

--00000oooooooooog

eq creator(mi(CP,SP,RP,PA,C0)) = CP .
eq creator(m2(CP,RP,C0,CE,CI)) = CP .
eq creator(m3(CP,RP,CE,CI)) = CP .

eq creator(m4(CP,CM)) = CP .

eq creator(m5(CP,CM)) CP .
--00o0oooooooooo

eq sender(m1(CP,SP,RP,PA,C0)) = SP .
-- 0000000 0o

eq receiver(m1(CP,SP,RP,PA,C0)) = RP .
eq receiver(m2(CP,RP,C0,CE,CI)) = RP .
eq receiver(m3(CP,RP,CE,CI)) = RP .
--message DO OOOOO

eq pa(mi(CP,SP,RP,PA,C0)) = PA .

-- message DO OOOO

eq co(m1(CP,SP,RP,PA,C0)) = CO .
=C0 .

eq co(m2(CP,RP,CO0,CE,CI))
-- message DO OO0

eq ce(m2(CP,RP,CO0,CE,CI)) = CE .

eq ce(m3(CP,RP,CE,CI)) = CE .

-- message DO OO0

eq ci(m2(CP,RP,CO,CE,CI)) = CI .

eq c¢i(m3(CP,RP,CE,CI)) = CI .

--Joooooooog

eq cm(m4(CP,CM)) = CM .

eq cm(m5(CP,CM)) = CM .

eq (M = M) = true .

ceq (M1 = M2) = (m1?7(M2) and creator(M1l) = creator(M2) and
sender(M1) = sender(M2) and

receiver(M1) = receiver(M2) and

pa(M1) = pa(M2) and co(M1) = co(M2)) if m1?(M1)
(m27(M2) and creator(M1) = creator(M2) and
receiver(M1) = receiver(M2) and

co(M1) = co(M2) and ce(M1) = ce(M2) and

ci(M1) = ci(M2)) if m27(M1)

(m37(M2) and creator(M1) = creator(M2) and
receiver(M1) = receiver(M2) and

ce(M1) = ce(M2) and ci(Ml) = ci(M2)) if m37(M1)
(m47(M2) and creator(M1) = creator(M2) and
em(M1) = em(M2)) if m4?(M1)

(m57(M2) and creator(M1) = creator(M2) and
em(M1) = em(M2)) if mB7(M1)

ceq (M1 = M2)

ceq (M1 = M2)

ceq (M1 = M2)

ceq (M1 = M2)

-- 0000000000000000000000O

mod* EQTRIV principal-sort Elt {
pr(TRIV)

op _=_ : Elt Elt -> Bool {comm}
}

-- 00o0oo0oooooogd
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mod! BAG (D :: EQTRIV) principal-sort Bag {
[E1t.D < Bag]
op void : -> Bag

op _,_ : Bag Bag -> Bag {assoc comm id: void}
op _\in_ : E1t.D Bag -> Bool
var B : Bag

vars E1 E2 : Elt.D

eq E1 \in void = false

ceq E1 \in (E2,B) = true if E1 = E2 .

ceq E1 \in (E2,B) E1 \in B if not(El1 = E2)
}

-- 000o0oooo

mod! SET (D :: EQTRIV) principal-sort Set {

[E1t.D < Set]

op empty : -> Set

op __ : Set Set -> Set {assoc comm idem id: empty}
op _\in_ : Elt.D Set -> Bool

var S : Set

vars E1 E2 : Elt.D
eq E1 \in empty =

ceq E1 \in (E2 S)

ceq E1 \in (E2 S)

}

false .
= true if E1 = E2 .
= E1 \in S if not(El = E2)

--o0ooooooooo

mod* COLLECTION (D :: TRIV) principal-sort Col {
[E1t.D < Col]

op _\in_ : Elt.D Col -> Bool

}

--0oooooooo

mod! NETWORK {

pr(BAG(MSG) *{sort Bag -> Network})

pr(COLLECTION (COMPONENT)*{sort Col -> ColComp})
pr(COLLECTION(SIGN)*{sort Col -> ColSign})
pr(COLLECTION(CIPHER)*{sort Col -> ColCipher})
pr (COLLECTION(CIPHERM)*{sort Col -> ColCipherM})
op cco : Network -> ColComp

op csi : Network -> ColSign

op cci : Network -> ColCipher

op ccm : Network -> ColCipherM

var CO : Component

var CE : Certificate

var SI : Sign

var CI : Cipher

var CM : CipherM

var M : Msg
var NW : Network

--cco : 0O0ODODOOOOODODOODODOOOOOODO
--100 :0000000CO0O000000O0OODOOO0O00OOODOOOD
-- 200 : 00000000 Messagel 0000000000 O0O0DOOODOOO
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eq

if m1?(M) and not(creator(M) = intruder) and co(M)

300

4 00

oooooo

: 00000000 Message2 0O0DO0O0O0OO0O0O0O0O0O0ODODDOO

oooooo

: Messagel,2 J0O000000O00O0O0O0OO (DOO)OOOOO

ooooo

CO \in cco(void) = false .
ceq CO \in cco(M,NW) = true

Cco .

ceq CO \in cco(M,NW) = true

if m2?7(M) and not(creator(M) = intruder) and co(M)

co .

ceq CO \in cco(M,NW) = CO \in cco(NW)
if not(m1i?(M) and not(creator(M) = intruder) and co(M) = CO) and

eq

if

eq

not(m27(M) and not(creator(M) = intruder) and co(M)

csi :
100
200

300

4 00

c0)

go0o0o0ooooooooooooooon
: 0doooooooobo0o0oooooooooobooOoOoo
: 00000000 Message2 00O 0O0OOOOOOOOOO

oo0o0oooooOoOoOboOo0o0o0ooooooboboOoboooooooo
ooooooooooooooo

: 00000000 Message3 0O0OO0O0OOODOOOOOO

oooooooooOooOoOoooooOobooOoOooOoooooo
oooooooooobobooooo

: Message2,3 U0 O000O0OOOO0O00OO0OO0OOOOOOOOOO

SI \in csi(void) = false .

ceq SI \in csi(M,NW) = true

if m2?(M) and rsk(skey(ci(M))) and not(creator(M) = intruder) and
sign(ci(M)) = SI .

ceq SI \in csi(M,NW) = true

if m3?7(M) and rsk(skey(ci(M))) and not(creator(M) = intruder) and
sign(ci(M)) = SI .

ceq SI \in csi(M,NW) = SI \in csi(NW)

not(m2?(M) and rsk(skey(ci(M))) and not(creator(M) = intruder) and
sign(ci(M)) = SI) and
not (m3?7(M) and rsk(skey(ci(M))) and not(creator(M) = intruder) and
sign(ci(M)) = SI)

cci
100
200
300

4 00

: 000000000000 0000D000DO
: odoooooooo0o0ooooooboOobooOoOooooon
: 00000000 Message2 00 0O0O0OOOO0O0OO0OOOOOOO

ooooo

: 00000000 Message3 00 0O0OOOOO0OO0OO0OOOOOOO

ooooo

: Message2,3 U0 O0O000OO0OOOO0OOO0O0ODOOOOOOOOO

CI \in cci(void) = false .
ceq CI \in cci(M,NW) = true
if m2?(M) and not(rsk(skey(ci(M)))) and

not(creator(M) = intruder) and ci(M) = CI .
ceq CI \in cci(M,NW) = true
if m3?7(M) and not(rsk(skey(ci(M)))) and
not(creator(M) = intruder) and ci(M) = CI .

ceq CI \in cci(M,NW) = CI \in cci(NW)

if not(m27(M) and not(rsk(skey(ci(M)))) and
not(creator(M) = intruder) and ci(M) = CI) and
not (m37(M) and not(rsk(skey(ci(M)))) and
not(creator(M) = intruder) and ci(M) = CI)

ccm

go0o0o0ooooOoO0obo0o0o00o0oooooobooboooo

eq CM \in ccm(void) = false .

ceq CM \in ccem(M,NW) = true

if m4?(M) and rsk(key(ecm(M))) and cm(M) = CM .
ceq CM \in cem(M,NW) = true

if mb6?7(M) and rsk(key(cm(M))) and cm(M) = CM .
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ceq CM \in cem(M,NW) = CM \in ccm(NW)
if not(m4?7(M) and rsk(key(cm(M))) and cm(M)
not (m5?(M) and rsk(key(cm(M))) and cm(M)

CM) and
CcM)

-- STS Protocol OO OO

mod
pr(
*[S

* STS {
NETWORK)
ystem] *

-- any initial state

op

init

: -> System

-- observation operations

bop

nw :

System -> Network

-- for any initial state

eq

nw(init) =

void .

-- Cafe0OBJ variables

var
var
var
var
var
var
var
var

-- sending message

op
eq

s P P1 P2 :
s M M1 M2 M3 :
s PA PA1 PA2
s CO CO1 c02
CE :
SI : Sign

CI : Cipher
S : System

ML OOO0O M1
mesl : System
M2 0O0O0 M2
mes2 : System
M3 OOO0O M3
mes3 : System
M4 OOO0O M5
mes4 : System
M5 O0OO0O M5
mes5 : System

for mesl
mesl

oooo #

nw(mes1(S,P1,P2,PA)) =

for mes2
mes2
gooo
1.
2.

c-mes2

od

Principal

Msg

: Parameter
: Component
Certificate

ooooooooo

Principal Principal Parameter -> System
0000 messagel

Principal Principal Msg -> System
0000 messagel [0 message2

Principal Principal Msg Msg -> System
0000 messagel messafe2

Principal Principal Msg Msg -> System
0000 message2 message3

Principal Principal Msg Msg -> System

P10 P2 00000000000Omessagel OO0

mi(P1,P1,P2,PA,comp(PA,rand(P1)))

P20 P1 0000000000000 Omessage2 OO0

# 000000000 messagel OO0

oooo p2
oooo p1

: System Principal Principal Msg -> Bool
c-mes2(S,P2,P1,
M \in nw(S) and m1?(M) and receiver(M) =

M =
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ceq nw(mes2(S,P2,P1,M)) =

m2(P2,P1, comp(pa(M),rand(P2)),cert(P2,pa(M)),
enc(skey(co(M),rand(P2)),sign(P2,comp(pa(M),rand(P2))))) , nw(S)

if c-mes2(S,P2,P1,M)

ceq mes2(S,P2,P1,M) = S if not c-mes2(S,P2,P1,M)

-- for mes3
--mes3 : P1 0 P2 00000000000000O0000P2 O message3 000

-- 0000 # 000000000 messagel(M1) OO0
- 1. 0000 Pt

- 2. 0000 P2

- # 000000000 message2(M2) OO0
- 1. 00000000 (000> 0 p2
oooooooooobo MM 000000
P1 OOOOOOOODO

oooooooo p2
ooooooooooooooooo

1
1
O W N

op c-mes3 : System Principal Principal Msg Msg -> Bool
eq c-mes3(S,P1,P2,M1,M2) =

M1 \in nw(S) and m1?(M1) and

creator(M1) = P1 and receiver(M1) = P2 and

M2 \in nw(S) and m27(M2) and

pr(ce(M2)) = P2 and

pa(ce(M2)) = pa(M1) and

co(M1) = com(skey(ci(M2))) and

pr(sign(ci(M2))) = P2 and

co(sign(ci(M2))) = co(M2)

ceq nw(mes3(S,P1,P2,M1,M2)) =
m3(P1,P2,cert(P1,pa(Ml)),
enc(skey(co(M2) ,rand(co(M1))),sign(P1,co(M1)))) , nw(S)
if c-mes3(S,P1,P2,M1,M2)
ceq mes3(S,P1,P2,M1,M2) = S if not c-mes3(S,P1,P2,M1,M2)

-- for mes4

--mes4 : JOO00O0O0ODO P10 P20000000O0O0OO
- ooooooo p2 000

-- o000 #pPL000000OO0OO
-- # c-mes3

op c-mes4 : System Principal Principal Msg Msg -> Bool

eq c-mes4(S,P1,P2,M1,M2) = not(P1 = intruder) and c-mes3(S,P1,P2,M1,M2)
ceq nw(mes4(S,P1,P2,M1,M2)) =

m4(P1,enc(P2,skey(co(M2),rand(co(M1))))) ,

nw(S) if c-mes4(S,P1,P2,M1,M2)

ceq mes4(S,P1,P2,M1,M2) = S if not c-mes4(S,P1,P2,M1,M2)

-- for mesb

--mesb : JOODOOOO P20 P1LO0OOOOOOOOO
- ooDboooo et OO0

-- 0000 #p200000000

- # 000000000 message2(M2) OO0
- 1. 0000 P2

- 2. 0000 P1

- # 000000000 message3(M3) OO0
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0o0bo0o0o0oo0 (@moo)o pPe
ooooooooobobo M2 00000000000
p2 JO0ODOOOODOD

oooooooo p1

ooo0o0oooooo M2 00000000

1
1
O W N~

op c-mes5 : System Principal Principal Msg Msg -> Bool
eq c-mes5(S,P2,P1,M2,M3) = not(P2 = intruder) and

M2 \in nw(S) and m27(M2) and

creator(M2) = P2 and receiver(M2) = P1 and

M3 \in nw(S) and m37(M3) and

pr(ce(M3)) = P1 and

pa(ce(M3)) = pa(ce(M2)) and

co(M2) = com(skey(ci(M3))) and

pr(sign(ci(M3))) = P1 and

co(sign(ci(M3))) = com(skey(ci(M2)))

ceq nw(mes5(S,P2,P1,M2,M3)) =
m5(P2,enc(P1,skey(ci(M2)))) , nw(S) if c-mes5(S,P2,P1,M2,M3)
ceq mes5(S,P2,P1,M2,M3) = S if not c-mes5(S,P2,P1,M2,M3)

-- faking message

-- for messagel

bop fkmll : System Principal Principal Parameter Parameter -> System
bop fkml2 : System Principal Principal Parameter Component -> System

*x messagel 00000000000

-- for fkmil
--0ooooboobgoo

-- for fkmi2

--0o0o0o0oooooooo

op c-fkml2 : System Component -> Bool
eq c¢-fkm12(S,C0) = CO \in cco(nw(S))

-- for fkmil
eq nw(fkm11(S,P1,P2,PA1,PA2)) =
mi(intruder,P1,P2,PAl,comp(PA2,rand(intruder))) , nw(S)

-- for fkmi2

ceq nw(fkm12(S,P1,P2,PA,C0)) = mi(intruder,P1,P2,PA,C0) , nw(S)
if c-fkm12(S,C0)

ceq fkmi12(S,P1,P2,PA,C0) = S if not c-fkm12(S,C0)

-- for message2

bop fkm211 : System Principal Parameter Certificate Component Sign -> System
bop fkm212 : System Principal Component Certificate Component Sign -> System
bop fkm221 : System Principal Parameter Certificate Cipher -> System

bop fkm222 : System Principal Component Certificate Cipher -> System

*x message2 JO0O00D00O0ODOOO

-- for fkm21

-- 000000000000 0o0o00

op c-fkm21 : System Component Sign -> Bool

eq c-fkm21(S,C0,SI) = CO \in cco(nw(S)) and SI \in csi(nw(S))

-- for fkm22

--000o0oooood

op c-fkm22 : System Cipher -> Bool
eq c¢—fkm22(S,CI) = CI \in cci(nw(S))
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*x message2 00000000000

-- for fkm201
--0ooooboobgoo

-- for fkm202

-- 00000000000

op c-fkm202 : System Component -> Bool
eq c-fkm202(S,C0) = CO \in cco(nw(S))

-- for fkm211

-- # fkm21 and fkm201

op c-fkm211 : System Component Sign -> Bool
eq c-fkm211(S,C0,SI) = c-fkm21(S,C0,SI)

ceq nw(fkm211(S,P,PA,CE,C0,SI)) =
m2(intruder,P,comp(PA,rand(intruder)),CE,

enc(skey(CO,rand(intruder)),SI)) , nw(S) if c-fkm211(S,C0,SI)
ceq fkm211(S,P,PA,CE,C0,SI) = S if not c-fkm211(S,C0,SI)

-- for fkm212

-- # fkm21 and fkm202

op c-fkm212 : System Component Component Sign -> Bool

eq c-fkm212(S,C01,C02,SI) = c-fkm21(S,C01,SI) and c-fkm202(S,C02)

ceq nw(fkm212(S,P,C01,CE,C02,SI)) =
m2(intruder,P,C01,CE,

enc(skey(C02,rand(intruder)),SI)) , nw(S) if c-fkm212(S,C01,C02,SI)
ceq fkm212(S,P,C01,CE,C02,SI) = S if not c-fkm212(S,C01,C02,SI)

-- for fkm221

-- # fkm22 and fkm201

op c-fkm221 : System Cipher -> Bool
eq c-fkm221(S,CI) = c-fkm22(S,CI)

ceq nw(fkm221(S,P,PA,CE,CI)) =
m2(intruder,P,comp(PA,rand(intruder)),CE,CI) , nw(S) if c-fkm221(S,CI)
ceq fkm221(S,P,PA,CE,CI) = S if not c-fkm221(S,CI)

-- for fkm222

-- # fkm22 and fkm202

op c-fkm222 : System Component Cipher -> Bool

eq c-fkm222(S,C0,CI) = c-fkm22(S,CI) and c-fkm202(S,C0)

ceq nw(fkm222(S,P,C0,CE,CI)) =
m2(intruder,P,C0,CE,CI) , nw(S) if c-fkm222(S,C0,CI)
ceq fkm222(S,P,C0,CE,CI) = S if not c-fkm222(S,C0,CI)

-- for message3
bop fkm31 : System Principal Certificate Component Sign -> System
bop fkm32 : System Principal Certificate Cipher -> System

*k message3 00 0O000000O0000OO

-- for fkm31

-- 000000000000 0o0o00

op c-fkm31 : System Component Sign -> Bool
eq c-fkm31(S,C0,SI) = c-fkm21(S,C0,SI)

-- for fkm32

--000o0oooood

op c-fkm32 : System Cipher -> Bool
eq c-fkm32(S,CI) = c-fkm22(S,CI)
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-- for fkm31
ceq nw(fkm31(S,P,CE,C0,SI)) =
m3(intruder,P,CE,
enc(skey(CO,rand(intruder)),SI)) , nw(S) if c-fkm31(S,C0,SI)
ceq fkm31(S,P,CE,C0,SI) = S if not c-fkm31(S,C0,SI)

-- for fkm32

ceq nw(fkm32(S,P,CE,CI)) =
m3(intruder,P,CE,CI) , nw(S)

if ¢-fkm32(S,CI)

ceq fkm32(S,P,CE,CI) = S if not c-fkm32(S,CI)
¥
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0 0OB

Jdoooddboood
(CafeOBJ)

Invariant

-- Begin Secrecy Theorem

mod INV {

pr(STS)

op si : -> Sign

op ci : -> Cipher

op ms : -> Msg

op cm : -> CipherM

-- declare invariants to prove

op inv-10 : System Msg -> Bool

op inv000 : System Sign -> Bool
op inv010 : System Cipher -> Bool
op inv020 : System Msg -> Bool

op inv030 : System Msg -> Bool

op inv100 : System CipherM -> Bool
op inv200 : System Msg -> Bool

op inv300 : System Msg -> Bool

var
var
var
var
var

eq
eq
eq
eq
eq

eq
eq

eq

CafeOBJ variables to prove

S : System
SI : Sign

CI : Cipher
MS : Msg

CM : CipherM

define invariants to prove

inv-10(S,MS)
inv000(S,SI)
inv010(S,CI)
inv020(S,MS)
inv030(S,MS)

inv100(S,CM)
inv200(S,MS)

inv300(S,MS)

MS \in nw(S) and m1?7(MS) and not(creator(MS) =
implies pr(rand(co(MS))) = creator(MS)

SI \in csi(nw(S)) implies pr(rand(co(SI))) = pr(SI)

CI \in cci(nw(S)) implies pr(rand(co(sign(CI)))) = pr(sign(CI))
MS \in nw(S) and m2?(MS) and not(pr(sign(ci(MS))) = intruder)
implies pr(rand(co(sign(ci(MS))))) = pr(sign(ci(MS)))

MS \in nw(S) and m37(MS) and not(pr(sign(ci(MS))) = intruder)
implies pr(rand(co(sign(ci(MS))))) = pr(sign(ci(MS)))

CM \in ccm(nw(S)) implies (for(CM) = intruder)

MS \in nw(S) and m47(MS) and

not(creator(MS) = intruder) and

not(for(cm(MS)) = intruder) implies

for(cm(MS)) = pr(rand(com(key(cm(MS)))))

MS \in nw(S) and m57(MS) and

not(creator(MS) = intruder) and

not(for(cm(MS)) = intruder) implies

for(cm(MS)) = pr(rand(com(key(cm(MS)))))

intruder)
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mod

pr(

ISTEP {
INV)

-- arbitrary objects

ops

op
op
op
op
op
op
op
op

var
var
var
var

eq
eq
eq
eq
eq
eq
eq
eq

s s’ 1 =>

System

declare predicates to prove in induction step

istep-10
istep000
istep010
istep020
istep030
istep100
istep200
istep300

: Msg -> Bool

: Sign -> Bool
: Cipher -> Bool
: Msg -> Bool
: Msg -> Bool
: CipherM -> Bool
: Msg -> Bool
: Msg -> Bool

Cafe0BJ variables

SI : Sign
CI : Cipher
MS : Msg
CM : CipherM

define predicates to prove in induction step

istep-10(MS) inv-10(s,MS)
istep000(SI) inv000(s,SI)
istep010(CI) = inv010(s,CI)
istep020(MS) inv020(s,MS)
istep030(MS) inv030(s,MS)
istep100(CM) inv100(s,CM)
istep200(MS) = inv200(s,MS)
istep300(MS) inv300(s,MS)

implies
implies
implies
implies
implies
implies
implies
implies

inv-10(s’,MS)
inv000(s’,SI)
inv010(s’,CI)
inv020(s’,MS)
inv030(s’,MS)
inv100(s’,CM)
inv200(s’,MS)
inv300(s’,MS)
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0 O0C 0010000 (CafeOBJ)

--> inv100

== kR Rk Kok KoK KoK KoK KK o K KoK o Kok ok ok Kok o Kk ok o Kok o K ok o K ko Kok o ok ok K ok
-- I) Base Case

open INV .
red inv100(init,cm)
close

-- II) Inductive case

—=> skkskokskokskoksok ok ok ok kokokskoksk ko skok ok skokskoksk sk ksk ok skokskkokskokskokok ok sk ok skok sk sk ok sk
--> 1) mesi(s,p10,p20,pal0)

open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

op pal0 : -> Parameter .

—-- successor state

eq s’ = mesl1(s,pl0,p20,pall)

-- check if the principal is true
red istep100(cm)

close

--> 2) mes2(s,p20,p10,m10)

-- 2.1) c-mes2(s,p20,p10,m10)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

op m10 : -> Msg .

-- assumption

eq c-mes2(s,p20,p10,m10) = true .
—-- successor state

eq s’ = mes2(s,p20,p10,m10)

-- check if the principal is true
red istep100(cm)

close

-- 2.2) not c-mes2(s,p20,p10,m10)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

op m10 : -> Msg .

-- assumption

eq c-mes2(s,p20,p10,m10) = false .
-- successor state

eq s’ = mes2(s,p20,p10,m10)

-- check if the principal is true
red istep100(cm)

close

--> 3) mes3(s,p10,p20,m10,m20)
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-- 3.1) c-mes3(s,pl10,p20,m10,m20)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m10 m20 : -> Msg .

-- assumption

eq c-mes3(s,pl10,p20,m10,m20) = true .
-- successor state

eq s’ = mes3(s,pl10,p20,m10,m20)
-- check if the principal is true
red istep100(cm)

close

-- 3.2) not c-mes3(s,p10,p20,m10,m20)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m10 m20 : -> Msg .

-- assumption

eq c-mes3(s,pl0,p20,m10,m20) = false
—-- successor state

eq s’ = mes3(s,p10,p20,m10,m20)

-- check if the principal is true
red istep100(cm)

close

--> 4) mes4(s,p10,p20,m10,m20)

-- 4.1) c-mes4(s,p10,p20,m10,m20)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops mi0 m20 : -> Msg .

-- assumption

eq c-mes4(s,p10,p20,m10,m20) = true .

eq (cm = enc(p20,skey(co(m20),rand(co(mi0))))) = false .

-- successor state

eq s’ = mes4(s,pl0,p20,m10,m20)
-- check if the principal is true
red istep100(cm)

close

open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m10 m20 : -> Msg .

-- assumption

eq c-mes4(s,p10,p20,m10,m20) = true .

eq cm = enc(p20,skey(co(m20),rand(co(m10))))
eq rsk(skey(co(m20),rand(co(m10)))) = false .
—-- successor state

eq s’ = mes4(s,pl0,p20,m10,m20)

-- check if the principal is true

red istep100(cm)

close

open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m10 m20 : -> Msg .

-- assumption

eq c-mes4(s,p10,p20,m10,m20) = true .
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eq cm = enc(p20,skey(co(m20),rand(co(mi0))))

-- eq rsk(skey(co(m20),rand(co(mi0)))) = true .
eq pr(rand(co(m20))) = intruder .

-- from c-mes4(s,p10,p20,m10,m20) = true .
eq m20 \in nw(s) and m2?7(m20) = true

eq pr(sign(ci(m20))) = p20 .

eq co(sign(ci(m20))) = co(m20)

-- set hypothesis

op hi0 : -> Bool .

eq h10 = (pr(rand(co(sign(ci(m20))))) = pr(sign(ci(m20))))
-- red pr(rand(co(sign(ci(m20)))))
-- *x result : intruder

-- red pr(sign(ci(m20)))

-- *x result : p20

-- if h10 then (p20 = intruder)

-- red inv020(s,m20) implies h10 .
-- %% result : true

- ==>

eq p20 = intruder .

—-- successor state

eq s’ = mes4(s,p10,p20,m10,m20)

-- check if the principal is true
red istep100(cm)

close

-- 4.2) not c-mes3(s,p10,p20,m10,m20)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m10 m20 : -> Msg .

-- assumption

eq c-mes4(s,p10,p20,m10,m20) = false
—-- successor state

eq s’ = mes4(s,p10,p20,m10,m20)

-- check if the principal is true
red istep100(cm)

close

--> 5) mes5(s,p20,p10,m20,m30)

-- 5.1) c-mes5(s,p20,p30,m20,m30)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m20 m30 : -> Msg .

-- assumption

eq c-mes5(s,p20,p10,m20,m30) = true .
eq (cm = enc(pl0,skey(ci(m20)))) = false .
—-- successor state

eq s’ = mes5(s,p20,p10,m20,m30)

-- check if the principal is true
red istep100(cm)

close

open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m20 m30 : -> Msg .

-- assumption

eq c-mes5(s,p20,p10,m20,m30) = true .
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eq cm = enc(pl0,skey(ci(m20)))

eq rsk(skey(ci(m20))) = false .
—-- successor state

eq s’ = mes5(s,p20,p10,m20,m30)
-- check if the principal is true
red istep100(cm)

close

open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m20 m30 : -> Msg .

-- assumption

eq c-mes5(s,p20,p10,m20,m30) = true .

eq cm = enc(pl0,skey(ci(m20)))

-- eq rsk(skey(ci(m20))) = true .
eq pr(rand(com(skey(ci(m20))))) = intruder .

-- from c-mes5(s,p20,p10,m20,m30) = true .
eq m30 \in nw(s) and m3?7(m30) = true

eq pr(sign(ci(m30))) = pl0 .

eq co(sign(ci(m30))) = com(skey(ci(m20)))

-- set hypothesis

op hi0 : -> Bool .

eq h10 = (pr(rand(co(sign(ci(m30))))) = pr(sign(ci(m30))))
-- red pr(rand(co(sign(ci(m30)))))
-- %% result : intruder

-- red pr(sign(ci(m30)))

-- *x result : pl0

-- if h10 then (p10 = intruder)

-- red inv030(s,m30) implies h10 .
-- *x result : true

- ==>

eq pl0 = intruder .

-- successor state

eq s’ = mes5(s,p20,p10,m20,m30)

-- check if the principal is true
red istep100(cm)

close

-- 5.2) not c-mes5(s,p20,p10,m20,m30)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops m20 m30 : -> Msg .

-- assumption

eq c-mes5(s,p20,p10,m20,m30) = false
-- successor state

eq s’ = mesb5(s,p20,p10,m20,m30)

-- check if the principal is true
red istep100(cm)

close

--> 6) fkm11(s,p10,p20,pall,pa20)
open ISTEP .

-- arbitrary object

ops pl0 p20 : -> Principal .

ops pal0 pa20 : -> Parameter .

—-- successor state
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eq

s’ = fkm11(s,p10,p20,pal0,pa20)
check if the principal is true

red istep100(cm)
close

--> 7) fkm12(s,p10,p20,pal0,co010)

7.1) c-fkmi12(s,co010)

open ISTEP .

arbitrary object

ops pl0 p20 : -> Principal .

op
op

eq

eq

pal0 : -> Parameter .
col0 : -> Component
assumption

c-fkm12(s,co010) = true .
successor state

s’ = fkm12(s,p10,p20,pal0,col0)
check if the principal is true

red istep100(cm)
close

7.2) not c-fkm12(s,col0)

open ISTEP .

arbitrary object

ops pl0 p20 : -> Principal .

op
op

eq

eq

pal0 : -> Parameter .
col0 : -> Component
assumption

c-fkm12(s,co0l0) = false .
successor state

s’ = fkm12(s,p10,p20,pal0,co0l0)
check if the principal is true

red istep100(cm)
close

--> 8) fkm211(s,p10,pal0,cel0,c010,si10)

8.1) c-fkm211(s,co010,si10)

open ISTEP .

op
op
op
op
op

eq

eq

arbitrary object
pl0 : -> Principal

pal0 : -> Parameter .

cel0 : -> Certificate

col0 : -> Component

si1l0 : -> Sign .

assumption
c-fkm211(s,co010,si10) = true .

successor state
s’ = fkm211(s,p10,pal0,cel0,c010,s1i10)
check if the principal is true

red istep100(cm)
close

8.2) not c-fkm211(s,m10,c010,s5110)

open ISTEP .

op
op
op
op
op

eq

arbitrary object
pl0 : -> Principal

pal0 : -> Parameter .
cel0 : -> Certificate
col0 : -> Component
sil0 : -> Sign .
assumption

c-fkm211(s,co010,si10) = false .
successor state
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eq s’ = fkm211(s,p10,pal0,cel0,c010,s1i10)
-- check if the principal is true

red istep100(cm)

close

--> 9) fkm212(s,p10,c010,cel0,c020,si10)
-- 9.1) c-fkm212(s,c010,c020,s5110)

open ISTEP

-- arbitrary object

op pl0 : -> Principal

op cel0 : -> Certificate

op sil0 : -> Sign .

ops co10 co20 : -> Component

-- assumption

eq c-fkm212(s,c010,c020,si10) = true

-- successor state

eq s’ = fkm212(s,p10,c010,cel10,c020,s110)
-- check if the principal is true

red istep100(cm)

close

-- 9.2) not c-fkm212(s,c010,c020,5110)
open ISTEP

-- arbitrary object

op pl0 : -> Principal

op cel0 : -> Certificate

op sil0 : -> Sign .

ops col0 co20 : -> Component

-- assumption

eq c-fkm212(s,c010,c020,si10) = false
—-- successor state

eq s’ = fkm212(s,p10,c010,cel0,c020,s110)
-- check if the principal is true

red istep100(cm)

close

--> 10) fkm221(s,p10,pal0,cel0,cil0)
-- 10.1) c-fkm221(s,cil0)

open ISTEP

-- arbitrary object

op pl0 : -> Principal

op pal0 : -> Parameter
op cel0 : -> Certificate
op cil0 : -> Cipher

-- assumption

eq c-fkm221(s,cil0) = true

-- successor state

eq s’ = fkm221(s,p10,pal0,cel0,cil0)
-- check if the principal is true
red istep100(cm)

close

-- 10.2) not c-fkm221(s,m10,cil0)
open ISTEP

-- arbitrary object

op pl0 : -> Principal

op pal0 : -> Parameter
op cel0 : -> Certificate
op cil0 : -> Cipher

-- assumption

eq c-fkm221(s,ci10) = false
—-- successor state

85



eq s’ = fkm221(s,p10,pal0,cel0,cill)
-- check if the principal is true
red istep100(cm)

close

--> 11) fkm222(s,p10,co010,cel0,cil0)
-- 11.1) c-fkm222(s,c010,cil0)

open ISTEP

-- arbitrary object

op pl0 : -> Principal

op col0 : -> Component

op cel0 : -> Certificate

op cil0 : -> Cipher

-- assumption

eq c-fkm222(s,co010,cil0) = true

—-- successor state

eq s’ = fkm222(s,p10,co010,cel0,cil0)
-- check if the principal is true
red istep100(cm)

close

-- 11.2) not c-fkm222(s,co010,cil0)
open ISTEP

-- arbitrary object

op pl0 : -> Principal

op col0 : -> Component

op cel0 : -> Certificate

op cil0 : -> Cipher

-- assumption

eq c-fkm222(s,co010,cil0) = false
—-- successor state

eq s’ = fkm222(s,p10,co010,cel0,cil0)
-- check if the principal is true
red istep100(cm)

close

--> 12) fkm31(s,p10,cel0,c010,si10)
--12.1) c¢-fkm310(s,c010,s5110)

open ISTEP

-- arbitrary object

op pl0 : -> Principal

op cel0 : -> Certificate

op col0 : -> Component
op sil0 : -> Sign .
-- assumption

eq c-fkm31(s,c010,si10) = true

—-- successor state

eq s’ = fkm31(s,p10,cel0,c010,si10)
-- check if the principal is true
red istep100(cm)

close

-- 12.2) not c-fkm31(s,co010,si10)
open ISTEP

-- arbitrary object

op pl0 : -> Principal

op cel0 : -> Certificate

op col0 : -> Component
op sil0 : -> Sign .
-- assumption

eq c-fkm31(s,co010,si10) = false
—-- successor state

86



eq s’ = fkm31(s,p10,cel0,c010,s110)
-- check if the principal is true
red istep100(cm)

close .

--> 13) fkm32(s,p10,cel0,cil0)
-- 13.1) c-fkm32(s,cil0)

open ISTEP .

-- arbitrary object

op pl0 : -> Principal

op cel0 : -> Certificate
op cil0 : -> Cipher .
-- assumption

eq c-fkm32(s,cil0) = true .

-- successor state

eq s’ = fkm32(s,p10,cel0,cil0)

-- check if the principal is true
red istep100(cm)

close

-- 13.2) not c-fkm32(s,cil0)
open ISTEP .

-- arbitrary object

op pl0 : -> Principal

op cel0 : -> Certificate

op cil0 : -> Cipher .

-- assumption

eq c-fkm32(s,cil0) = false .
—-- successor state

eq s’ = fkm32(s,p10,cel0,cil0)
-- check if the principal is true
red istep100(cm)

close
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00D STSOOOODDOO (Coq)

(* STS protocol *)

Require PolyList.

(x 00000 %

Inductive Principal : Set :=
intruder : Principal

| P : nat -> Principal.

(x» 00000000 %

Inductive Param : Set :=
PA : nat -> Param .

(x» 00000 %

Inductive Randum : Set :=
RAND : Principal -> Randum.

(x» 0000000 %

Section Components.

Inductive Component : Set :=
COMP : Param -> Randum -> Component.

Definition whoz_com [CO:Component] :=
Cases CO of (COMP _ (RAND p)) => p end.

End Components.

(x OOO0OO0OOOOoOoo =)
Section Session.

Inductive Skey : Set :=
SKEY : Component -> Randum -> Skey.

Definition key_for [SK:Skey] :=
Cases SK of (SKEY co _) => (whoz_com co) end.

Definition rsk [SK:Skey] : Prop := (key_for SK) = intruder.

End Session.

(x* OOO0OO0O =)

Inductive Certificate : Set :=
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CERT : Principal -> Param -> Certificate.

(x» 00000 *)
Inductive Sign : Set :=
SIGN : Principal -> Component -> Sign.
(000000 %
Section Ciphers.

Inductive Cipher : Set :=
ENC : Skey -> Sign -> Cipher.

Definition skey [C:Cipher] :=
Cases C of (ENC x _) => x end.

End Ciphers.

(x» 00D00D0O00
Section Cipherls.

Inductive CipherM : Set :=
ENCM : Principal -> Skey -> CipherM.

Definition for [CM:CipherM] :=
Cases CM of (ENCM x _) => x end.

Definition skey2 [CM:CipherM] :=
Cases CM of (ENCM _ y) => y end.

End CipherMs.

(* 00000000 %)

Inductive Msg : Set :=
M1 : Principal -> Principal -> Principal ->
Param -> Component -> Msg
| M2 : Principal -> Principal -> Component ->
Certificate -> Cipher -> Msg
| M3 : Principal -> Principal -> Certificate -> Cipher -> Msg
| M4 : Principal -> CipherM -> Msg
| M6 : Principal -> CipherM -> Msg.

(x OOO0OO0OOOOoOoo =)
Section networks.

Definition Network := (list Msg).
Definition ColComp (list Component).
Definition ColSign := (list Sign).
Definition ColCipher := (list Cipher).
Definition ColCipherM := (list CipherM).

Inductive cco : Component -> Network -> Prop :=
ccol : (co:Component;n:Network;m:nat;pl,p2:Principal;pa:Param)
(cco co (cons (M1 (P m) pl p2 pa co) n))
cco2 : (col,co2:Component;n:Network;pl,p2,p3:Principal;pa:Param)
(cco col n) -> “col=co2
-> (cco col (cons (M1 pl p2 p3 pa co2) n))
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| cco3 : (co:Component;n:Network;m:nat;p:Principal;ce:Certificate;c:Cipher)
(cco co (cons (M2 (P m) p co ce c) n))
| ccod : (col,co2:Component;n:Network;pl,p2:Principal;ce:Certificate;c:Cipher)
(cco col n) -> “col=co2
-> (cco col (cons (M2 pl p2 co2 ce c) n))
| cco5 : (co:Component;n:Network;pl,p2:Principal;ce:Certificate;c:Cipher)
(cco co n)
=> (cco co (cons (M3 pl p2 ce c) n))
ccob : (co:Component;n:Network;p:Principal;cm:CipherM)
(cco co n)
-> (cco co (cons (M4 p cm) n))
cco7 : (co:Component;n:Network;p:Principal;cm:CipherM)
(cco co n)
-> (cco co (cons (M5 p cm) n)).

Inductive csi : Sign -> Network -> Prop :=
csil : (si:Sign;n:Network;m:nat;pl,p2,p3:Principal;pa:Param;co:Component)
(csi si n)
-> (csi si (cons (M1 pl p2 p2 pa co) n))
csi2 : (si:Sign;n:Network;m:nat;p:Principal;co:Component;ce:Certificate)
(sk:Skey)
(rsk sk)
-> (csi si (cons (M2 (P m) p co ce (ENC sk si)) n))
csi3 : (sil,si2:Sign;n:Network;m:nat;pl,p2:Principal;co:Component)
(ce:Certificate;sk:Skey)
(csi sil n) -> “sil=si2
-> (csi sil (cons (M2 pl p2 co ce (ENC sk si2)) n))
| csi4 : (si:Sign;n:Network;m:nat;p:Principal;ce:Certificate;sk:Skey)
(rsk sk)
-> (csi si (cons (M3 (P m) p ce (ENC sk si)) n))
csib : (sil,si2:Sign;n:Network;m:nat;pl,p2:Principal;ce:Certificate)
(sk:Skey)
(csi sil n) -> "sil=si2
-> (csi sil (cons (M3 pl p2 ce (ENC sk si2)) n))
| csi6 : (si:Sign;n:Network;p:Principal;cm:CipherM)
(csi si n)
-> (csi si (cons (M4 p cm) n))
csi7 : (si:Sign;n:Network;p:Principal;cm:CipherM)
(csi si n)
-> (csi si (cons (M5 p cm) n)).

Inductive cci : Cipher -> Network -> Prop :=
ccil : (c:Cipher;n:Network;m:nat;pl,p2,p3:Principal;pa:Param;co:Component)
(cci ¢ n)
-> (cci ¢ (cons (M1 pl p2 p2 pa co) n))
cci2 : (c:Cipher;n:Network;m:nat;p:Principal;co:Component;ce:Certificate)
“(rsk (skey c))
-> (cci ¢ (cons (M2 (P m) p co ce ¢) n))
cci3 : (c1,c2:Cipher;n:Network;m:nat;pl,p2:Principal;co:Component)
(ce:Certificate)
(cci ¢l n) => “cil=c2
-> (cci ¢l (cons (M2 pl p2 co ce ¢2) n))
cci4 : (c:Cipher;n:Network;m:nat;p:Principal;ce:Certificate)
“(rsk (skey c))
-> (cci ¢ (cons (M3 (P m) p ce ¢) n))
ccib : (c1,c2:Cipher;n:Network;m:nat;pl,p2:Principal;ce:Certificate)
(cci ¢l n) => “cl=c2
-> (cci c1 (cons (M3 pl p2 ce c2) n))
| cci6 : (c:Cipher;n:Network;p:Principal;cm:CipherM)
(cci ¢ n)
-> (cci ¢ (cons (M4 p cm) n))
cci7 : (c:Cipher;n:Network;p:Principal;cm:CipherM)
(cci ¢ n)
-> (cci ¢ (cons (M5 p cm) n)).
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Inductive ccm : CipherM -> Network -> Prop :=
ceml : (cm:CipherM;n:Network;m:nat;pl,p2,p3:Principal;pa:Param;co:Component)
(cecm cm n)
-> (cem cm (cons (M1 pl p2 p2 pa co) n))
ccm2 : (cm:CipherM;n:Network;m:nat;pl,p2:Principal;co:Component)
(ce:Certificate;c:Cipher)
(cecm cm n)
-> (ccm cm (cons (M2 pl p2 co ce c¢) n))
| cem3 : (cm:CipherM;n:Network;m:nat;pl,p2:Principal;ce:Certificate;c:Cipher)
(cecm cm n)
=> (cem cm (cons (M3 pl p2 ce c¢) n))
ccm4 : (cm:CipherM;n:Network;p:Principal)
(rsk (skey2 cm))
-> (ccm cm (cons (M4 p cm) n))
| cem5 : (eml,cm2:CipherM;n:Network;p:Principal)
(cem ecml n) -> “cml=cm2
-> (ccm cml (cons (M4 p cm2) n))
| ccm6 : (cm:CipherM;n:Network;p:Principal)
(rsk (skey2 cm))
-> (cem cm (cons (M5 p cm) n))
ccm7 : (cml,cm2:CipherM;n:Network;p:Principal)
(cem ecml n) -> “cml=cm2
-> (ccm cml (cons (M5 p cm2) n)).

End networks.

(* STS *)
Section STSs.

Inductive System : Set :=
init : System
| mesl : System -> Principal -> Principal -> Param -> System
| mes2 : System -> Principal -> Principal -> Param -> Component ->
System
| mes3 : System -> Principal -> Principal -> Param -> Component ->
Component -> System
| mes4 : System -> nat -> Principal -> Param -> Component ->
Component -> System
| mesb : System -> nat -> Principal -> Param -> Component ->
Component -> System
fkmll : System -> Principal -> Principal -> Param -> Param -> System
fkm12 : System -> Principal -> Principal -> Param -> Component ->
System
fkm211 : System -> Principal -> Param -> Certificate -> Component ->
Sign -> System
fkm212 : System -> Principal -> Component -> Certificate -> Component ->
Sign -> System
fkm221 : System -> Principal -> Param -> Certificate -> Cipher ->

System
| fkm222 : System -> Principal -> Component -> Certificate -> Cipher ->
System
| fkm31 : System -> Principal -> Certificate -> Component -> Sign ->
System

fkm32 : System -> Principal -> Certificate -> Cipher -> System.

Definition cmes2
[n:Network;pl,p2:Principal;pa:Param;co:Component] : Prop :=
(EX Q:Principal | (In (M1 Q pl p2 pa co) n)).

Definition cmes3

[n:Network;pl,p2:Principal;pa:Param;col,co2:Component] : Prop :=
(In (M1 p1 pl p2 pa col) n) /\
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(EX Q:Principal | (EX R:Randum |
(In (M2 Q pl co2 (CERT p2 pa) (ENC (SKEY col R) (SIGN p2 co2))) n))).

Definition cmes4
[n:Network;m:nat;p:Principal;pa:Param;col,co2:Component] : Prop :=
(In (M1 (P m) (P m) p pa col) n) /\

(EX Q:Principal | (EX R:Randum |

(In (M2 Q (P m) co2 (CERT p pa) (ENC (SKEY col R) (SIGN p co02))) n))).

Definition cmesb
[n:Network;m:nat;p:Principal;pa:Param;col,co2:Component] : Prop :
(In (M2 (P m) p col (CERT (P m) pa)

(ENC (SKEY co2 (RAND (P m))) (SIGN (P m) col))) n) /\
(EX Q:Principal | (EX R:Randum |
(In (M3 Q (P m) (CERT p pa) (ENC (SKEY col R) (SIGN p co2))) n))).

Definition cfkml2 [n:Network;co:Component] : Prop := (cco co n).

Definition cfkm211 [n:Network;co:Component;si:Sign] : Prop :=
(cco co n) /\ (csi si n).

Definition cfkm212
[n:Network;col,co2:Component;si:Sign] : Prop :=
(cco col n) /\ (cco co2 n) /\ (csi si n).

Definition cfkm221 [n:Network;c:Cipher] : Prop := (cci ¢ n).

Definition cfkm222 [n:Network;co:Component;c:Cipher] : Prop :=
(cco co n) /\ (cci ¢ n).

Definition cfkm31 [n:Network;co:Component;si:Sign] : Prop :=
(cco co n) /\ (csi si n).

Definition cfkm32 [n:Network;c:Cipher] : Prop := (cci ¢ n).

Inductive nw : System -> Network -> Prop :=
nw_init : (nw init (nil Msg))
| nw_mesl : (s:System;n:Network;pl,p2:Principal;pa:Param)
(nw s n)
-> (nw (mesl s pl p2 pa)
(cons (M1 pi p1l p2 pa (COMP pa (RAND p1))) n))
| nw_mes2a : (s:System;n:Network;pl,p2:Principal;pa:Param;co:Component)
(nw s n) -> (cmes2 n pl p2 pa co) ->
(nw (mes2 s pl p2 pa co)
(cons (M2 p2 p1 (COMP pa (RAND p2)) (CERT p2 pa)
(ENC (SKEY co (RAND p2))
(SIGN p2 (COMP pa (RAND p2))))) n))
nw_mes2b : (s:System;n:Network;pl,p2:Principal;pa:Param;co:Component)
(nw s n) -> “(cmes2 n pl p2 pa co) ->
(nw (mes2 s pl p2 pa co) n)
| nw_mes3a : (s:System;n:Network;pl,p2:Principal)
(pa:Param;col,co2:Component)
(nw s n) -> (cmes3 n pl p2 pa col co2) ->
(nw (mes3 s pl p2 pa col co2)
(cons (M3 pl p2 (CERT pl pa)
(ENC (SKEY co2 (RAND p1)) (SIGN pl col))) n))
nw_mes3b : (s:System;n:Network;pl,p2:Principal)
(pa:Param;col,co2:Component)
(nw s n) -> “(cmes3 n pl p2 pa col co2) ->
(nw (mes3 s pl p2 pa col co2) n)
nw_mesé4a : (s:System;n:Network;m:nat;p:Principal)
(pa:Param;col,co2:Component)
(nw s n) -> (cmes4 nm p pa col co2) ->
(nw (mes4 s m p pa col co2)
(cons (M4 (P m) (ENCM p (SKEY co2 (RAND (P m))))) n))
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nw_meséb :

nw_mesba :

nw_mesbb :

nw_fkmil

->

nw_fkmi2a :

nw_fkmi2b :

nw_fkm211la :

nw_fkm211b :

nw_fkm212a :

nw_£fkm212b :

nw_fkm221a :

nw_£fkm221b :

nw_fkm222a :

nw_£fkm222b :

nw_fkm31la :

(s:System;n:Network;m:nat;p:Principal)

(pa:Param;col,co2:Component)

(nw s n) -> “(cmes4 n m p pa col co2) ->

(nw (mes4 s m p pa col co2) n)

(s:System;n:Network;m:nat;p:Principal)

(pa:Param;col,co2:Component)

(nw s n) -> (cmes5 n m p pa col co2) ->

(nw (mes5 s m p pa col co2)

(cons (M5 (P m) (ENCM p (SKEY co2 (RAND (P m))))) n))

(s:System;n:Network;m:nat;p:Principal)

(pa:Param;col,co2:Component)

(nw s n) -> “(cmesb n m p pa col co2) ->

(nw (mes5 s m p pa col co2) n)

(s:System;n:Network;pl,p2:Principal;pal,pa2:Param)

(nw s n)

(nw (fkm1l s pl p2 pal pa2)

(cons (M1 intruder pl p2 pal (COMP pa2 (RAND intruder))) n))
(s:System;n:Network;pl,p2:Principal;pa:Param;co:Component)

(nw s n) -> (cfkml2 n co) ->

(nw (fkm12 s pl p2 pa co)

(cons (M1 intruder pl p2 pa co) n))
(s:System;n:Network;pl,p2:Principal;pa:Param;co:Component)

(nw s n) -> “(cfkml2 n co) ->

(nw (fkm12 s pl p2 pa co) n)

(s:System;n:Network;p:Principal;pa:Param;ce:Certificate)

(co:Component ;si:Sign)

(ow s n) -> (cfkm211 n co si) ->

(nw (fkm211 s p pa ce co si)

(cons (M2 intruder p (COMP pa (RAND intruder)) ce

(ENC (SKEY co (RAND intruder)) si)) n))

(s:System;n:Network;p:Principal;pa:Param;ce:Certificate)

(co:Component ;si:Sign)

(ow s n) -> “(cfkm211 n co si) ->

(nw (fkm211 s p pa ce co si) n)

(s:System;n:Network;p:Principal;ce:Certificate)

(col,co2:Component;si:Sign)

(nw s n) -> (cfkm212 n col co2 si) ->

(nw (fkm212 s p col ce co2 si)

(cons (M2 intruder p col ce

(ENC (SKEY co2 (RAND intruder)) si)) n))

(s:System;n:Network;p:Principal;ce:Certificate)

(col,co2:Component;si:Sign)

(ow s n) -> “(cfkm212 n col co2 si) ->

(nw (fkm212 s p col ce co2 si) n)

(s:System;n:Network;p:Principal;pa:Param;ce:Certificate)

(c:Cipher)

(ow s n) -> (cfkm221 n ¢) ->

(nw (fkm221 s p pa ce c)

(cons (M2 intruder p (COMP pa (RAND intruder)) ce c) n))

(s:System;n:Network;p:Principal;pa:Param;ce:Certificate)

(c:Cipher)

(ow s n) -> “(cfkm221 n ¢c) ->

(nw (fkm221 s p pa ce c) n)

(s:System;n:Network;p:Principal;co:Component)

(ce:Certificate;c:Cipher)

(ow s n) -> (cfkm222 n co c) ->

(nw (fkm222 s p co ce c¢) (cons (M2 intruder p co ce c) n))

(s:System;n:Network;p:Principal;co:Component)

(ce:Certificate;c:Cipher)

(nw s n) -> “(cfkm222 n co ¢) -> (nw (fkm222 s p co ce c) n)
(s:System;n:Network;p:Principal;ce:Certificate)
(co:Component;si:Sign)

(ow s n) -> (cfkm31 n co si) ->

(nw (fkm31 s p ce co si)

(cons (M3 intruder p ce

(ENC (SKEY co (RAND intruder)) si)) n))
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| nw_fkm31b :

nw_fkm32a :

nw_fkm32b :

End STSs.

(s:

System;n:Network;p:Principal;ce:Certificate)

(co:Component;si:Sign)

(nw
(nw

(s:
(c:

(nw
(nw

(s:
(c:

(nw

s n) -> “(cfkm31 n co si) ->

(fkm31 s p ce co si) n)
System;n:Network;p:Principal;ce:Certificate)
Cipher)

s n) -> (cfkm32 n c) ->

(fkm32 s p ce c¢) (cons (M3 intruder p ce c) n))
System;n:Network;p:Principal;ce:Certificate)
Cipher)

s n) -> “(cfkm32 n ¢) -> (nw (fkm32 s p ce ¢) n).
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0 OE 0DDOO0O00O0O0O0O00 (Coq)

(* 00000000 %)

Theorem invi00 : (s:System)(n:Network;cm:CipherM)
(nw s n) /\ (ccm cm n)
-> (for cm) = intruder.

(* 00000000 %)

Theorem inv200 : (s:System)(n:Network;m,l:nat;sk:Skey)
(aw s n) /\ (In (M4 (P m) (ENCM (P 1) sk)) n)
-> (P 1) = (key_for sk).

Theorem inv300 : (s:System)(n:Network;m,l:nat;sk:Skey)
(nw s n) /\ (In (M5 (P m) (ENCM (P 1) sk)) n)
-> (P 1) = (key_for sk).

(= 00O %)

Lemma inv030 : (s:System) (n:Network;pl,p2:Principal;m:nat)
(co:Component;ce:Certificate;sk:Skey)

(nw s n) /\ (In (M3 p1l p2 ce (ENC sk (SIGN (P m) co))) n)
-> (P m) = (whoz_com co).

Lemma inv020 : (s:System) (n:Network;pl,p2:Principal;m:nat)
(col,co2:Component;ce:Certificate;sk:Skey)

(nw s n) /\ (In (M2 p1l p2 col ce (ENC sk (SIGN (P m) co02))) n)
-> (P m) = (whoz_com co2).

Lemma inv010 : (s:System) (n:Network;sk:Skey;p:Principal;co:Component)
(nw s n) /\ (cci (ENC sk (SIGN p co)) n)
-> p = (whoz_com co).

Lemma inv000 : (s:System) (n:Network;p:Principal;co:Component)
(nw s n) /\ (csi (SIGN p co) n)
-> p = (whoz_com co).

Lemma invmlO : (s:System)(n:Network;m:nat;p:Principal)
(pa:Param;co:Component)

(nw s n) /\ (In (M1 (P m) (P m) p pa co) n)

-> (P m) = (whoz_com co).

Lemma prin_rule : (p:Principal)
{p=intruder}+{(EX m:nat | p=(P m))2}.
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0 0OF 0010000 (Coq)

(* ==> inv100 *)

Intro.
Induction s.

(* 3k 3k 3k 3k 3k 3k >k 3k >k 3k 3k >k 3k >k 3k 3k >k 3k >k 3k 3k >k 3k %k 3k >k 3k %k 3k >k 5k >k 3k 3k 3k 5k >k 3k >k 3k %k 3k %k % %k %k %k %k k k *)
(* (1) Base Case *)

Intros.

Decompose [and] H;Clear H.
Inversion HO.

Rewrite <- H2 in H1l;Clear H2.
Inversion_clear Hi.

(* (2) Inductive case *)
(% sokskokokokok ook ko ok ko ok ok ok ok sk skok ok ok sk ookok ok ko kok ok okokokok k)

(* (i) (mesl s p pO pl) *)

Intros.

Decompose [and] H;Clear H.

Inversion HO;Clear HO H H3 H4 H5 sO p2 p3 pa.
Rewrite <- H2 in H1l;Clear H2.

Inversion_clear Hi1.

Cut (nw s n0) /\ (ccm cm nO).

Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (ii) (mes2 s p pO pl c) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 sO p2 p3 pa co.

(* (i1)-(i) (cmes2 nO p pO pl c) *)

Rewrite <- H3 in H1;Clear H3.
Inversion_clear H1.

Cut (nw s n0) /\ (ccm cm no0).
Intro.

Apply (Hrecs nO cm HO).

Auto.

(*x (i1)-(ii) "(cmes2 nO p pO pl c) *)
Cut (nw s n) /\ (ccm cm n).

Intro.
Apply (Hrecs n cm H).
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Auto.

(* (iii) (mes3 s p pO pl c c0) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 H7 sO p2 p3 pa col co2.

(* (iii)-(i) (cmes3 nO0 p pO pl c cO) *)

Rewrite <- H3 in H1l;Clear H3.
Inversion_clear Hi.

Cut (nw s n0) /\ (ccm cm nO).
Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (i1i)-(ii) “(cmes3 n0 p pO pl c cO) *)

Cut (nw s n) /\ (ccm cm n).
Intro.

Apply (Hrecs n cm H).

Auto.

(* (iv) (mes4 s n p pO0 c c0) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 H7 sO m pl pa col co2.

(* (iv)-(i) (cmes4 nl n p p0 c cO0) *)

Rewrite <- H3 in H1;Clear H3.
Inversion_clear H1.

(*x Case cm=(ENCM p (SKEY cO (RAND (P n)))) *)

Simpl.

Unfold rsk in H.

Simpl in H.

Unfold cmes4 in H9.

Decompose [and] H9;Clear H9.
Inversion_clear H1.

Inversion_clear H2.

Cut {p=intruder}+{(EX m:nat|p=(P m))}.
Intro.

Inversion_clear H2.

(* Case p=intruder *)
Auto.
(*x Case p=(P x1) *)

Inversion_clear H3.
Rewrite <- H;Clear H.
Rewrite H2.
Rewrite H2 in H1;Clear H2.
Cut (nw s n1) /\
(In (M2 x (P n) cO (CERT (P x1) pO) (ENC (SKEY c x0) (SIGN (P x1) c0))) ni1).
Intro.
Apply (inv020 s n1 x (P n) x1 cO cO (CERT (P x1) pO) (SKEY c x0) H).
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Auto.
Apply (prin_rule p).

(*x Case “cm=(ENCM p (SKEY cO (RAND (P n)))) *)

Cut (nw s n1) /\ (ccm cm nl).
Intro.

Apply (Hrecs nl cm H1).

Auto.

(* (iv)-(ii) “(cmes4 nil n p p0 c c0) *)

Cut (nw s n0) /\ (ccm cm no0).
Intro.

Apply (Hrecs nO cm H).

Auto.

(¥ (v) (mesb s n p pO c c0) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 H7 sO m pl pa col co2.

(* (v)-(1i) (cmes5 nl n p p0 ¢ c0) *)

Rewrite <- H3 in H1;Clear H3.
Inversion_clear Hi1.

(* Case cm=(ENCM p (SKEY cO (RAND (P n)))) *)

Simpl.
Unfold rsk in H.
Simpl in H.

Unfold cmes5 in H9.

Decompose [and] H9;Clear H9.
Inversion_clear H1.

Inversion_clear H2.

Cut {p=intruder}+{(EX m:nat|p=(P m))}.
Intro.

Inversion_clear H2.

(* Case p=intruder *)
Auto.
(*x Case p=(P x1) *)

Inversion_clear H3.
Rewrite <- H;Clear H.
Rewrite H2.
Rewrite H2 in H1;Clear H2.
Cut (nw s n1) /\
(In (M3 x (P n) (CERT (P x1) p0) (ENC (SKEY c¢ x0) (SIGN (P x1) c0))) nl).
Intro.
Apply (inv030 s n1 x (P n) x1 cO (CERT (P x1) pO) (SKEY c x0) H).
Auto.
Apply (prin_rule p).

(*x Case “cm=(ENCM p (SKEY cO (RAND (P n)))) *)

Cut (nw s n1) /\ (ccm cm nl).
Intro.
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Apply (Hrecs nl cm H1).
Auto.

(* (v)-(ii) ~“(cmes5 nl n p p0 c c0) *)

Cut (nw s n0) /\ (ccm cm no0).
Intro.

Apply (Hrecs nO cm H).

Auto.

(* (vi) (fkmil s p pO pl p2) *)

Intros.

Decompose [and] H;Clear H.

Inversion HO;Clear HO H H3 H4 H5 H6 sO p3 p4 pal pa2.
Rewrite <- H2 in H1;Clear H2.

Inversion_clear H1.

Cut (nw s n0) /\ (ccm cm no0).

Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (vii) (fkm12 s p p0 pl c) n) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 sO p2 p3 pa co.

(* (vii)=(i) (cfkml2 nO0 c) *)

Rewrite <- H3 in H1l;Clear H3.
Inversion_clear Hi.

Cut (nw s n0) /\ (ccm cm nO).
Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (vii)-(ii) ~(cfkml2 n0 c) *)

Cut (nw s n) /\ (ccm cm n).
Intro.

Apply (Hrecs n cm H).

Auto.

(* (viii) (fkm211 s p pO c c0 s0) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 H7 sl pl pa ce co si.

(* (viii)-(i) (cfkm211 nO cO s0) *)

Rewrite <- H3 in H1;Clear H3.
Inversion_clear Hi.

Cut (nw s n0) /\ (ccm cm nO).
Intro.

Apply (Hrecs nO cm HO).

Auto.
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(* (viii)-(ii) “(cfkm211 n0 cO s0) *)

Cut (nw s n) /\ (ccm cm n).
Intro.

Apply (Hrecs n cm H).

Auto.

(¢ (viiii) (fkm212 s p ¢ cO cl s0) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 H7 sl pO col ce co2 si.

(* (viiii)-(i) (cfkm212 n0 c cl s0) *)

Rewrite <- H3 in H1l;Clear H3.
Inversion_clear Hi.

Cut (nw s n0) /\ (ccm cm nO).
Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (viiii)-(ii) ~(cfkm212 n0 c cl s0) *)

Cut (nw s n) /\ (ccm cm n).
Intro.

Apply (Hrecs n cm H).

Auto.

(* (x) (fkm221 s p p0 c c0) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 sO pl pa ce cl.

(* (x)-(i) (cfkm221 n0 c0) *)

Rewrite <- H3 in H1l;Clear H3.
Inversion_clear Hi1.

Cut (nw s n0) /\ (ccm cm nO).
Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (x)-(ii) “(cfkm221 n0 c0) *)
Cut (nw s n) /\ (ccm cm n).
Intro.

Apply (Hrecs n cm H).
Auto.

(* (xi) (fkm222 s p c cO cl) *)
Intros.

Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 sO pO co ce c2.
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(x (xi)-(i) (cfkm222 n c cl) *)

Rewrite <- H3 in H1l;Clear H3.
Inversion_clear Hi.

Cut (nw s n0) /\ (ccm cm nO).
Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (xi)-(ii) ~(cfkm222 n c cl) *)

Cut (nw s n) /\ (ccm cm n).
Intro.

Apply (Hrecs n cm H).

Auto.

(* (xii) (fkm31 s p c c0 s0) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 H6 sl p0O ce co si.

(* (xii)-(i) (cfkm31 n0 c0 s0) *)

Rewrite <- H3 in H1l;Clear H3.
Inversion_clear Hi1.

Cut (nw s n0) /\ (ccm cm nO).
Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (xii)-(ii) ~“(cfkm31 n0 cO s0) *)

Cut (nw s n) /\ (ccm cm n).
Intro.

Apply (Hrecs n cm H).

Auto.

(* (xiii) (fkm32 s p ¢ c0) *)

Intros.
Decompose [and] H;Clear H.
Inversion HO;Clear HO H H2 H4 H5 sO pO ce cl.

(* (xiii)-(i) (cfkm32 nO c0) *)

Rewrite <- H3 in H1l;Clear H3.
Inversion_clear Hi1.

Cut (nw s n0) /\ (ccm cm nO).
Intro.

Apply (Hrecs nO cm HO).

Auto.

(* (xiii)-(ii) ~(cfkm32 n0 c0) *)
Cut (nw s n) /\ (ccm cm n).

Intro.
Apply (Hrecs n cm H).
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Auto.

Qed.
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[0 OG Bolignanol OO UOOOSTS
Joooooodooon

(* C=CXK | (C,C) | B %)
(* B=K|D]|E *)
(* K = KS | KI *)

Require PolyList.
(0000000 %

(x 00000000 0000O00000 =)

Parameter D: Set.

Parameter K: Set.
Parameter E: Set.
Inductive B: Set := K2B: KX -> B | D2B: D -> B | E2B: E -> B.

(x» 00D00D0O00
Inductive C: Set := Encrypt: C -> K -> C | Pair: C -> C -> C | B2C: B -> C.

(0000 =
Parameter Expo: D -> D -> E.

(= O %)

Parameter KeyAB: E -> D -> K. (x JOOODODO KeyAB *)
Parameter KeyX: D -> K. (x» OO0 KeyX *)
Parameter inv: K -> K. (x OO0 %)

Parameters Aid, Bid: D. (+» OO A,BODOOODO %)

(x 000000 %)
Syntactic Definition Sa := (KeyX Aid).
Syntax constr level 4: SaPP [<<(KeyX Aid)>>] -> ["Sa"].

Syntactic Definition Sb := (KeyX Bid).
Syntax constr level 4: SbPP [<<(KeyX Bid)>>] -> ["Sb"].

(x» 000000 %

Syntactic Definition Pa := (inv (KeyX Aid)).

Syntax constr level 4: PaPP [<<(inv (KeyX Aid))>>] -> ["Pa"].
Syntactic Definition Pb := (inv (KeyX Bid)).

Syntax constr level 4: PbPP [<<(inv (KeyX Bid))>>] -> ["Pb"].
(x 00000000000 %)

(*x 00000000000 0000000000000000 =)

Syntactic Definition SS := (list C).
Syntax constr level 4: SPP [<<(list C)>>] -> ["SS"].
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(x» 000000000 O0O0B000 %

Inductive known_in: C -> SS -> Prop :=
EO: (c1, ¢2: C) (s: SS) (known_in cl1 s) -> (known_in cl1 (cons c2 s))
| EPO: (c: C) (s1, s2: SS) (known_in c s1) -> (known_in c (app sl s2))
| Al: (cl, c2: C) (s: SS)
(known_in c1 s) -> (known_in c2 s) -> (known_in (Pair cl c2) s)
| A2A: (cl, c2: C) (s: SS) (known_in (Pair cl c¢2) s) -> (known_in cl s)
| A2B: (c1, c2: C) (s: SS) (known_in (Pair c1 c2) s) -> (known_in c2 s)
| A3: (cil: C) (k1: K) (s: SS)
((known_in c1 s) -> (known_in (B2C (K2B k1)) s) ->
(known_in (Encrypt cl k1) s))
| A4: (cil: C) (k1: K) (s: SS)
(known_in (Encrypt cl k1) s) -> (known_in (B2C (K2B (inv k1))) s) ->
(known_in cl1 s)
| EXi: (d1, d2: D) (s: SS)
(known_in (B2C (D2B d1)) s) -> “d2=Aid /\ ~d2=Bid ->
(known_in (B2C (E2B (Expo di1 d2))) s)
| EX2: (d1: D) (el: E) (s: 8S)
(known_in (B2C (E2B el)) s) -> ~“di=Aid /\ ~di1=Bid ->
(known_in (B2C (K2B (KeyAB el d1))) s).

(x O0O00OD0OD0O =)

(x A(BY ODOO =)
(x» 0000000 0DO00D AB)ODODODOOOD , 0000000 %
(*» JO0O0O0 A, OO0 EXb(EXa) , DO0ODOO0OO0O W *)

Inductive AState: Set :=
APEXbW : D -> E -> D -> AState.

Inductive BState: Set :=
BPEXaW : D -> E -> D -> BState.

(x OO00D0OO0ODO0O0O00 %)
Inductive GlobalState: Set :=
ABI: AState -> BState -> SS -> GlobalState.

(x» 00000000000 000000 =*)
Definition Triple := [cl, ¢2, ¢3: C] (Pair c1 (Pair c¢2 c3)).
(x J0000000O0O00O00000 *)

Definition rell := [stl, st2: GlobalStatel
Cases stl st2 of (ABI stal stbl s1) (ABI sta2 stb2 s2) =>
Cases stal of (APEXbW pl exbl wil) =>
s2=(cons (Pair (B2C (D2B p1)) (B2C (E2B (Expo pl Aid)))) si1) /\
stal = sta2 /\ stbl = stb2
end
end.

(x 00000000 0000O0O0000 =)

Definition rel2 := [stl, st2: GlobalState]
Cases stl st2 of (ABI stal stbl s1) (ABI sta2 stb2 s2) =>
Cases stbl stb2 of (BPEXaW _ _ wil)
(BPEXaW p2 exa2 w2) =>
(known_in (Pair (B2C (D2B p2)) (B2C (E2B exa2))) si) /\
stal = sta2 /\ s1 = s2 /\
wl = w2
end
end.
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(x 00000000000 0D00O00 =)

Definition rel3 := [stl, st2: GlobalState]
Cases stl st2 of (ABI stal stbl s1) (ABI sta2 stb2 s2) =>
Cases stbl of (BPEXaW pl exal _) =>
s2=(cons (Triple (B2C (E2B (Expo pl Bid))) (B2C (K2B Pb))
(Encrypt
(Encrypt (Pair (B2C (E2B exal))
(B2C (E2B (Expo pl Bid)))) Sb)
(KeyAB exal Bid))) s1) /\
stal = sta2 /\ stbl = stb2
end
end.

(x 00000000000 0O00000 =)

Definition reld := [stl, st2: GlobalStatel
Cases stl st2 of (ABI stal stbl s1) (ABI sta2 stb2 s2) =>
Cases stal sta2 of (APEXbW pl _ _)
(APEXbW p2 exb2 w2) =>
(known_in (Triple (B2C (E2B exb2)) (B2C (X2B Pb))
(Encrypt
(Encrypt (Pair (B2C (E2B (Expo p2 Aid)))
(B2C (E2B exb2))) Sb)
(KeyAB (Expo p2 Aid) w2))) si1) /\
stbl = stb2 /\ s1 = s2 /\
pl = p2
end
end.

(x 00000000000 00O0O00 %)

Definition rel5 := [stl, st2: GlobalState]
Cases stl st2 of (ABI stal stbl s1) (ABI sta2 stb2 s2) =>
Cases stal of (APEXbW pl exbl wl) =>
s2 = (cons (Pair (B2C (K2B Pa))
(Encrypt
(Encrypt (Pair (B2C (E2B (Expo pl Aid)))
(B2C (E2B exbl))) Sa)
(KeyAB exbl Aid))) s1) /\
stal = sta2 /\ stbl = stb2
end
end.

(x 00000000000 0O0O0000 =)

Definition rel6 := [stl, st2: GlobalStatel
Cases stl st2 of (ABI stal stbl s1) (ABI sta2 stb2 s2) =>
Cases stbl stb2 of (BPEXaW pl exal _)
(BPEXaW p2 exa2 w2) =>
(known_in (Pair (B2C (K2B Pa))
(Encrypt
(Encrypt (Pair (B2C (E2B exa2))
(B2C (E2B (Expo p2 Bid)))) Sa)
(KeyAB (Expo p2 Aid) w2))) si1) /\
stal = sta2 /\ sl = s2 /\
pl = p2 /\ exal = exa2
end
end.
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(x 000000000 =)

Definition rel := [stl, st2: GlobalState]
(rell st1l st2) \/ (rel2 stil st2) \/ (rel3d stl st2) \/ (reld stl st2) \/
(relb stl st2) \/ (rel6 stl st2).

(* 0000000 %)
(x JO0D0O0DO0DO0DOOO0O0g =)

Definition CipherM1 := [st: GlobalState]
Cases st of (ABI (APEXbW p exb _) _ _) => exb = (Expo p Bid)
end.

Definition CipherM2 := [st: GlobalState]
Cases st of (ABI _ (BPEXaW p exa _) _) => exa = (Expo p Aid)
end.

(» 00000000000000D0 CipherM1,M2000000 *)

Theorem inv100: (stl:GlobalState)(st2:GlobalState)
(CipherM1 st1) -> (rel stl st2) -> (CipherM1 st2).

Proof.

Induction stl; Intros a b 1; Elim a; Elim b;
Induction st2; Intros a0 bO 10; Elim a0; Elim bO.

Do 6 Intro.

Unfold CipherMi; Unfold rel; Intros expo_bid rell_6.

(*x rell x)

Elim rell_6. Intros rl.

Elim rl1. Intros eq_l0 andl; Elim andl; Intros H t.
Clear rell_6 rl eq_10 andl t.

Inversion H; Rewrite <- H1l; Rewrite <- H2; Assumption.

(x rel2 x)

Intro rel2_6; Elim rel2_6. Intros r2.

Elim r2; Intros know_d3el_1l andl; Elim andl; Intros H and2.
Clear rell_6 rel2_6 r2 know_d3el_l andl and2.

Inversion H; Rewrite <- Hl; Rewrite <- H2; Assumption.

(*x rel3 x)

Intros rel3_6; Elim rel3_6. Intros r3.

Elim r3; Intros eq_10 andl; Elim andl; Intros H t.
Clear rell_6 rel2_6 rel3_6 r3 eq_1l0 andl t.

Inversion H; Rewrite <- H1l; Rewrite <- H2; Assumption.

(x reld x)

Intros rel4_6; Elim rel4_6. Intros r4.

Elim r4; Intros know_cl_1l andl; Elim andl; Intros tl and2; Elim and2.
Intros t2 t3. Clear rell_6 rel2_6 rel3_6 reld4_6 r4 andl and2 t1 t2 t3.
Elim know_cl_1; Intros; Assumption.

(*x relb x)

Intros rel5_6; Elim rel5_6. Intros rb.

Elim r5; Intros eq_10 andl; Elim andl; Intros H t.

Clear rell_6 rel2_6 rel3_6 rel4_6 rel5_6 r5 eq_l1l0 andl t.
Inversion H; Rewrite <- Hl; Rewrite <- H2; Assumption.

(*x rel6 x)

Intros rel6_6; Elim rel6_6.

Intros know_cl_1 andl; Elim andl; Intros H and2.

Clear rell_6 rel2_6 rel3_6 rel4_6 rel5_6 rel6_6 know_cl_1l andl and2.
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Inversion H; Rewrite <- Hl; Rewrite <- H2; Assumption.

Qed.

Theorem inv200: (stl:GlobalState)(st2:GlobalState)
(CipherM2 st1) -> (rel stl st2) -> (CipherM2 st2).

Proof.

Induction stl; Intros a b 1; Elim a; Elim b;
Induction st2; Intros a0 bO 10; Elim a0; Elim bO.

Do 6 Intro.

Unfold CipherM2; Unfold rel; Intros expo_bid rell_6.

(*x rell x)

Elim rell_6. Intros rl.

Elim r1. Intros eq_10 andl; Elim andl; Intros t H.
Clear rell_6 rl eq_10 andl t.

Inversion H; Rewrite <- H1l; Rewrite <- H2; Assumption.

(x rel2 x)

Intro rel2_6; Elim rel2_6. Intros r2.
Elim r2; Intros know_d3el_l andl.
Clear rell_6 rel2_6 r2 andl.

Elim know_d3el_1; Intros; Assumption.

(*x rel3 x)

Intros rel3_6; Elim rel3_6. Intros r3.

Elim r3; Intros eq_10 andl; Elim andl; Intros t H.
Clear rell_6 rel2_6 rel3_6 r3 eq_1l0 andl t.

Inversion H; Rewrite <- Hl; Rewrite <- H2; Assumption.

(x reld x)

Intros rel4_6; Elim rel4_6. Intros r4.

Elim r4; Intros know_cl_l andl; Elim andl; Intros H and2.
Clear rell_6 rel2_6 rel3_6 rel4_6 r4 andl and2.

Inversion H; Rewrite <- H1l; Rewrite <- H2; Assumption.

(*x relb x)

Intros rel5_6; Elim rel5_6. Intros rb.

Elim r5; Intros eq_10 andl; Elim andl; Intros t H.

Clear rell_6 rel2_6 rel3_6 rel4_6 rel5_6 r5 eq_l1l0 andl t.
Inversion H; Rewrite <- Hl; Rewrite <- H2; Assumption.

(x rel6 x)

Intros rel6_6; Elim rel6_6.

Intros know_cl_1l andl; Elim andl; Intros H and2.

Clear rell_6 rel2_6 rel3_6 reld_6 rel5_6 rel6_6 andl and2.
Elim know_cl1_1; Intros; Assumption.

Qed.
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O 0OH 000000000 fun_.nw

type nat =
(]
| S of nat

type ’a sigl = ’a
(* singleton inductive, whose constructor was exist *)

type sumbool
| Left
| Right

type ’a list
| Nil
| Cons of ’a * ’a list

type principal = nat
(* singleton inductive, whose constructor was P *)

type param = nat
(* singleton inductive, whose constructor was PA *)

type randum = principal
(* singleton inductive, whose constructor was RAND *)

type component =
| COMP of param * randum

type skey =
| SKEY of component * randum

type certificate =
| CERT of principal * param

type sign =
| SIGN of principal * component

type cipher =
| ENC of skey * sign

type cipherM =
| ENCM of principal * skey

type msg =
| M1 of principal
M2 of principal

* principal * principal * param * component
*
M3 of principal * principal * certificate * cipher
*
*

principal * component * certificate * cipher

M4 of principal cipherM
M5 of principal cipherM

I

I

I

I
type network = msg list
type system =

| Init
| Mesl of system * principal * principal * param
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Mes2 of system
Mes3 of system
Mes4 of system
Mes5 of system

principal * principal * param * component

principal * principal * param * component * component
nat * principal * param * component * component

nat * principal * param * component * component

* X X ¥

(** val eq_nat : nat -> nat -> sumbool *x)

let rec eq_nat n m =
match n with
| 0 -> (match m with
| 0 -> Left
| 8 n0 -> Right)
| S n0 -> (match m with
| 0 -> Right
| S nl -> eq_nat n0 ni)

(** val eq_Prin : principal -> principal -> sumbool *%*)

let eq_Prin pl p2 =
eq_nat pl p2

(** val eq_Para : param -> param -> sumbool #**)

let eq_Para pl p2 =
eq_nat pl p2

(** val eq_Rand : randum -> randum -> sumbool *%)

let eq_Rand rl1 r2 =
eq_Prin r1 r2

(*x val eq_Comp : component -> component -> sumbool **)

let eq_Comp cl c2 =
let COMP (x, x0) = cl in
let COMP (p0O, x1) = c2 in
(match eq_Para x p0 with
| Left -> eq_Rand x0 x1
| Right -> Right)

(** val eq_Cert : certificate -> certificate -> sumbool *x*)

let eq_Cert cl c2 =
let CERT (x, x0) = cl in
let CERT (pl, x1) = c2 in
(match eq_Prin x pl with
| Left -> eq_Para x0 x1
| Right -> Right)

(*x* val eq_Skey : skey -> skey -> sumbool *x*)

let eq_Skey sl s2 =
let SKEY (x, x0) = sl in
let SKEY (cO, x1) = s2 in
(match eq_Comp x cO with
| Left -> eq_Rand x0 x1
| Right -> Right)

(** val eq_Sign : sign -> sign -> sumbool *x*)

let eq_Sign sl s2 =
let SIGN (x, x0) = sl in
let SIGN (p0O, x1) = s2 in
(match eq_Prin x p0 with
| Left -> eq_Comp x0 x1
| Right -> Right)
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(*x val eq_Ciph : cipher -> cipher -> sumbool x*)

let eq_Ciph cl1 c2
let ENC (x, x0) = cl in
let ENC (s1, x1) = ¢2 in
(match eq_Skey x s1 with
| Left -> eq_Sign x0 x1
| Right -> Right)

(** val eq_CipM : cipherM -> cipherM -> sumbool **)

let eq_CipM cl1 c2 =
let ENCM (x, x0) = cl in
let ENCM (pO, x1) = c2 in
(match eq_Prin x p0 with
| Left -> eq_Skey x0 x1
| Right -> Right)

(** val eq_Msg : msg -> msg -> sumbool *x)

let eq_Msg ml m2 =
match ml with
| M1 (x, x0, x1, x2, x3) ->
(match m2 with
| M1 (p3, x4, x5, x6, x7) ->
(match eq_Prin x p3 with

| Left ->
(match eq_Prin x0 x4 with
| Left ->
(match eq_Prin x1 x5 with
| Left ->

(match eq_Para x2 x6 with
| Left -> eq_Comp x3 x7
| Right -> Right)

| Right -> Right)
| Right -> Right)
| Right -> Right)
M2 (p3, p4, c0, cl, c2) -> Right
M3 (p3, p4, c0, c1) -> Right
M4 (p3, c0) -> Right
M5 (p3, c0) -> Right)
| M2 (x, x0, x1, x2, x3) ->
(match m2 with
| M1 (pi, p2, p3, p4d, c2) -> Right
| M2 (p1, x4, x5, x6, x7) ->
(match eq_Prin x pl with

| Left ->
(match eq_Prin x0 x4 with
| Left ->
(match eq_Comp x1 x5 with
| Left ->

(match eq_Cert x2 x6 with
| Left -> eq_Ciph x3 x7
| Right -> Right)

| Right -> Right)
| Right -> Right)
| Right -> Right)
M3 (p1, p2, c¢2, ¢3) -> Right
M4 (p1, c2) -> Right
| M5 (pl, c2) -> Right)
| M3 (x, x0, x1, x2) ->
(match m2 with
| M1 (pl, p2, p3, p4, cl) -> Right
| M2 (p1l, p2, cl, c2, c3) -> Right
| M3 (p1l, x3, x4, x5) ->
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(match eq_Prin x pl with
| Left ->
(match eq_Prin x0 x3 with
| Left ->
(match eq_Cert x1 x4 with
| Left -> eq_Ciph x2 x5
| Right -> Right)
| Right -> Right)
| Right -> Right)
| M4 (p1l, c1) -> Right
| M5 (pl, c1) -> Right)
| M4 (x, x0) ->
(match m2 with
| M1 (pO, p1l, p2, p3, c0) -> Right
| M2 (p0, pl, cO, ci, c2) -> Right
| M3 (pO, pl, c0, c1l) -> Right
| M4 (pO, x1) ->
(match eq_Prin x pO with
| Left -> eq_CipM x0 x1
| Right -> Right)
| M5 (p0, c0) -> Right)
| M5 (x, x0) ->
(match m2 with
| M1 (p0, pl, p2, p3, c0) -> Right
M2 (pO, p1l, c0, cil, c2) -> Right
M3 (p0, pl, cO, cl) -> Right
M4 (p0, c0) -> Right
M5 (p0, x1) ->
(match eq_Prin x pO with
| Left -> eq_CipM x0 x1
| Right -> Right))

(** val cmesb5_sub3 : network -> principal -> principal -> certificate ->
component -> cipher -> sumbool *x)

let rec cmes5_sub3 n pl p2 ce co ci =
match n with
| Nil -> Right
| Cons (a, 1) ->
(match eq_Msg a (M2 (p1l, p2, co, ce, ci)) with
| Left -> Left
| Right -> cmesb5_sub3 1 pl p2 ce co ci)

(*x val cmes5_sub2 : msg -> principal -> certificate -> component -> sign ->
sumbool *%)

let cmes5_sub2 m p ce co si =
match m with
| M1 (x, x0, x1, x2, x3) -> Right
| M2 (x, x0, x1, x2, x3) -> Right
| M3 (x, x0, x1, x2) ->
(match eq_Cert x1 ce with
| Left ->
(match eq_Prin x0 p with
| Left ->
let ENC (x3, x4) = x2 in
let SKEY (x5, x6) = x3 in
(match eq_Sign x4 si with
| Left -> eq_Comp x5 co
| Right -> Right)
| Right -> Right)
| Right -> Right)
| M& (x, x0) -> Right
| M6 (x, x0) -> Right

(** val cmes5_subl : network -> principal -> certificate -> component -> sign
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-> sumbool *%*)

let rec cmesb5_subl 1 p ce co si =
match 1 with
| Nil -> Right
| Cons (a, 10) ->
(match cmesb5_subl 10 p ce co si with
| Left -> Left
| Right -> cmesb_sub2 a p ce co si)

(** val fun_cmesb : network -> principal -> principal -> param -> component
-> component -> sumbool *%*)

let fun_cmes5 n pl p2 pa col co2 =
match cmes5_subl n p1l (CERT (p2, pa)) col (SIGN (p2, co02)) with
| Left ->
cmes5_sub3 n pl p2 (CERT (m, pa)) col (ENC ((SKEY (co2, m)),
(SIGN (pl,col))))
| Right -> Right

(*x val cmes4_sub3 : network -> principal -> principal -> principal -> param
-> component -> sumbool *%*)

let rec cmes4_sub3 n pl p2 p3 pa co =
match n with
| Nil -> Right
| Cons (a, 1) ->
(match eq_Msg a (M1 (pi, p2, p3, pa, co)) with
| Left -> Left
| Right -> cmes4_sub3 1 pl p2 p3 pa co)

(*x val cmes4_sub2 : msg -> principal -> certificate -> component ->
component -> sign -> sumbool *x*)

let cmes4_sub2 m p ce col co2 si =
match m with
| M1 (x, x0, x1, x2, x3) -> Right
| M2 (x, x0, x1, x2, x3) ->
(match eq_Cert x2 ce with

| Left ->
(match eq_Comp x1 co2 with
| Left ->
(match eq_Prin x0 p with
| Left ->

let ENC (x4, x5) = x3 in
let SKEY (x6, x7) = x4 in
(match eq_Sign x5 si with
| Left -> eq_Comp x6 col
| Right -> Right)
| Right -> Right)
| Right -> Right)
| Right -> Right)
| M3 (x, x0, x1, x2) -> Right
| M4 (x, x0) -> Right
| M5 (x, x0) -> Right

(** val cmes4_subl : network -> principal -> certificate -> component ->
component -> sign -> sumbool *x*)

let rec cmes4_subl 1 p ce col co2 si =
match 1 with
| Nil -> Right
| Cons (a, 10) ->
(match cmes4_subl 10 p ce col co2 si with
| Left -> Left
| Right -> cmes4_sub2 a p ce col co2 si)
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(*x val fun_cmes4 : network -> principal -> principal -> param -> component
-> component -> sumbool *%*)

let fun_cmes4 n pl p2 pa col co2 =
match cmes4_subl n pl (CERT (p2, pa)) col co2 (SIGN (p2, co2)) with
| Left -> cmes4_sub3 n pl pl p2 pa col
| Right -> Right

(*x val cmes3_sub3 : network -> principal -> principal -> principal -> param
-> component -> sumbool **)

let rec cmes3_sub3 n pl p2 p3 pa co =
match n with
| Nil -> Right
| Cons (a, 1) ->
(match eq_Msg a (M1 (p1l, p2, p3, pa, co)) with
| Left -> Left
| Right -> cmes3_sub3 1 pl p2 p3 pa co)

(*x val cmes3_sub2 : msg -> principal -> certificate -> component ->
component -> sign -> sumbool *x)

let cmes3_sub2 m p ce col co2 si =
match m with
| M1 (x, x0, x1, x2, x3) -> Right
| M2 (x, x0, x1, x2, x3) ->
(match eq_Cert x2 ce with

| Left ->
(match eq_Comp x1 co2 with
| Left ->
(match eq_Prin x0 p with
| Left ->

let ENC (x4, x5) = x3 in
let SKEY (x6, x7) = x4 in
(match eq_Sign x5 si with
| Left -> eq_Comp x6 col
| Right -> Right)
| Right -> Right)
| Right -> Right)
| Right -> Right)
| M3 (x, x0, x1, x2) -> Right
| M4 (x, x0) -> Right
| M5 (x, x0) -> Right

(*x val cmes3_subl : network -> principal -> certificate -> component ->
component -> sign -> sumbool *x)

let rec cmes3_subl 1 p ce col co2 si =
match 1 with
| Nil -> Right
| Cons (a, 10) ->
(match cmes3_subl 10 p ce col co2 si with
| Left -> Left
| Right -> cmes3_sub2 a p ce col co2 si)

(** val fun_cmes3 : network -> principal -> principal -> param -> component
-> component -> sumbool *%*)

let fun_cmes3 n pl p2 pa col co2 =
match cmes3_subl n pl (CERT (p2, pa)) col co2 (SIGN (p2, co2)) with
| Left -> cmes3_sub3 n pl pl p2 pa col
| Right -> Right

(*x val cmes2_sub2 : msg -> principal -> principal -> param -> component ->
sumbool *%*)
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let cmes2_sub2 m pl p2 pa co =
match m with
| M1 (x, x0, x1, x2, x3) ->
(match eq_Comp x3 co with
| Left ->
(match eq_Para x2 pa with
| Left ->
(match eq_Prin x1 p2 with
| Left -> eq_Prin x0 pi
| Right -> Right)
| Right -> Right)
| Right -> Right)
| M2 (x, x0, x1, x2, x3) -> Right
| M3 (x, x0, x1, x2) -> Right
| M4 (x, x0) -> Right
| M5 (x, x0) -> Right

(*x val cmes2_subl : network -> principal -> principal -> param -> component
-> sumbool **)

let rec cmes2_subl 1 pl p2 pa co =
match 1 with
| Nil -> Right
| Cons (a, 10) ->
(match cmes2_subl 10 pl p2 pa co with
| Left -> Left
| Right -> cmes2_sub2 a pl p2 pa co)

(*x val fun_cmes2 : network -> principal -> principal -> param -> component
-> sumbool *x*)

let fun_cmes2 n pl p2 pa co =
cmes2_subl n pl p2 pa co

(*x val fun_nw : system -> network sigQ #*x*)

let rec fun_nw = function
| Init -> Nil
| Mesi (sO, p, pO, pl) -> Cons ((M1 (p, p, pO, pl, (COMP (pi, p)))),
(fun_nw s0))
| Mes2 (sO, p, pO, pl, c) ->
let hrecs = fun_nw sO in
(match fun_cmes2 hrecs p pO pl c with
| Left -> Cons ((M2 (pO, p, (COMP (pi, p0)), (CERT (pO, p1)), (ENC
((SKEY (c, p0)), (SIGN (pO, (COMP (pi, p0)))))))), hrecs)
| Right -> hrecs)
Mes3 (sO, p, pO, pl, c, c0) ->
let hrecs = fun_nw sO in
(match fun_cmes3 hrecs p pO0 pl ¢ cO with
| Left -> Cons ((M3 (p, pO, (CERT (p, p1)), (ENC ((SKEY (<O, p)),
(SIGN (p, ¢)))))), hrecs)
| Right -> hrecs)
Mes4 (sO, n, p, p0, ¢, c0) ->
let hrecs = fun_nw sO in
(match fun_cmes4 hrecs n p p0 ¢ cO with
| Left -> Cons ((M4 (n, (ENCM (p, (SKEY (cO, n)))))), hrecs)
| Right -> hrecs)
Mes5 (sO, n, p, p0, ¢, c0) ->
let hrecs = fun_nw sO in
(match fun_cmes5 hrecs n p p0 ¢ cO with
| Left -> Cons ((M5 (n, (ENCM (p, (SKEY (cO, n)))))), hrecs)
| Right -> hrecs)
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